5 3 MPC ENGINES DETROIT DIESEL
2.5000A FUEL LINES

..................... TYPES ...,
PART 4 4 4 4 4 4
CFG L. NUMBER ....... ... .. NAME AND DESCRIPTION ......... 4lalslalse 6lalelaly
3|{slejej2ie|{s]6l7(6]1
5 0 6 8
2.5060 . TUBE, FUEL PUMP INLET
5118783  HOSEASSY., 1/4" 1D X 14" L. . ............ 1
190367 ELBOW, 1/4" STREET 90 DEG, {12.8580) . ..., 1
193004 ELBOW, 3/8” INV. FL. TUBE 90 DEG.
(12.9480) ..ot 1
25070 - CLIP, STRAINER TO FUEL PUMP TUBE
4A 5177623  CLIP (AT WATER PUMP} (3/8" TUBE)
(ZE120) .ot e 11
4A 3224838  CLIP {AT FRONT COVER) (3/8" TUBE)
(12.8088) ... .. ... ... 212
5112241 CLAMP, TUBE ... ... .. i) 1
120687 BOLT, #10-24X1/2" {12.9028) ... ......... 1
120217 LOCKWASHER, #10 {12.9200) .. ............ 1
110633 NUT, #£10-24 {12.8120) ....... ... ......... 1
2.5100 - TUBE, FUEL PUMP TO FILTER
4A 5124890  TUBEASSY. (DEV.L.35%) ... ... .......... 1
4A 5121080  TUBE ASSY. (DEV. L. 15.88") .. .. .. ... ... 1} RERE
&A 5109486  TUBE ASSY. (DEV. L. 415/8") ... ...... ..... 1
4A 5121081 TUBE ASSY. {DEV. L. 21.28") ... ... ... ...... i1
4A 5134897  TUBE ASSY. (DEV. 1. 36.22") ............... 1
4A B127817  TUBE ASSY. (DEV. L 113/16") ... ... ... 1
442323 CONNECTOR, 3/8" INV. FL. TUBE
(V294600 .., 11111141 11y
193004 ELBOW, 3/8" INV. FL. TUBE 80 DEG.
(12.9480) ... ... veeoe i, IR BRI BETE RETE I8 BN BT AR BK T B
5138298 + ELBOW ASM. 3/8" 80 DEG SEALASTIC
(12.8425) ... 0 i 2
5179938  SEAL RING, 3/8" SEALASTIC {12.9435) ... .. .. 3

* INCLUDES SEAL N 2.5100 PLUS NUT,
NGT SOLD SEPARATELY

2.6120 . CLIP, FUEL PUMP TO FILTER TUBE
B177623 CLP3/8"TUBE) .. ...... ... ... ........ 1 Z

5160388  CLIP {3/8" TUBE) (2.8070) . ... ... ... .. .. .. 1 1
5133108  CLIP (3/8" TUREY{2.5070} ... ... .. ... ... 1
5112241 CLAMP {25070} ... .....0v o 616i2
5196118  SPACER 13/32° L.D. X 7/8" O.0.

(3.4001) . 111 1
110602 BOLT, #10-24X3/4* (12.9028} ... ... ...... 3jaf
454906 BOLY, 3/87-16X1 1/2° (12.8001) . ... ....... 111 1
120217 LOCKWASHER, #10 (12.8200}.............. 3f3]1
110633 NUT, #10-24 {12.8120} ... ... .. ... ...... af{ali

JULY, 1981 PAGE 12 OF 2.5000A

COPYRIGHT 1881 GENERAL MOTORS CORPORATION



FIG L. . NUMBER

4A

LTS
44

CDETROY

PART

25189
5128282
5129623
5120176
5126359
5124908
5125318
5126319
5104094
5103959
519957%
193004
143338
5138298
5126447
5199579
51995693
A42323

5179838

25186
2488022
5177623
103341

28210
5128016
5128283

5116440
5138263

DtESEL
2.5000A  FUEL LINES

- TUBE, FILYER OQUTLEY

* TUBE (DEV. L. 12 1/47} {CROSSOVER) ........
TUBE ASSY. {DEV. L. 1268") .. ... ...ovun..
TUBE ASSY. (DEV. L. 12.1B"} (TO HEAD} . ... ...

* TUBE ASSY. (DEV. L. 16.407} ...............
TUBE ASSY, (DEV. L. 16 7/8°) (25150} .......

* TUBE ASSY.(DEV. L, 18 3/16"} .............
TUBE ASSY. (DEV. 1. 1850" ... ...o.0.0..
TUBE (FILTER TO MANIFOLDY{RM} . . . ... ......
TUBE {FILTER TO MANIFOLD (H) ... ....... ..
HOSE, BULK #6 (CUTL. 16 ... vveven ..
ELBOW, 3/8" INV. FL. TUBE 90 DEG.

(128880} .o
ELBOW, 3/8” INV. FL. TUBE 45 DEG.
[V2.8480) ..ot i e,

@ ELBOW ASM. 3/8" SEALASTIC 90 DEG,

(VZO425) o e
ELBOW, 3/8" TUBE SEALASTIC 45 DEG.

PTZ.8825) . e
FITTING, #6 HOSE {5/8"- 18 MALE INV.

FL. STRAIGHT) (12.8552) ................
FITTING, #6 MOSE {5/8°-18 MALE INV.

FlL3 {45 DEG) (128552} ... ... ..........
CONNECTOR, 3/8* INV, FL. TUBE

P12.9480) .. ..
SEAL RING, 3/8" TUBE SEALASTIC

(12.843B) ...
* OBSOLETE; CUSTOMER TO FABRICATE

FROM BULK MATERIAL SHOWN IN

12.8550.
@ INCLUDES SEAL IN 2.5151 PLUS NUT,

NOT SOLD SEPARATELY

- CLIP, FILYER CUTLET TUBE

CLIP %6 HOSE (NEOPRENE COATED)

128854 ... .. ... .
CLIP, 3/8" TURE (25920} ... ...............
WASHER, 3/8" (12,9180} .. ... ... .. ... ....

- TUBE, FUEL DRAIN

* TUBE ASSY. (5/16°X10.12" DEV. L) {10
FLEX TUBE) ... 0.,
* TUBE (DEV. L. 26.82") (CROSSOVERY .. ... ....
ELBOW, RESTRICTED ... ...............0.
@ ELBOW ASM. 3/8" SEALASTIC 45 DEG,
V2.8425) . o

JULY, 1881 PAGE

a RN ai
414;:514:16
315161612
L] O
1
1
i
H
1
H
1121111
211 1
H
2
H
3
1
1
1
LI I O O O N A
1

i3 OF 2.5000A

COPYRIGHT 1881 GENEAAL MOTORS CORFORATION

41 14

6l14}7

71611
8
111

!
252

2

2

1§111

i

!

D ———,—



53 MPC ENGINES DETROGIT DIESEL
2.8000A  FUEL LINES

..................... TYPES .ot irivreerneinnanns
PART 4 4 4 4 4 4
FiG ... NUMBER ,........... NAME AND DESCRIPFTION ......... 4jai8iaic|laicjiajalal7
3isjeigiz 6{B8!86]7]6[1
5 o 4 8 8
2.8210 - TUBE, FUEL DRAIN
{CONTD)
5138306 @ comgzg‘roa ASM. 3/8* SEALASTIC
P129615) ..o iiennenerirennenn. 1
6179938  SEAL HING, 3/8° TUBE SEALASTIC
TL943B) . . e 1
+ OBSOLETE CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8580.
@ INCLUDES SEAL IN 2.5210 PLUS NUT,
NOT SOLD SEPARATELY
2.5218 . HOSE, FUEL DRAIN
A 5118782  TUBE ASSY, (FLEX) (25210}, ... o 0vnnnnnnns 1
5129887 @ HOSE, 1747 1.D. X 35° L (7.4078} ........... 1
5189294  FITTING {1/4” HOSE X 1/4* INV. FL.
TUBE SWIVEL) B.7100) ,..... .......... 2
89432284  CONNECTOR, 5/168” INV. FL TUBE X
14" BT (12,94600 .................... 1
122865 COUPUING, 1/4* PT.(12.8678) . .. ... ... .. 1
@ $TD. LENGTH HOSE CUT TO LENGTH
SHOWN.
2.5220 - CLP, FUEL DRAIN TUSE
$A 5177623  CLIP. /8" TUBE(2.5120) ....oovenrnnnnnns 1 '
1A 5153473  CUP, 1/2° TUBE(4.6040) . ... .. .......... 1
2.5230 - BRACKET, FUEL DRAIN TUBE CLIP
173022  SUPPORTISSITO ..o, 1
i
JAN., 1980 PAGE 14 OF 2.5000A

COPYRIGHT 1980 GENERAL MOTORS CORPORATION

e



5 3 MPC ENGINES DETROIY DIESEL
2.5000A  FUEL LINES

.................... TYPES ...
PARTY 4 4 4 4 4
CFG . NUMBER ... ... ... NAME AND DESCRIPTION ......... 7lal8lals slajolalois
: . 6i7l1i8 s{1]ai{7i0 0
7 3 6 6
2.5001 - TUBE. FUEL SUPPLY TO STRAINER
B127403 * TUBEASSY.(DEV.L 13 .. .. ... v irrenn, 1
* OBSOLETE; CUSTOMER TG FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8650.
2.5006 . VALVE, FUEL SUPPLY CHECK
5122279 VALVE 1/4" (SPRINGTYPE) ...... . ....... .. AR AR]ARIAR: AR ARI AR[ AR] AR AR] AR{ AR
25010 . TUBE. FUEL SUPPLY TO STRAINER
FLEXIBLE
4A 5126951 * TUBE ASSY. (3/8"1DX14"L) (... ... o ... 2
442338 UNION, 3/87 INV. FL, TUBE (12.9478) ........ 2
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550,
2.5050 . TUBE, STRAINER TO FUEL PUMP
4 B129375  TUBEASSY. (DEV.L.7.38%) ................ 1
4A 5121498 * TUBE ASSY. (DEV. L 12.30% ............... 1
4A §121101  TUBE ASSY. {DEV. L. 14.80") ............... 1
4A 5127401 * TUBE ASSY. {DEV. L 58.80%) ............... 1
44 5128160 * TUBE ASSY. {DEV. L. 10.827) ... .. .......... 1
$A E125766  TUBE ASSY. (DEV. L 11,167 ... ..0vvroii. 1
aA 5121149  TUBE ASSY. (DEV. L 39.76" ............ ... 1
4a 5121151 TUBE ASSY. (DEV. L. 45,965 ............. .. 1
442323 CONNECTOR, 3/8" INV. FL. TUBE
1228480 1 1
193004 ELBOW, 3/8” INV. FL. TUBE 90 DEG,
(128480} ... 0.\ 21212 2
143338 ELBOW, 3/8" INV. FL. TUBE 48 DEG,
(12.9480) .. .. . 1]
9432249  ELBOW, 3/8” INV. FL. TUBE 90 DEG.
(32.8480) ... . e 1
5138298 @ ELBOW 3/8° SEALASTIC 90 DEG.
32.8425) .. ... .. e ]
B179938  SEAL RING, 3/8° SEALASTIC (12.8438) ... ... 3
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550,
@ INCLUDES SEAL IN 2.5050 PLUS NUT,
NOT SOLD SEPARATELY
2.5060 - TUBE, FUEL PUMP INLET
5130687  HOSE #6X 223/4" L. ... ... ..., 11
442323 - CONNECTOR, 3/8” INV. FL. TUBE
(12.8480) 00 1
MARCH, 1980 PAGE 15 OF 2.5000A

COPYRIGHT 1980 GENERAL MOTORS CORPORALION

—



DETROIT DIESEL B 3 MPC ENGINES
2.5000A FUEL LINES

.................... TYPES ..,
FPARY 4 4 4 4
CFIG ... NUMBER ... .. ...... NAME AND DESCRIPTION ......... 7{4aigl4i8 slaloajalse
el7]1]8 ai1|9i7]9i9lo
3 8 8
2.5060 - TUBE, FUEL PUMP INLET
{CONT'D)
442330 CONNECTOR, 3/8° INV. Fi.. TUBE
PI2.8460) ... et 141
190367 ELBOW, 1/47.90 DEG. STREET {12.9690} . . . .. . 111
2.8070 . CLIP, STRAINER TO FUEL PUMP TuBk
aA 5177622 CLIP, 3/8" TUBE {25120} ... ..., ......... 2 212
aA 5160388  CLIP 3/8" TUBE ... .. ... ... ..., 191
2.5100 . TUBE. FUEL PUMP TO FILTER
4A 5129376 * TUBEASSY. DEV. L 11667 ............... 1
4A 5109486  TUBE ASSY. (DEV. L. 41.82" ............... 1
sA S121080  TUBE ASSY. (DEV. L 15887 ... ... .. .. .. 1
4A 5129415 * TUBE ASSY. (DEV. L. 42.12") ... .. ......... 1
4A B131519  TUBEASSY.(DEV. L 26" . ... ... 0. 0vu. .. 111
AA 5125765 TUBE ASSY. {DEV. L. 10.62% ............... 1
44 51237486 TUBE ASSY. DEV. L. BB.16%) .......... .. ... 1
4A 5129086 * TUBE ASSY. (DEV. L. 427} .. ................ 3
4A 5134899  TUBEASSY.{DEV.L. 36.80" .......... ... 1
4A 5109488  TUBE ASSY.{DEV. L. 41.62") ... ... ... ....... 1
442323 CONNECTOR, 3/8" INV. FL. TUBE
(T28460) ...\, 111 11111
4A 1983004 ELBOW, 3/87 INV. FL, TUBE 90 DEG.
(128480} ., .. 2 119 2122 11111
4A 9432249 ELHOW, 3/8"° INV. Fi. TUBE 80 D£G.
(F2.8480) ... ... ... 3
5138298 @ ELBOW ASM. 3/8* SEALASTIC 90 DEG,
(12.9428) ... ... .. . . . ... . .. 1
5179938 SEAL RING, 3/8° SEALASTIC {12,9435) . .. ... 1 2
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12,8589,
DINCLUDES SEAL IN 2.5 100 PLUS NUT,
NOT SOLD SEFARATELY
2.5110 . TUBE FUEL PUMP TO FILTER FLEXIBLE
3248643 HMOSE, 3/8" LD X 18" L {47100} ... . ..... 1
193004 ELBOW, 3/8° INV. FL. TUBE 80 DEG.
(128480} . .. 2
2.8120 - CLIP, FUEL PUMP TQ FILTER TUBE
A 5160388 CLIF, 3/8" TUBE(2.5070) . ... ............. 1 1
iA 5151883 CLIP, 378" TUBE{2.5070) . ................. 1
1A 3223197 CLIP{7.4880} ., . ... ... .. .. .. .. 1

MARCH, 1980 PAGE 16 OF 2.5000A
COPYRIGHT 1880 GENERAL MOTORS CORPORATION



% 3 M#C ENGINES DETROIT DIESEL
2.5000A  FUEL LINES

.................... TYPES ... e
PARY 4 4 4 4
CFIG .. O NUMBER L. NAME AND DESCRIPTION ......... 7i4:8:4:8 g:i4:9j4:915
617 Bi7:i89(118171919!40
7 [ 8 L)
25120 . CLIP, FUEL PUMP TO FILTER TUBE
{CONT'D}
B112241 CLAMP (28070} ... o e e 6316
5196118 SPALER, 13/32" LB X 7/8” Q.0
{34001 .. e 1
110602 SOLT, #10-24X374" (12,8025 ... ... ...... 3¢ 3
454906 gOLY, 3/8" 16X 1/2° (128000 . . ... ... .. 1
120217 LOCKWASHER, #£10 MED. {12.892000 ..., .. .. 313
110633 NUT, 3:10-24 (12.8920) .. .. .. ...... . ... .. o I
2.5151 . TUBE. FILTER OUTLET
a4 5127204 TUBE ASSY.IDEV. L. 307 . ... .. k]
4A H128008 » TUBE ASSY. (DEV.L 11247 .. . ... ...... .. 1
44 B428282 = TUBE DEV. L. 12 1/4" [CROSSOVER) .. ..., .. 1 1
A4 5129623 TUBEDEV. L12.68%) ... . ... 1 1 1
AR £128240 * TUBEDEV. L 1304 .. .. .. ... .. k
44 5127639 * TUBE ASSY. IDEV. L. 18 42" {TOHEADY ... ..., H
4A 5129377 TUBE ASSY. DEV. L. 1860725150 ... ... 1
4A 5125318 * TUBE ASSY. DEV. L. 195807 ............. .. 1
AA 5129232 » TUBE(DEV. L. 2250 ... .. .. o e 1
5137131 HOSE ASSY., #E X477 L. ... ... o H H
8138305 @ CONNECTOR
ASM.3/8"SEALASTIC{12.9418) . ..., .... .. 2 2
442323 CONNECTOR, 3787 INV, FL. TUBE
{32.8480) ... .. .. e H T 111
5138293 @ EL.BOW ASM. 3/8" SEALASTIC 4% DEG.
(12,9428} . e 3 i 1
143338 ELBOW, 3/8° INV, FL_ TUBE 45 DEG.
PI2.8480) .. .. 1 2
5138298 @ ELBOW ASM. 378" SEALASTIC 90 DEG.
{12.9428 . L. 1
193004 ELBOW, 3/87 INV. FL. TUBE 90 DEG,
{32.848B0Y e 212 2:2:2 1121 2
5138291 @ TEE 3/787 SEALASTIC (2.5100y ... ... ... .. 1
5179938 SEAL RING, 3/8° SEALASTIC {12.9438} ., ... .. 112 2 4
* OBSOLETE: CUSTOMER TO FABRRICATE
FROM BULK MATERIAL SHOWN IN
12.8580,
@ INCLUDES SEAL iN 25151 PLUS NUT,
NOT SOLD SEPARATELY
25156 - CLIP, FUEL FILTER QUTLET TUBE
5151883 CLIP, 3/B- TUBE 25070} .............. .... 1
24880622 CLIP 26 HOSE INEQPRENE COATEL)
(12.8884) .. ... .. v, 1
2.5160 - TUBE, FIL.TER TO CYLINDER HEAD
FLEXIBLE
BIZNEEB  » HOSE, S 374" L. ... H
5137431 HOSE 47" L. .. .. 1 i
190367 ELBOW, 1/4°.80 DEG. STREEY (12,3590, .. ... 1

MARCH, 1980 PAGE 17 OF 250004
COPYRIGHT 1880 GENERAL MOTORS CORPORATION

T ———— e ]



53 MPC ENGINES DETROIT DIESEL
2.5000A  FUEL LINES

..................... B £ 2 -+ 2
PART 4 4 4 4 4
CFHG L NUMBER ... NAME AND DESCRIPTION ......... 7{ainl{s B8lalnja|sja|lais
8171118719111 9 919:0
7 3 o 8 8 L+
25160 - TUBE, FILTER TO CYLINDER MEAD
FLEXIBLE (CONTD}
143338 ELBOW, 3/8” INV. Fi. TUBE 486 DEG.
(12.8480) .. ... ... ... .. ... ... . ..., 1
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
28210 - TUBE, FUEL DRAIN
4A 5128018 = TUBE ASSY. (DEV. L 10.12° ... ....... . ] 1
4A 5128283 * TUBE (DEV. L 25.92°) [CROSSOVER) . ........ 1 1
1A 5129242 * TUBE (DEV. L 25.88"} {CROSSOVER} . ........ 1
425260 CONNECTOR, 5/18% INV, EL. TURE
284600 . ... .. i, s 1]1
5138308 @ CONNECTOR 3/8" SEALASTIC (12.9418) ... ... 1 1
5118440  ELBOW, RESTRICTED ... ... ........ AU IR T EREEEREREEEERERE:
5127911 ELBOW, RESTRICTED .............. e 1
5138292 @ ELBOW 3/8" SEALASTIC 45 DEG.
T128825) .. ti i e, 1 1 1
5138298 @ ELBOW 3/8° SEALASTIC 90 DEG.
(12.9428) . i e :
5179938  SEAL RING, 3/8" SEALASTIC (12.9438) . ... . 2 2 2
5121182  PLUG, 1/4" PIPE(2.4018) . ... ...\ uvnn. , 1
* OBSCLETE:; CLUSTOMER TO FABRICATE
FROM BULX MATERIAL SHOWN IN
12.8550,
@ INCLUDES SEAL IN 2.5210 PLUS NUT,
NOT SOLD SEFARATELY
2.5215 - TUBE, FUEL DRAIN FLEXIBLE
A 5186063 HOSE 1/4" 1D X 14" L ... ............ ... 1{1]1
5138028  HOSE S/16° X 12°L ... ... ........ e 111
9432264  CONNECTOR, 5/16" INV. FL. TUBE
(1294601 ... 00, 1
425250 CONNECTOR, 5/18* INV, £L. TUBE
(1294801 .0t e 1
2.5220 - CLIP, FUEL DRAIN TUBE
A §110070  CLUP /8 TUBEIZS120) ... oo n.... 1 1
1A 5170860  CUP{1/2° TUBE {46040V .. ............... 1
5112241 CLAMP (Z507G) ... .. i, 4] 4
S186432  CLAMP (28120} ... ... . ... ... 4
120221 BOLY, #10-24X1/2" (12,8025} . ............ 212
132908 BOLT. #10-32X1/2" (12.8025) ............. 4
179839 BOLT, 3/87-18X5" {12.900%} ... ... ....... 1 1
JAN., 1980 PAGE 18 QF 2.5000A

COPYRIGHT 1980 GENERAL MOTORS CORPORATION



DETRCIT DIESEL E3 MPC
2.%000A  FUEL LINES

ENGINES

..................... TYPES .. e
PANT L 5 4 4 a4 4
FiG NUMBER ............ NAME AND DESCRIPTION ......... 71418 4.8[4:9]4:9j4:19| 6
g8i7|11i8i1ri2lrial7r7isivio
7 3 ¢ 8 a 4]
4.5220 - CLIP, FUEL DRAIN TUBE
{CONT'DY)
103341 WASHER, 3/8* {12.99190) ........ .. 0cinunan 1 1
120217 LOCKWASHER, 210 MED. {29200 ......... 212 4
103321 LOCKWASHER, 3/8* (12,9200}, ... .......... t 1
1106833 NUT, £10-24 (129120} . ........vvuninnn f2l2
120814 NUT, #1032 1128120 .. ... ... i iinnns 4
' }
JAN., 1880 PAGE 19 OF 2.5000A

COPYRIGHT 1980 GENERAL MOTORS CORPORATION

N



CFG L NUMBER

A

1A
LT

1A
1A
A
1A
A
1A

DETROtT DIESEL

FART

2.8006 .
5122279

2.5010 .

51136889 +»
190387
5113214

5114049

122865
442323

2.5020 .
8171809

2.5050 .

5121101
5179512
5114860
5121100
5124548
5124547
6127393
5121676
51G84449
444000

442323

1893004
143338
5138298 »
5179938

2.5000A  FUEL LINES

VALVE, FUEL SUPPLY CHECK
VALVE, 1/4” (SPRING TYPE}

TUBE, FUEL SUPPLY TO STRAINER
FLEXIBLE

HOSE, 3/8° LD X 34" L. (7.465%9)
ELBOW, 1/4°-80 DEG. STREEY {12.9580}
FITTING (3/8"HOSE X 1/47 £XY)
{12.6688)
FITTING {3/8° HOSE X 3/87 iNV. FL.
TUBE SWIVEL)
COUPLING, 1/47 PT {12.9875)
CONNECTOR, 3/8° INV. FL. TUBE
{12.9460)
* STD. LENGTH HOSE CUY TO LENGTH
SHOWN,

CLIP, FUEL SUPPLY TO STRAINER TUBE
CLiP, 5787 TUBE (8.153 1)

TUBE, STRAINER TO FUEL PUMP

TUBE ASSY. (DEV. L. 14807} ... ... .. ... ...,
TUBE ASSY. iDEV. L. 38.32"} .. .............
TUBE ASSY. (DEV. L. 43.087) _..............
TUBE ASSY. (DEV. L. 8.40"} ... ... ... .
TUBE ASSY. (DEV. L. 34367 ... .. .. .. .. ...
TUBE ASSY. (DEV. L. 34.367) ... ... ... ...
TUBE ASSY. (DEV. L. 45,167} ... ... .. ... .
TUBE ASSY. (DEV. L 12.807 ... ... .. . ]
TUBE ASSY. (DEV. L. 12.84"} . ... ... .....

ADAPTOR, 1/4".18 PIPE (12.9460)
CONNECTOR, 3/8" INV. £L. TUSE

P12.8460) .. ...
ELBOW, 3/8" INV. FL. TUBE 90 DEG.

(92.84B0V .o
ELBOW, 3/8" INV. FL. TUBE 45 DEG,

(12.8480% ... .ot
ELBOW ASM. 3/8" SEALASTIC 90 DEG.

12.9425) 0 e
SEAL RING, 3/8" SEALASTIC (12.9438) . ... ...
@ OBSOLETE; CUSTOMER TO FABRICATE

Fgcgagssomx MATERIAL SHOWN N

12, .

MARCH, 1880 PAGE

AR AR AR] AR] AR

20 GF  2.5000A

COPYRIGHT 1880 GENERAL MOTORS CORPORATION

AR

AR

AR

AR

AR

AR

INE S

AR




. PG ... NUMBER

4A
4A

A
4A
4A
4A
4A
4A
4A
4A
44
aA
45
LT

4A

44
4A
4A
4A

5 3

MPC

PART

ENGINES

2.5000A  FUEL LINES

2.808B0 . TUBE, STRAINER TO FUEL PUMP
{CONT'DY
* INCLUDES SEAL IN 25080 PLUS NUT,
NOT SOLD SEPARATELY
25070 . CLIP, STRAINER TO FUEL PUMP TUBE
5177623 CLIP, 3,8 TUBE{2.5120) .. .. ... ...........
5160388 CLP /8" TUBE .. ... ... .. ..
25100 - TUBE, FUEL PUMP TO FILTER
5108528 @ TUBE ASSY (DEV. L. 12.40% .. ... ... ... ...
5108448 @ TUBE ASSY. (DEV. L. 852.68"} ... ............
5108473 TUBEASSY. DEV. L 447y ... ... ... ... ...
5134859 TUBE ASSY. {(DEV. L 368.90") ............. ..
5109488 TUBE ASSY. {DEV. L. 41.682") ... ...........
5134300 TURE ASSY. (DEV. L. 36907} ............. ..
6130074 TUBE ASSY. {DEV. L 41 918"Y ... ... .. ..
5119089 @ TUBE ASSY. {DEV. L. 31507y ..., ... ......
5134803 TUBE ASSY (DEV.L.3BO"Y .. ... ... ..
5127841 TUBE ASSY. {DEV. L. 3658 ...............
5134898 TUBE ASSY (DEV. L. 36401 .......... ... ...
5121081 TUBE ASSY {DEV. L 29887 ... .. ...
442323 CONNECTOR, 3787 INV. FL. TUBE
32,4800 ... ... .. e
193604 ELBOW, 3/8” INV, FL. TUBE 30 DEG.
{12.84B0) .. .. ... o e
5138293 * ELBOW ASM. 3/8" SEALASTIC 45 DEG.
(TLBE28) L
5I3B298 * ELBOW 3/8" SEALASTIC 80 DEG.
£32.9425) ...
5179938 SEAL RING, 3/8° SEALASTIC (12.94358) .. .. ...
@ QBSCOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12 8550,
* INCLUDES SEAL IN 2.5100 PLUS NUT,
NOT SOLD SEPARATELY
2.58120 - CLIP, FUEL PUMP TC FILTER TUBE
5180388 CLIP, 3/B° TUBE (25070} ... ................
5151883 CUP, 3/8" TUBE(2.8070) ... ... ...........
51691139 CLIP, 3/8°TUBE ... ... .................
5177623 CLP, 3/8"TUBE ... ... ... ... .. ...
5112241 CLAMP (280707 ....... ... ...............
196119 SPACER, 13/32" 1.0. X 7/8" Q.D.
(3400%) .. L
110502 BOLY, #£10-24X3/47 (128028 .. ... . ... ..

MARCH, 1980 PAGE

2

OF  2.50004

COPYRIGHT 1980 GENERAL MOTORS CORPORATION

———————

CETROIT BDIESEL

TYPES . ...
5 5
5:11;5}2 2|56
G011 21412
8 9 5
2 P
1
1
1
1
4
i
i
]
1 14 1 1
1 T 1 v
1
1 111
2 132
1
1
2 2
414 6
1
21213




DETROIT DIESEL 5 3 MPC ENGINES
» 2.5000A  FUEL LINES

.................... TYPES ..o
PART 5 5 5 & 5
CFIG .. NUMBER ... ... ... .. NAME AND DESCRIPTION . ..... ... oclsiolsiolsl1]{si2]s!l2|s
110 cisl{oiol1i0}2 2
2 8 9 3
25120 - CLIP. FUEL PUMP TO FILTER TUBE
{CONT'D}
454906 BOLT, 3/8%16X1 1727 (12.9001) . .. ......... _ 1
120217 LOCKWASHER, #10 MED. {12.9200) ......... 3l 2 2121213
110633 NUT, #1024 {12.9120) ... ... ... ........ 3fz2 2121213
2.5181 . TUBE, FILTER OUTLEY
4A 5109655  TUBE ASSY.{DEV. L. B.8%") ................ _ 111
4A 5128282 * TUBE (DEV. L. 12 1/4") (CROSSOVER} ........ 1
4A 5120623  TUBEMEV. L 1288") ... ... . ... ... ... BERERE _ 111
4A 5129240 ~ TUBE(DEV.L 1304") . .. ... ........... : 1
aA 5127780  TUBE ASSY {DEV. L. 22.20% .. ............ 1
44 5129232 * TUBE(DEV L 2250} ... .. ... cveeo.... 1
5138305 © CONNECTOR
ASM.3/8" SEALASTICI12.9418) ... .. ... ... 2
442323 CONNECTOR, 3/8” INV. FL. TUBE
(12.8480) ... ... ... t{titl1i1in 1]
5138293 @ ELBOW 3/8" SEALASTIC 45 DEG.
(129425} .. ........... e 1
5138298 @ ELBOW, 3/8° TUBE SEALASTIC 90 DEG.
(12.8825) . .ot 2
193004 ELBOW, 3/8° INV. Fi.. TUBE 90 DEG.
(P2.9480) .. 2{t1iz2t2lz2]2 111
5136132  ADAPTOR. 174" RESTRICTED . .. ...... ... 1
5138291 @ TEE ASM. 3/8" SEALASTIC (2.5100} ......... 1
5179938  SEAL RING, 3/8° SEALASTIC {12.9435) . .. .. _. 2 218
* OBSOLETE CUSTOMER TO FABRICATE
EROM BULK MATERIAL SHOWN IN
12.8550.
@ INCLUDES SEAL IN 2.5151 PLUS NUT,
NOT SOLD SEPARATELY
2.85156 - CLIP, FUEL FILTER OUTLET TUBE
3291251 CLIP, 6/8° TUBE (11060} .. ..., ....... ... 1
25160 - TUBE, FILTER TO CYLINDER MEAD
FLEXIBLE
BI131658 * HOSE 93/4" L. ........ ... ... ... ... 1
5145803  HOSE ASSY. 6" X 24 ... ... ... .. .. .. ' 1
180367 ELBOW, 1/4"-80 DEG, STREET {12.95%0) .. .. .. 1
143338 ELBOW, 3/8" INV. FL. TUBE 45 DEG.
P12.9680) ... ... 1 1
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN N
12.8550.
MARCH. 1880 PAGE 22 OF 250004

COPYRIGHT 1980 GENERAL MOTORS CORPORATION



5 3 MPC ENGINES PETROIT DIESEL
2.8000A  FUEL LINES

.................... TYPES .. .
PART 5 B B 5
CHG L ONUMBER Ll NAME AND DESCRIPTION . ... . .... 0I5} 0 0 ile|{2185]2
110 gj8j0jol1i0|2]14]2
2 E: ] 3
25210 . YTUBE, FUEL DRAIN
A 5128016 * TUBE ASSY. (BEV. L. 10.12%) ... . .. .. .. 1
AA 5128282 =+ TUBE{DEV. L. 25827 (CROSSOVER ... ... ... 1
ah 5129242 * TUBE (DEV. L 2588 ) ({CROSSOVER) ....... .. 1
5138305 @ CONNECTOR ASM. 3/8" SEALASTIC
(129418} . 1
5116440 ELBOW, RESTRICYED .. .. ... ... ... ... ...... INEEEREREEEREEEEEEEEN H
5138293 @ ELBOW ASM. 3/8" SEALASTIC 45 DEG.
{$2.9428) t]t
5138298 @ ELSOW ASM. 3/8 SEALASTIC 90 DEG.
(128428 e H
5379938 SEAL RING, 3/8° SEALASTIC (12,8435} . ..., .. 2Y 2
5121182 PLUG, 1/4" BIPE{2.4018Y .. .. ... ........... 1
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
@ INCLUDES SEAL IN 2.5210 PLUIS NUT.
NOT SOLE SEPARATELY
25215 - HOSE, FUEL DRAIN
aa S186063 @ HOSE /41D X 14" L. ........... ... .... H
44 5129867 @HOSE 1/47iD X 38" L 474078 ... ... ... .. 4
9432264 CONNECTOR, 57167 INV. FL. TURE
(1284607 ... ... ... B 1
5189294 FITTING {1/4" HOSE X 1/47 NV, FL.
TUBE SWIVELY {12001 ... ... . ... . ... 2
122865 COUPLING, 1/4" PT. (128875} . ... ......... 1
@ STD. LENGTH HOSE, CUT TO LENGTH
SHOWN.
25220 - CLIP, FUEL DRAIN TUBEF
4A 5110070 CLIP, 3/8" TUBE {25120 ... .. ............. 1
44 5170860 CLIP, 172" TUBE{4.8040) .............. .... 1
LT 5153473 CLIP, 1/2" TUBE{4.6040) .. ................ 1
5185432 CLAMP {25920 .. ............ e 4
132908 BOLY, #10:32X1/27 4128028} ... ......... 4
179239 BOLY, 3/8"6X17 41290041 . ..., .. ....... 3
103341 WASHER, 3/8" (129180} .................. 1
120217 LOCKWASHER, #10 MED, (1292000 . ... .. ... 4
103321 LOCKWASHER, 3/8" (129200}, .. ... ....... H
120614 NUT, #1632 (11291200 ... ... . .. ... ... 4
JUAHY, 1981 PAGE 23 OF 2.5000A

COPYRIGHT 1881 GENERAL MOTORS CORPUORATION

]



5 3 MPC ENGINES DETRO:T BDIESEL
2.5000A FUEL LINES

..................... TYPES .. i
PART 5 5 5 5
CFIG ... NUMBER ... . NAME AND DESCRIPTION ... .. ... 2l5(3]|8|3 4|5i14:6!51]5
vi2(3[3|alalalainisials
8 5 6 o 6
2.5006 - VALVE, FUEL SUPPLY CHECK
122279  VALVE, 1/47 (SFRING TYPE) ... .. ... ... .... Ar|AR| AR] AR AR] AR| AR] ARI AR| AR| AR| AR
2.5050 - TUBE. STRAINER TO FUEL PUMP
4A 5121149  TUBE ASSY. (DEV. L. 39767 ... ... ........ 1
4A 5179513  TUBE ASSY. (DEV. L. 3932} ............... 1
4A 5109448  TUBE ASSY. FLEX. {5/18"1.D.X37 1/471)
(25148 e 3
44 5182829  TUBE ASSY (DEV. L 634 ... ... .. ...... 1
442323 CONNECTOR, 3/8" INV. FL. TUBE
(1284600 .. .. i, 111
118755 ELBOW, 3/8" FL. TUBE X /4" P.T. 80
DEG. {12.8380% ... ... e, 1 2
143338 ELBOW, 3/8° INV, EL. TUBE 45 DEG.
(T2.9480) . 0ot 1
9432267 ELBOW, 3/8" INV. FL. TUBE {12.8460) . .. ... .. 1
193004 ELBOW, 3/8" iNV. FL. TUBE 90 DEG.
PEB4801 .. 1
5138298 = ELBOW ASM. 3/8° SEALASTIC 80 DEG.
(P2B428) 1
5179938 SEAL RING, 3/8" TUBE SEALASTIC
1284351 ... i 1
* INCLUDES SEAL IN 2.5050 PLUS NUT,
NOT SOLD SERPARATELY
2.5070 - CLIP, STRAINER TO FUEL PUMP TUBE
A 5160388 CLIP, 3/8" TUBE .. ... ... .. .. .. .. ...... 1
4A 5177623 CLIP, 3/B TUBE (25120} .. ... ... .. .... 112
44 3281251 CLIP. 5/8° TUBE{$.90603 ... .. ... ... .. ... 2
4A 5112241 CLAMP, TUBE .. ... ... .. . .. iy, 4
5173022 SUPPORT, CLIP (B.5378) ... ... ... ... .. 1
110502 SCREW, # 10.24X3/4" RD. HD.
(12,8025} . ...t 2
179816 BOLY. 5/16"18X3/4 {12.8001) .. ... ... ... |
120393 WASHER, 5/167 {12.9180} .. .. ... ... ... ... 1
120217 LOCKWASHER, #10(12.8200) . . ... ... ... ... 3
103320 LOCKWASHER, B/167 {12.9200) ........ .. .. 1
110633 NUT, #10-24 (129120} ... ... ... ... ... 2
120378 NUT, B/16°-18 {12.9120) ... ... .........., 1
25104 - TUBE, FUEL PUMP TO EILTER
44 5108629 * TUBE ASSY. (DEV. L. 1240 ... ... ... .. .. 1
aA 5134897  TUBE ASSY. (DEV. L. 36.22°% .. ............. 1 11
44 5134898  TUBE ASSY. {DEV. L. 3622} ............... 1
MARCH, 1980 PAGE 24 OF 2.5000A

COPYRIGHT 1880 GENERAL MOTORS CORPORATION



BETROIT DILESEL 5 3 MPC ENGINES
2.5000A  FUEL LINES

..................... TYPES © i
o $1sl3lsl3|slalslals]s]s
,,,,,,,,,,,, NAME AND DESCRIPTION ....... .. 3
. .FIG ... NUMBER ‘ 5 218 s13lalalalslslals
8 3 8 (3] &
2.5100 - TUBE, FUEL PUMP TO FILTER
{CONTD}
44 5108204 * TUBE ASSY. (DEV. L 20207} ...... ... ..... 1
4A 5109198 * TUBE ASSY (DEV. L.BO367} ............... 1
4A B162799 * TUBE ASSY (DEV. L. 21107} ... ... . ..., 1
A42323 CONNECTOR. 3/8" INV. FL. TUBE
(1294600 .. .. .. 11114 111
193004 ELBOW, 3/8” INV. FL TUBE 30 DEG.
CIZ.8480) ... e 1] 1 1111 t
5138298 @ ELOOW ASM. 3/8” SEALASTIC 80 DEG.
P12.8425) .. e | 1 1
5104778 TEE, 1/4"X1/4°XE/8" (7.4684) .. ........ .. 1
5179938 SEAL RING, 3/8" TUBE SEALASTIC
- £12.8435) ... % i i
5121182 PLUG, 1/4" PIPE (24098} . ... ... .. ... v e... 1
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12,8550,
@ INCLUDES SEAL IN 2.5100 PLUS NUT.
NOT SOLD SEPARATELY
2.5110 - TUBE, FUEL PUMP TO FILTER FLEXIBLE
4A 5129441 * HOSE ASSY., 3/8 LD.X36 L. {25080} . .. .... .. 1
4A 5113689 @ HOSE 3/87 1D X 517 L . 0@\, 1
4A 2309922 #OSE ASSY., 5718 1D x47 &/8 L.
2B100Y L. 1
442323 CONNECTOR, 3/87 INV, FL. TUBE
$12.9480) ... 1 1
5114049 EITTING, 3/8" MOSE X 3/8 INV. FL.
TUBE SWIVEL {2.50%0) ... ... .. ......... 2 3
118755 ELBOW, 3/8° FL. TUBE X 1/4” P.T. 80
DEG. (12,9380} .. ... ... . .. i
193004 ELBOW, 3/8" INV. FL. TUBE 30 DEG.
(129480 . ... 1
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN N
12.8550
@ STD. LENGTH HOSE, CUT TO LENGTH
SHOWN.
25120 - CLIP, FUEL PUMP TO EILTER TUBE
171508 CLIP, 5/8” TUBE Q. 1881) .. .. ... ... ....... 2 4
140573 CLIP, /8" TUBE{12.8630) . ......... . ...... 1
5169118 CLIP, 378" TUBE ... .. . . . .. .. ... %
8177623 CLIP 378" TUBE . L. 111
8280076 CLIP B/BTUBE ... . . . . 4
5112241 CLAMP (2BOT0} ... 614
5159398 BRACKET, CLIP {41840} . ... ... ... ........ 1
MARCH, 1880 PAGE 2B QF 2.5000A

COPYRIGHT 1380 GENERAL MOTORS CORPORATION



5 3 MPC ENGINES DETROIT DIESEL
2.5000A FUEL LINES

.................... TYPES oo
£ART 5 5 8 5
CFIG .. NUMBER ... ... ... .. NAME AND DESCRIPTION . ........ 2|si3isl3 416} 4 5|5
712 3 4i4i4l9lBlals
5 8 6
25120 . CLIP, FUEL PUMP TO FILTER TUBE
{CONT'D}
B196119 SPACER (34001 . ..t 1
110602 BOLT, #£10-24X3/47 {12.9028) ... ... ....... 312
186630 BOLT, 1/4".20X5/8” (12.900%) .._.......... 3
179818 BOLT, 5/16%18X3/4" (12.800%) . ........... 1
454906 - BOLT, 3/8°.18X% /2" (12.8000) . ........... 1
120392 WASHER, 1/47 {12.8180) ... ... ... ...... 1
120393 WASHER, 5/16” (12.9190) .. ... ............ 1
120217 LOCKWASHER, #10 {12.8200) . ... .......... 32
163320 LOCKWASHER §/16° {12.9200} . ........... 3
110633 NUT, $£10-24 (328120 ... ... ... ... ... 3j2
120376 NUT, /16718 {12.9120) ... .. ... .. ........ 1
2.5151 . TUBE, FILTER OUTLET
5128282 * TUBE (DEV. L. 12 1/4" (CROSSOVERY .. ... ... 1 11
4A 5109204 * TUBE (DEV. L. 12.94°} {RIGHT BANK) . ... ..... 1
4A 5135116 * TUBE {DEV. L. 24.74") (LEFT BANK) ... .. ..... 1
4B 5129623  TUBE ASSY. (DEV. L. 12.68% ... ... ... . .... ' 1h1i
a8 6125319  TUBE ASSY. (DEV. L. 1850% ... ... ....... 1
4A 5109227 * TUBE ASSY. (DEV. L 21507 .. ............. 1
4A 5162797  TUBE ASSY. (DEV. L. 23507 .. ............. 1
5199575 HOSE, BULK #6 (CUT L. 167) (12.8650). . . . ... 1
5185518  TEE, 3/8" TUBE SEALASYTIC {2.5100) . ... ..... 1
5138305 @ CONNECTOR ASM. 3/8" SEALASTIC
(128818} ... ... ... ... . . ... ... 2 191
442323 CONNECTOR, 3/8° INV. FL. TUBE
(128460} ... 0o I I 11111
5199578  FITTING, #8 HOSE (STRAIGHT) (12.8552) ... .. 3
5199593  FITTING, #6 HOSE (5/8"18 MALE INV.
FLOTUBEI{BO DEGY ... ..o 1
143338 ELBOW, 3/8” INV. FL. TUBE 45 DEG.
12,8480 ... ... ... . ... 2 1 1
6138293 @ ELBOW ASM. 3/8 SEALASTIC 45 DEG.
112.9425) ... 1 1] 1
193004 ELBOW, 3/8" INV. FL. TUBE $C DEG.
P12.9480) ... 1 1111
5138298 @ ELBOW ASM. 3/8° SEALASTIC 90 DEG.
112.8425) ... .. 1
5179938  SEAL RING, 3/8" TUBE SEALASTIC
(12.8435) ... . . . . . .. . . . ... ... ... 2 4 3]z
» OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
@ INCLUDES SEAL IN 2.5151 PLUS NUT,
NOT SOLD SEPARATELY
25156 . CLIP, fUEL FILTER OUTLET TUBE
5177623  CUP(3/8" TUBE 251200 ... ... ......... 1

MARCH, 1880 PAGE 26 OF  2.5000A
COPYRIGHT 1980 GENERAL MOTORS CORPORATION



DETROIT DigESEL § 3 MPC ENGINES
2.5000A FUEL LINES

..................... TYPES ... .
PART ] 5
CFIG L. ONUMBER Ll NAME AND DESCRIPTION ... .. .. .. 2168713 3I5{4i8{4/6(56]84
7{21313;9.4]14]4 5l4l5s
8 3 6 0 6
25160 . TUBE, FILTER TO CYLINDER HEAD
FLEXIBLE
5131658 » HOSE(3/811.DXI 34"y ...l 1
5113689 @ HOSE 3/87 1D X 20" L. {7.4688 ... ... ... . i
S113689 @ HOSE, /8" 1LD. X 6 1/2" L {74688 ......... 1
190367 ELBOW, 1747 STREET 30 DEG. BR.
{12.85890) ... ... . . e 1
143338 ELBOW, 3/8" INV, FL. TUBE 45 DEG.
(12,9480 .. .. . e 3
183004 ELBOW, 3787 INV. FL. TUBE 80 DEG.
CT2BEBOY ... i 1
A42323 CONNECTOR, 3/8" INV. FL.. TUBE
(12.9460) ... .. .. e 1
£114049 FITTING, 3/8° HOSE X 3/8° INV. Fi,
TUBE SWIVEL 112000 .. ... ... ... ... 2 2
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
@ SYD. LENGYH HOSE CUY TO LENGTH
SHOWN,
25210 - TUBE, FUEL DRAIN
4A 5128283 * TUBE MDEV. L. 2582 (CROSSOVERY ... ... .. 1 1
aA 5129242 » TUBE (DEV. L. 25.88" {CROSSOVER) ....... .. 1
5116440 ELBOW,. B/16” INV. Fi. .070 RESTRICTED ... .. tps bt sl vl eyt
6138293 @ ELBOW ASM. 3/8" SEALASTIC 45 DEG.
{32.8428) ... ... e 1 1 153
5138298 @ ELBOW ASM, 3/8" SEALASTIC 90 DEG.
(32.9428) ... ... 1 1§11
143338 ELBOW, 3/8" INV. FL. TUBE 45 DEG.
(128480 ... ..., 1
5138305 @& CONNECYOR
ASM 3/B"SEALASTIC12.8415) .. .. .. ... t
5128522 EXTENSION, 3/8" iNV.FL TUBE, 27 4. .. ... .. 1
5179938 SEAL RING, 3/8° SEALASTIC (12,8438 .. ... .. 2 2 212
5121182 PLUG, 174" PIPE (24015} ... ... ... ... . 1
* OBSGLETE: CUSTOMER TO FABRICAYE
FROM BULK MATERIAL SHOWN N
12.8880,
@ INCLUDES SEAL N 25210 PLUS NUT.
NOT SOLD SEPARATELY
25215 . HOSE, FUEL DRAIN
4A 5186063 HOSE ASSY. (1/4°LDX14°Ly ... .. ... .. 1 1
4A 516290 * HOSE ASSY. (1/47°LDX22°L) ... .. ... i
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
MARCH, 1980 PAGE 27 OF 2.3000A

COPYRIGHT 1980 GENERAL, MOTORS CORPORATION

O



DETRO!T PIESEL 83 MPCL ENGINES
2.5000A FUEL LINES

..................... TYPES ...
- PARY 5 5 5 5 5
FHG O NUMBER ... L NAME AND DESCRIPTION .., ..., .. 215} 3 3|jsia4i814 &
7j2[3{3]19(4}414j9|5:41]85
] ]
2.8220 - CLIP, FUEL DRAIN TUBE
4A 5170880 CLIP, 172" TUBE 46040} . ... .. .. ... . ... 1 H
1A, 5171608 CLIP, /8" TUBE {91591} . ... . ... ....... H
4A H112241% CLAMP{BGTOY ... ... . . .. . . . 4
132908 SCREW, #10-32X5/8" RD. HD. Si.
{32.9028) ... .. 2 2
17983% BOLT, 3/8"-16X5/8” {12800 ... ... ...... 1
179838 BOLT, 3/8°-16X1" {12.800%) ... ... ... .... 1
120217 LOCKWASHER, 10 (12.8200} .. ... ... ..... 2 2
103321 LOCKWASHER, 3/8" (12,8200} .. . ........ ... 1]t
120614 NUT, #£10-32 (12,8120} ....... ... ........ 2 2
JULY, 1881 PAGE 28 OF 2.5000A

COPYRIGHT 1981 GENERAL MOTORS CORPORATION

-



§ 3 MPC ENGINES DETROIT DIESEL
2.5000A FUEL LINES

.................... TYBES ..o
PART L 5 5 & 5 5
CFIG .. NUMBER . ... ... ..., NAME AND DESCRIPTION ......... 6 gisl7isl7i8]7]|8]8
18661017186 71818:1
- 4 8 Q
2.500% - TUBE, FUEL SUPPLY TO STRAINER
190367 ELBOW, 1/47-90 DEG. STREET {12.8830). ... . 1
2.5006 - VALVE, FUEL SUPPLY CHECK
5122279  VALVE /4" (SPRINGTYPE} .. ... .......... ARr] ARl ARE AR AR} AR] ARE AR| ARI AR AR
25010 - TUBE, FUEL SUPPLY TO STRAINER
FLEXIBLE
4A 5186063 * HOSE ASSY. {1/47 1D X 14" L} ... .ooue .. 1
8432264  CONNECTOR, 5/18" INV. FL. TUBE X
124" PT (12,8480 oot e, 1
* STD. LENGTH HOSE, CUT TO LENGTH
SHOWN.
25050 . TUBE, STRAINER TO FUEL PUMP
aA 5179513  TUBEASSY.(DEV. L. 38327 ... ........... 1
an 5109448  TUBE ASSY. FLEX. (8/18"LD.X37 1/47L)
(2B189Y 1
44 138772  TUBE ASSY. (DEV.L 39327 ... ovvu.. 1
44 5108440 @ TUBE ASSY. {DEV. L. 12.843(SD-29} ... ...... 3
aA 5130947 @ TUBE ASSY. (DEV. L 890" ... ... .......... 1
4A 5121161 TUSE ASSY. {DEV. L. 45,167 ... ........... 1
442323 CONNECTOR, 3/8" INV. Fi.. TUBE
(Y2.8480) ... o 1 119
442330 CONNECTOR, 3/8" INV. FL. TUBE X 1/4
BT 1284600 ... oo 1
118755 ELBOW. 3/8" FL. TUBE X 1/4" PY. 80
DEG. (12,9300 .. ...\ 1 2
143238 ELBOW, 3/8” INV. FL. TUBE 45 DEG.
P12.8480) ... . 1 1 1
193004 ELAOW, 3/8" INV. FL. TUBE 90 D£G.
(R2.8480) 151
5138298 * ELBOW ASM. 3/8° SEALASTIC 80 DEG.
129425 .. 1
5179938 SEAL RING, 3/8" TUBE SEALASTIC
129435} ... . . 1
@ DBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
* INCLUDES SEAL IN 2.5050 PLUS NUT,
NOT SOLD SEPARATELY
2.5060 . TUBE, FUEL PUMP INLET
115149 CONNECTOR, 3/8" INV. FL, TUBE
(12.8480) . ...t :
MARCH, 1880 PAGE 29 OF 2.5000A

COPYRIGHT 1880 GENERAL MOTORS CORPORATION



PETROI!IYT DIESEL 53 MPC ENGINES
2.B000A  FUEL LINES

..................... TYPES oo
PARY 5 5 5 5 -]
CFIG .. NUMBER ... ....... NAME AND DESCRIPTION ......... s!s5|e{s{7|5|7i6|7]8|8
1]lelelejol7|s]l7i9i8]1
5 4 8 o
2.5070 . CLIP, STRAINER TO FUEL PUMP TUBE
4A 5160388  CUP, 3/8° TUBE . ...........00covnrreon.. 1
4A 5177623  CLIP, 3/8” TUBE(25120} .. ................ 1 1 1
4A 3291261 CLIP, B/8" TUBE{1.1080) ... ... ......... 2
aA 5112241 CLAMP . .ttt e 8
6173022  SUPPORT, CLP (BB379) ... ............ ... 1
132119 SCREW, # 10-32X5/8" Fil. MD,
112.8010) . -\ e 3
179816 BOLY 5/16".18X3/47 (12.9001) . ... .. .. .... 1
120393 WASHER, /18" (129180} .. .. ............ 1
120217 LOCKWASHER, #10 {12.9200)......... e 3
103320 LOCKWASHER, /167 (12.8200) _........... 1
120614 NUT, 21032 (12.8120% ... ..., 3
120376 NUT, /16738 (12.9120) .. .o, 1
2.5100 . TUBE FUEL PUMP TO FILTER
4A 51085829 * TUBE ASSY. (DEV. L. 12.40") ............... 1
4A 5130074  TUBE ASSY.(DEV. L. 41.18" ... ... .. ....... 1
aA 5130246  TUBE ASSY. (DEV. L. 37.727) ............... 1
4A 5134900  TUBF ASSY. (DEV. L. 36.22") .. ............. 3
4A 5130608  TUBE ASSY.(DEV. L 18.38") ............... 1
44 5131138 * TUBE ASSY.(DEV. L. 13607 ............... 1
44 5109486  TUBE ASSY. (DEV. L. 41.82") ... ... ......... 1
4A 5130158 * TUBE ASSY. (DEV. L. 38.80") ............... 1
44 5109487  TUBE ASSY. (DEV. L. 41627} . .............. : 1
442323 CONNECTOR, 3/8” INV. FL. TUBE
(12.9460) ... oo 141 112 SERE 1
442330 CONNECTOR, 3/87 INV. FL. TUBE X 1/4~
BT I12.8460 . ...t 1
193004 ELBOW, 3/8” INV. FL. TUBE 90 DEG.
: 2.9480) .. ... : 1 (IR BT 1
5138298 @ ELBOW ASM. 3/8° SEALASTIC 90 DEG.
(T28425) . 1
179838  SEAL RING, 3/8° TUBE SEALASTIC
(12,9435 ... . e 1
* (OBSOLETE; CUSTOMER TO FABRICATE
EROM BULK MATERIAL SHOWN IN
12.8550.
@ INCLUDES SEAL IN 2.5100 PLUS NUT,
NOT SOLD SEPARATELY
2.5110 - TUBE, FUEL PUMP TO FILTER FLEXIBLE
4A 2309921 HOSE ASSY, (5/16"1.D.X44 1/2° 1}
(251008 .. 0 1
118755 ELHOW. 3/8" FL. TUBE X 1/4" P.T. 90
DEG, (128390} . .. ..o\ 1
MARCH, 1880 PAGE 30 OF 2.5000A

COPRYRIGHT 1980 GENERAL MOTORS CORPORATION



5 3 MPC ENGINES DETROI'T DIESEL
2.5Q000A FUEL LINES
..................... TYPES . . e
PARY 5 5 5 ] L4
CFHG L. RUMBER .. L NAME AND DESCRIPTION ......... 86:;516 71817517 8
116 6017|8718 1
5 4 8 -
2.5120 . CLIP, FUEL PUMP TO FILTER TUBE
5177623 CLIP, B/8"TUBE ... ... . 1)1
3290076 ClP, B/8” TUBE ... ... .. .. i
51680388 CLUP, 3/8 TUBE {28070} ......... ..o 1 1
5110070 CLIP, 3/B"TUBE ... . . .. e i
B151883 CLIP, 3/ TUBE{Z25070 ... ... 1
5112241 CLAMP{(2BO70Y . .. .. . e -] 6
5159347 SPACER(7OBBTY ... .. o 1
5196119 SPACER (34001 .. ... ... ... ..o TE i
110502 BOLT, #10-24X3/4" {12.8028) . ............ 3 3
186€12 BOLY, 3/8°-16X1 3/8 (128008 ... .. ....... H
179846 BOLYT, 3/8"-186X1 7/8" (128000 .. ... ... 1
181374 BOLY, 3/8°.24XY /2" (128001} ... .. ..... .. 1
103341 WASHER, 3/8" (1281480} ... .. ... ... L. i
120217 LOCKWASHER, 10 {128200) . ... .......... 3 3
103321 LOCKWASHER, 3/8" (12,9200} ... ... ... .. .. 1
110633 NUT, #1024 {12820} . ... ... o 3 3
117049 NUT, 3/87.24 12,8120 ... . %
25151 - TUBE FILTER QUTLET
5128282 * TUBE(DEV. L. 12 /4" {CROSSQVER} . ... ... 1 1
4A 5130927 *TUBEASSY. {OEV. L 9127 ... ... ot 1
44 SIXB008 * TUBFASSY {DEV. L ¥1.247) ... ... ....... 1
48 5129623 TUBE ASSY (DEV. L 12687 .. ... . ... ... 1 1
4A 5126360 -+ TUBE ASSY (DEV. L 18407 ...... .. ... ... i
4A 5128318 > TUBE ASSY. (DEV. L. 18507 ... ... ... ... 1
AA 58130607 TUBE ASSY {DEV. L. 28847} ... ... .. .. .. 3
5138308 @ CONNECYOR ASM. 3/8" SEALASTIC
(12.9418) . .. . L e K 1
442323 CONNECTOR, 3/8" INV, FL. TUBE
{12.8480) . .. ... . e 1 1 tr il
143338 ELBOW, 3/8" INV, FL. TUBE 45 DEG.
(328480 ... 2z 2
5138293 @ ELBOW ASM. 3/87 SEALASTIC 45 DEG.
(18425} e s 1 1
193004 ELBOW, 3/87 INV. FL. TUBE 80 DEG,
12.8480y ... . L 1 1 21112
5179938 SEAL RING, 3/8" TUBE SEALASTIC
(128438} ... .. 2 2
* OBSOLEYE, CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
@ INCLUDES SEAL IN 2.5181 PLUS NUT,
NOT SOLD SEPARATELY
+ NOT SERVICED, USE 5199575 BULK
HOSE PLUS {1} 5199879 AND (1}
51995883 FITTINGS AND CUY TO ST,
25188 - CLIP, FUEL FILTER CUTLET TUBE
5171508 CLP 5/8" TUBE(D.1B9Y) . ......... ... ..... {
E158973 CLIP. 3/78" TUBE (48040 ... ... ......... . ... 1
2488022 CLIP, #8 HOSE (NEQOPRENE COATED)
PABEBAY L 1
MARCH, 1980 PAGE 31 QF  2B000A

COPYRIGHT 18380 GENERAL MOTORS CORPORATION

e ————— e



& 3 M P ENGINES DETROIT DIESEL
2.5000A  FUEL LINES

.................... TYPES .o vtereeeee
PART 5 B 5 5
LG . NUMBER ... ... .. ... NAME AND DESCRIFTION ... ...... 6|58 7is8l7]sl7]6i8
116|668 7isl7]e]8]1
5 4 8
25156 . CLIP, FUEL FILTER OUTLET TUBE
{CONT'D)
5188969  BRACKET (41540} .. ... ... ..\ oeeeennin.. 1
123435 BOLY, 1/4"-28X6/8" {12.8001) .. ... ........ 1
179835 BOLT, 3/8"-16X5/8" {12.900% .. ........... 1
120380 LOCKWASHER, 1/4” {12.9200) . .. ........... 1
103321 LOCKWASHER, 3/8" (12.8200) . .. ........... 1
121902 NUT, 17428 {(12.8120) ... ..coovnn .. 1
2.5160 . TUBE, FILTER TO CYLINDER HEAD
FLEXIBLE
5131558  * HOSE{3/8"1DXO3/4°L) .. ... 1
B162B39  HOSE ASSY. (5/16"1LD.X30 /2°L) . ......... 1
190367 ELBOW, /4" STREET 80 DEG. BR.
(12.95980) ...t 1 1
143338 ELBOW, 3/8° INV. FL. TUBE 45 DEG.
(12.9480) ...\ 1
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12,8550
2.5210 . TUBE. FUEL DRAIN
4A 5128283 * TUBE (DEV. L 25.82°) {CROSSOVER} ... ...... 1 1
51316440  ELBOW, RESTRICTED .. ................... 111 SEEEEREERE
5138293 @ ELBOW ASM. 3/8" SEALASTIC 45 DEG.
(12,9425} .. 0o 1 1
5138298 @ ELBOW ASM. 3/8" SEALASTIC 90 DEG.
(12.9425) . .. .. 1 1
5130679  CONNECTOR, RESTRICTED ................. 1
179938  SEAL RING, 3/8" SEALASTIC {12.8435} . ., .. 2 2
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
2.8550.
@ INCLUDES SEAL IN 2.5210 PLUS NUT,
NOT SOLD SEPARATELY
25215 . HOSE, FUEL DRAIN
tA B1B6063  HOSE ASSY, (1/4"1DX147LY ... ... .. ... 1 1
1A 5129867 @ HOSE (1/4"L.0.X30"L3(5.7100} ............. 1
1A 5130812  HOSE ASSY. {5/16"1D.X50 11/16°L) ..... ... 1
9432264  CONNECTOR, 5/16" INV. FL. TUBE X _
174" PT. (129460} ... . ... . ... ... ..... 1
118750 CONNECTOR, 3/8" HOSE X 1/4" P.T.
(32.8460) .. ... ... ... 1
116332 BUSHING, 3/8"X1/4" PIPE RED
(288700 ... 1
JULY, 1981 PAGE 32 OF 2.5000A

COPYRIGHT 1881 GENERAL MODTORS CORPORATION



CETROIT DIESEL 5 3 MPC ENGINES
2.5000A  FUEL LINES

.................... TYPES ..ot
PART 5 5 5 5 5
CFG L NUMBER L ... NAME AND DESCRIPTION .. ....... glsise 716]7i8i7isi8
118 6iolrisirisisi
-] 4 B8 [+
25215 - HOSE, FUEL DRAIN
{CONT'D)
5189294  FITTING {1/27-20 INV. MALE HOSE)
BI100) o e e e 1
5189292  FITTING {1/2"-20 FEMALE SWIVEL HOSE)
BFI00E e . 1
@ STD. LENGTH HOSE, CUT TO LENGTH
SHOWN,
25220 - CLIP, FUEL DRAIN TUBE
4A 5170880  CLIP, 1/2 TUBE (86040} .. .. .............. 1 5
5171509 CUP, 5/8" TUBE (94591 ... ... ... ot es s 4
186618 BOLT, 3/8°-16X5/8” {12,001 ... . ........ 2
180120 BOLT, 3/8°.16X3/4° {($2.8001) ............. 1
103320 LOCKWASHER, 5/716" {12.8200) ............ 2
103321 LOCKWASHER, 3/87 {12.9200). . ............ i 1
120376 NUT, 671618 (12.8120} .. .. .............. 1
JULY, 1981 PAGE 33 OF 25000A

COPYRIGHT 7981 GENERAL MOTORS CORPORATION

-—-——



o

DETROIT DHE S EL 5 3 MPBL ENGINES
2.5000A  FUEL LINES

D

..................... TYPES . ...
PART 5 6 6
CFIG . NUMBER ... NAME AND DESCRIPTION ......... g . s5/8|5i0 1lsl1i{s8i1]8e
2 81819 Ol11113]3{8] 2
5 6 2 4 o
2.5080 - TUBE, STRAINER TG FUEL PUMP
1A 5121101 TUBE ASSY. (DEV. L 14807 ... . ... ..., 1
4A 51291148  TUBE ASSY (DEV. L 3978 ... . .......... 1
$A £130461 * TUBE ASSY.DEV.L 44507 ... .. ........ 1
1A 5130691 HOSE ASSY. (5/16°.D.X21°L3 (251488 ., ... .. 1
1A G1392Z89 * MHOSE ASSY. (3/8"LDX35 5/16"L) ... ....... 1
143338 ELBOW, 3/8" INV. FL. TUBE 45 DEG.
DV2.9480) ..ot 1 1
193004 ELBOW, 3/8- INV. £L. TUBE 90 DEG.
(12.9480) . oot e 3 2
442323 CONNECTOR, 3/8” INV, Fl.. TUBE
(129460} .. . .o 1 1 1
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
2.5070 - CLIP, STRAINER TO FUEL PUMP TUBE
5161883 CLIn. 3/8" TUBE ... ... ... 1
51776823  CilP, 3/8" TUBE (25120} ... ... ... 1 1
5153473 CLIP, 1/2° TUBE{4.8040) ......_..... ...... 1
B151108 CLIP, 1/2" TUBE{12.40958} . .. . ............. 1
2.5100 - TUBE, FUEL PUMP TO FILTER
5131157 * TUBE ASSY. (DEV. L 14587 ... ... ... . .... 3
5121080  TUBE ASSY. (DEV. L. 15.88" .. ... ... ....... 1
51348957 TUBE ASSY. (DEV. L. 36227} ............... 3]t
5130158 * TUBE ASSY.{DEV. L. 3880°) ... ............ 1
5109487 TUBE ASSY. (DEV. L. 41.627 .. ... .. ... .... 1
5130860 * TUBE ASSY. (DEV. L 49.247 ..., . ..., 1
442323 CONNECTOR, 3787 INV. FL. TUBE _
1294807 .0 o 1§t 1 111
193004 SLBOW. 3/8° INV. FL. TUBE 90 DEG.
(1284801 ..o 1111 1 1]
5138298 © ELAOW ASM. 3/8* SEALASTIC 90 DEG.
(12.9425) ... 3
5179938 SEAL RING, 3/8" TUBE SEALASTIC
: PT2943B) . 1
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
B INCLUDES SEAL IN 2.5100 PLUS NUT,
NOT SOLD SEFARATELY
2.5110 - TUBE, FUEL PUMP TO FILTER FLEXIBLE
5109738 MOSE ASSY. {8/18° LD.XB0 ¥/2°L} ..., . ..., 1
5130688 HOSE ASSY. {5/16"LD.X17 1/47L.)
(25215} ..ot 1
MARCH, 1980 PAGE 34 OF 2.5000A

COPYRIGHT 1980 GENERAL MOTORS CORPORATION



5 3

MPC

PART

CBEG L NUMBER

4A
4A
4A
4h
4A

ENGINES
2.85000A  FUEL LINES

25110 - TUBE, FUEL PUMP TO FILTER FLEXIBLE

£131840
5130691
118788

193004

2.5120 .

5112241
3224539
5171509
5100364
5153473
B177623
110802

132908

179839
192883
5162148
120217
103321
110633
120814

(CONTD) :

HOSE ASSY. {5/167LD X256 17470}
HOSE ASSY. {5/16710.X217L3 (2.5148)
ELBOW, 3/8" FLL. TUBE X 1/4" P.T. 80
DEG. {12.9390)
ELBOW, 3/8° INV, FL. TUBE 90 DEG.
{12.9480}

CLIP, FUEL PUMP TO FILTER TUBE

CLAMP (2.5070)
CLIP, 378" TUBE {12.4085)
CLIP, B/8" TUBE {8.1591)
CLIP. /8" TURE i2.5070)
CLIP, 1/2" TUBE (4.8040)
CLiP, 3/8° TUBE
SCREW, #10.24X3/4" RD. HD, BLTD,

{12.8028)
SCREW, #10-32X1/2" 8D. HD. 5LTD.

{12.90285)
BOLT, 3/8°16X1" (128001 . ... ... ...
BOLY, 3/87-16X5 1/4" {12.8001}
WASHER, 3/8” SEAL {24050y ..............
LOCKWASHER, #10{12.9200)..............
LOCKWASHER, 3/8° {12.9200).......... ...,
NUT, £10.24 {12.8120)
NUY, #10.32 (12,8120}

2.5185% - TUBE, FILTER OUYTLETY

5129623
5109227
51263860
8129240
5129232
51328282
143338

5125447
193004
A42323
5179938

TUBE ASSY. (DEV. . 12.68%)
* TUBE ASSY. (DEV. L. 21.507
+ TUBE ASSY. (DEV, L. 16.40%)
* TUBE {DEV. L. 13.047)
* TUBE{DEV. L 25307 ..o . it
» TUBE {DEV. L. 12 1/47) {CROSSOVER
ELBOW, 3/8° INV. Fi. TUBE 45 DEG.
(12.948B0) .. ..o oot
SLBOW, 3/8" TUBE SEALASTIC 46 DEG,
CI28425) . e i
ELBOW, 3/8° INV. FL. TUBE 90 DEG.
(12.9480F . .0 e
CONNECTOR, 3/8" INV, FL, TUSE
(1294608 ... ... ... ..c0vir... N
CONNECTOR, 3/8" TUBE SEALASTIC
{12.9415)

MARCH. 1380 PAGE

5 ] )
B[&51Bi8i0
2|88 9
5 6
2
4 6
2
1
1
2
3
1
2 3
%
2
3
1
H
1
i
1
1
i
2

35 OF 2.8000A

COPYRIGHT 1880 GENERAL MOTORS CORPORATION

DETROIT DIESEL

L TYRES L e
6 ]
11811161186
ol 1}1 11852

2 4 O
1
K
2 2 2
&
1 1
2
3
1
1
3
3
H 1
1
H 1 L
1 1 L
1 112
1 H
1 1 1

—



DETROCI!IT BHESEL 5 3 MPLC ENGINES
2.5000A FUEL LINES

..................... TYPES .o
PART 5 5 6 6 6 6
CFIG .. NUMBER L. L. NAME AND DESCRIPTION ... ..., gsisielsjojsejtiejt]{6]1]s6
2ia|sloajoiojs]1|3]{1}8]2
6 2 2 4 0
25151 . TUBE, FILTER OUTLET
(CONT'D)
5185519  TEE {3/8" SEALASTIO)N (25100} . ....... ..., 1
5179938  SEAL RING, 3/8" TUBE SEALASTIC
(12.8435) 4 2 2 2
5179937  NUT, 3/8" TUBE SEALASTIC (12,9445} ... ... 4 2 2 2
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550,
+ NOT SERVICED, USE 5199575 BULK
HOSE PLUS (1) 5198578 AND {1)
5199593 FITTINGS AND CUT TO SUIT.
2.5156 - CLIP, FUEL FILTER QUTLET TUBE
$177623  CLIP, 3/8" TUBE(25120) .. ................ 1
140582 CLIP, 1/2" TUBE (12,8630} ... ..... ...... 1
3223197 CUP{TABB0}. ... ..., 2
5171609  CUP 5/8° TUBE (91599} .. ... . ........... 1
140573 CLiP, 5/8" TUBE{12.9630} . .. .. ... ... .... 1
103341 WASHER, 3/8” (1291804 ... ............. AR AR
2.5180 - TUBE, FILTER TO CYLINDER HEAD
FLEXIBLE
B131311  * HOSE ASSY. (B/167LD.X21 5/16°L)
(258B1) 1
5130691 HOSE ASSY. (5/16"1.D.X21"L) {25149 . .. .. 1
£125801 HOSE ASSY. (5/16°LD.X37 1/47L}
(25148) .. ......... e 1
5131376 * HOSE ASSY. (5/1671.0.X10 3/47L} :
{CROSSOVER) (2.515%) . ... ... ....... 1
$131558 * HOSE ASSY (5/16°1.D.X8 374°Ly . ... ... .. 1 1
131517  MOSE ASSY. (5/16°1.D.X18 8/16°L) ......... 1
190367 ELBOW, 1/4" STREET S0 DEG. BR,
(VZ.8B90F .. ... . BN 1
143338 ELBOW, 3/8".45 DEG. INV. FL. TUBE
(1284800 .. ... ... ... 11 1 1
193004 ELBOW, 3/87.90 DEG, INV. FL. TUBE
(12.8480) .. ... 3
444000 ADAPTOR, 1747 PIPE (12.9460) .. .. ... ... ... 1
442323 CONNECTOR, 3/B° INV. FL. TUBE
(2.9480) .. .. . .. . 1 1
* OBSOLETE: CLUSTOMER TO FABRICATE ’
FROM BULK MATERIAL SHOWN IN
12.8550.
2.5210 - TUBE. FUEL DRAIN
A 5129242 * TUBE {DEV. L. 25.88"} {CROSSOVER) ... . ..... 11
A 5128283 * TUBE [DEV. L. 25.827) (CROSSOVERY ... ... .. 1 1 1
A 5128016 * TUBE ASSY. (DEV. L. 10.12°) . .............. 11
MARCH, 1980 PAGE a8 OF  2.5000A

COPYRIGHT 1980 GENERAL MOTORS CORPORATION



g 3 MPC ENGINES BETBOIT DIESEL
2.5000A FUEL LINES

.................... TYPES ..o
PART 5 5 6 6 8 6
LG . NUMBER L. NAME AND DESCRIPTION .. .. ... .. sisislslo 1i6i1i6{1}6
2i8is8i9,0{0{1]1i31118}2
6 2 4 0
25210 . TUBE, FUEL DRAIN {CONTD)
5116440  ELBOW, 5/16" RESTRICTED .. ... ... ...... (IR SETE SE T NIRRT ANTR TN BEUR BETE BRI AR
5125447 ELBOW, 3/8" TUBE SEALASTIC 45 DEG,
(28825} .. .. . . 111 1 1 1
5179969  ELBOW, 3/8" TUBE SEALASTIC 80 DEG.
F12.94258) ... o 111 1 1 1
5179938  SEAL RING, 3/8" TUBE SEALASTIC
(129838 .. . 2|2 2 2 2
B121182  PLUG, /4" PIPE (24018} ... ... ..o, 1
5179937  NUT, 3/B" TUBE SEALASTIC {(12.9448) ... ... 2§2 2 2 2
* OBSOLETE: CUSTOMER TO FABRICATE
FAOM BULK MATERIAL SHOWN IN
12.8550.
25215 . HOSE FUEL DRAIN
4A 5129867 .+ HOSE (1/4"1DX30°LI(B.7100} ... ......... 1
aA 5131375  HOSE ASSY. (B/1671.D.X27 1/2°L}
{CROSSOVER} (25210) . ..o 1
4A 5186062  HOSE ASSY. {1/47LD.X14"L) .. ... 0o, 1 1
aA 5124392  HOSE ASSY. (5/16"1.D.X15"L) {2.5010} . ... ... 1
4A 5131845 * MOSE ASSY. {(B/16°XT8°LY. ... ..vonrnnon. 1
5189204  EITTING {1/4" HOSE X 1/4" INV. FL,
TUBE SWIVELI{B.7100) . 0. v, 1
5113322  FITTING {1/4” MOSE SWIVEL} {2.5245) ... .... 1
143338 ELBOW, 3/8" INV. FL. TUBE 45 DEG,
(12.8480) ... . 1
193004 ELBOW, 3/8" INV. FL. TUBE 80 DEG.
(42.848B0) ... 1
116332 BUSHING, 3/8"X1/4" RED. (12,0870} ... ... .. 1
5114551 TAG, CABLE {7.4548) ... ... ....coovooro. 2
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
4 STD. LENGTH HOSE, CUT TO LENGTH
SHOWN,
25220 - CLIP, FUEL DRAIN TUBE
aA 5190070  CLIP, 3/8" TUBE {25120} ... .............. 111
4A 5151883  CLIP, 3/8" TUBE{25070) .................. 1 1
an B170860  CLIP, 1/2° TUBE{4.6040) . ... ............. 1 1
4A 140582 CLIP, 1/2" TUBE{12.8630} ............... .. 21
4A 8163473 CUP, 1/2° TUBE (46040} . .. .. ... ......... 4
8176400  BRACKET, CLYP {4.8010) ............ ... .... 1
5159393  BRACKET, CLIP{4.1B78) .. ... .............. 1
186618 BOLT, 5/16°-18X5/8" {12.8001) ............ 3
179835 BOLY, 3/8716X5/8” (12.9001) ............. 14 1
179838 BOLT, 3/87-16X7/8" {12.8001) ... .......... 1
179839 BOLT, 3/8"-16X1" (12.9001} .. .... ... ...... 111 1
JULY, 1989 PAGE 37 OF 2.5000A

COPYRIGHT 1981 GENERAL MOTORS CORPORATION

-'-—



DETROI!IT DIESEL 53 MPL ENGINES
2.5000A  FUEL LINES

..................... TYPES i
PART 5 4 & 8 -
LG L ONUMBER ... L. NAME AND DESCRIPTION ......... 8 8|6i0;8i1j68}11]|6i1]86
2)]8 9 0j1)13:3;1;8a]2
4 2 A 4]
2.B220 - CLIP, FUEL DRAIN TUBE
{CONT'D}
1068284 BOLT, 3/87.24X5/8" (128004 ............. 1
103341 WASHER, 3/8" {12.8190) .................. 111 1
103320 LOCKWASHER, 5/18° {(12.8200) ............ 3
103321 LOCKWASHER. 3/8° (12.8200).............. AR} AR] AR AR AR AR
120378 NUT, 5/10718{12.8120) .................. 1
117048 NUT, 3/8°-24 32.9920) ................ ... 1
JAN., 1880 PAGE 38 OF 2.5000A

COPYRIGHT 1980 GENERAL MOTORS CORPORATION



..F

4A
4A
4A
aA
AA
44

4A

ah

P
4A
4a

4
4A
44
44

DETRO!IT DIESEL

PART
G ... NUMBER

2.8000A FUEL LINES

2. 5050 - TUBE, STRAINER TO FUEL PUMP

5121078
5121100
B1329€7
5121078
5121101
5179513
5131516
§124392
1187588

183004
442323

2.8070
5177623

2.5100

5132968
5109840
5121680
5121081
5134897
5134888
51098488
5308489
5109488
442323

193004

25110

5124392
5131807
190367
118758

)

*

TUBE ASSY. (DEV. L. 7.46"7)
TUBE ASSY. {DEV. L. 9.407}
TUBE ASSY. (DEV. L. 11.64")
TUBE ASSY. (DEV. 1. 12.50"
TUBE ASSY. [DEV. L. 14.807}
TUBE ASSY. (DEV. L. 38.32" ... .00l
HOSE ASSY. {3/8°X20 /4" 1) ........... ..
HOSE ASSY. {8/16°LD.X157L) {2.50104
ELBOW, 3/8" Fi TUBE SO DEG.

UR2.9390F 00t er oo
ELBOW, 3/8" INV. FL. TUBE 90 DEG.

(294805 . ... ...
CONNECTOR, 3/8° INV, Fi.. TUBE

PY2.8480) ...
* QRSOLETE: CUSTOMER 10 FABRICATE

FROM BULK MATERIAL SHOWN IN

12.8550.

CLIP, STRAINER TO FUEL PUMP TUBE
CLIP, 378" TUBE (25120}

TUBE. FUEL PUMP TO FILTER

TUBE ASSY. {DEV. L. 10107 ... .. ..... ...
TUBE ASSY. (DEV. L. 1450 .. ...........,
TUBE ASSY. (DEV. L. 1688 ... .........
TUBE ASSY. (DEV. L. 21.28"1 .. ... ...... ..
TUBE ASSY. (DEV. L 36.22") . ..............
TUBE ASSY. (DEV. 1. 36.22°) ...............
TUBE ASSY. IDEV. L. 41627 . ..., . .........
TUBE ASSY. {DEV. L. 41.82°) .. ... ..........
TUBE ASSY {DEV. L 41627 ............. ..

CONNECTOR, 3/8" INV, FL. TUBE
(42.8480) ...
ELBOW, 3/8" INV. FL. TUBE 90 DEG.
(12.8480) ... ... ...
* OBSOLETE: CUSTOMER TO FABRICATE
FAOM BULK MATERIAL SHOWN IN
12.8550.

TUBE, FUEL PUMP TO FILTER FLEXIBLE

HOSE ASSY. 6/16 1D X185 L. (2.5010)
HOSE ASSY., 3/8°15 174" L. ... .........
ELBOW, 1/4 STREET 0 DEG. {12.9550)
ELBOW, 3/8" FL. TUBE X 1/4” P.T. 80
DEG. {12.8380)

MARCH, 1880 PAGE

5 3
ey AR PR
2l1¢j2]68ta4186
tj2a;81319:8
27 71 11
1
1
1
1
1
21112
#1271 11
2 1
1
1
1
1
"
1
tlvy 311}
LI S I 2 R O

38 OF  2.85000A

COPYRIGHT 1980 GENERAL MOTORS CORPORATION

C ENGINES
8 ...... 6
6iI6]6!6
0:6]9}7
A c
1]
3
3
212 1
2
B
i
1
LR I
11111
1
H
1

—




5 3 M e ENGINES DETROI!IT DIESEH;
2.5000A FUEL LINES

..................... TYPES .ot
PART 6 & 6 & 8
CFIG . NUMBER .. ... ... ... NAME AND DESCRIFTION ... ...... 2|le6|216la]l6|8|l6l6l6l6
1i2ia8i3jeis5|eis]0l8 7
2 7 1 8 a o
2.5110 - TUBE, FUEL PUMP TO FILTER FLEXIBLE
{CONT'D)
193004 ELBOW, 3/8” INV. FL. TUBE 80 DEG.
(12,8480} ..o it S 2
2.5120 - CLIP, FUEL PUMP TO FILTER TUBE
4A 3224539 CLIP (3/8" TUBEY{12.40858) .. ... ... ... .... 2
4A 5177623 CLIP{B/B  TUBED ..ot en 2 2
44 5133108 CLIP(3/B" TUBEY . ..ot 1 1
5112241 CLAMP (250700 © oo e e &
5186119 SPACER, 13/32" 1.D. X 7/8" 0.D.
3OS 1 1
110802 SCHEW, #10.24X3/4 RD, HD. SL.
1280288 ottt e s 3
186612 BOLT, 3/8".16X Y 3/8° (12.900% ... .. ..... 1 1
120217 LOCKWASHER, #10 {12.9200} . . ............ 3
110633 NUT, 2£10-24 £12.9320) ... ... . ........... 3
25151 - TUBE, FILTER OUTLET
5129623  TUBE ASSY. (DEV. L. 12887 ... ... . ...... 1 1 11111
5126360  TUBE ASSY. (DEV. L. 16.40% ... ............ 1
S103959 * TUBE ASSY.IDEV. L. 20.30") ... ... .... 1
5109950 * TUBE ASSY. DEV. L 21.26% ... ... .. 1
5132892 * TUBEASSY. (DEV. L. 2880% ... ... .. . ... 1 1
5137130 HOSE ASSY. (5/16°1DX32" )V ®B) . ... . ...... 1
5131517 HOSE ASSY, (8/16°L.D.X18 97167 L8 ...... 1
444000 ADAPTOR (1/4"-18BY . .. ... .. .o\, 1
143338 ELBOW, 3/8" INV, FL. TUBE 45 DEG.
(12,9480 ... . . 21
193004 ELBOW, 3/8” INV. £ TUBE 90 DEG.
(Y2.8880) ... 2 1 1 N REEEERERE
442323 CONNECTGR, 3/8" INV. FL. TUBE
(829460} . ... ... ... ... 1 1 EEBEEERE
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12,8550,
25156 - CLIP, FUEL FILTER OUTLET TUBE
2488022 CLIP, #6 HOSE (NEOPRENE COATED)
28884} ... ..o 1 2 2
3224539 CLIP, 3/8 TUBE (12.4085) ... . ... e 2 2
5177623 CUIP, 3/8" TUBE {2.5120) .. .. .. .. ...\... .. B
5153473 CLIP, 1/2 TUBE {4.6080} ... ... ............ 2
5171509 CLIR, 5/8 TUBEIS IS8T .. ... ... ......... 1
MARCH, 1380 PAGE 40 OF  2.5000A

COPYRIGHT 1980 GENERAL MOTORS CORBQRATION



DETROIT DIESEL 5 3 MPC ENGINES
2.5000A  FUEL LINES

,,,,,,,,,,,,,,,,,,,, TYPES .. ... ...
PART 6 & & e 6 &
CFG L O NUMBER L, L NAME ANE DESCRIPTION ......... 2162 4165866 glé
t1;j2]8j3:9{8i8]B|0|(68]7
1 8 4 0
2.5158 . CUP, FUEL FILTER QUTLEY TUBE
(CONT'D}
B178598% BRACKET, CLIP{2.5030) .. ......... ....... 1
106284 BOLY, 3/8"-24X5/8" (128001} ............. 1
103321 LOCKWASHER, 3/87 (12,8200}, .......... .. 1
103341 WASHER, 3/8° {12.8180) . .. ... ........... AR
117049 NUT, 3/8-24 {12.84200 ... ... .. ... ..l 1
25160 - TUBE, FILTER TO CYLINDER HEAD
FLEXIBLE
5132278 HOSE ASSY. (8/167°1L.D.X24 3/8"L) ... ... .. .. 1
193004 ELBOW, 3/8"-90 DEG. INV. FL. TUBE
(32,9480 ... .. i
442323 CONNECTCR, 3787 INV. FL, TUBE
{12.8460) ... e 1
2.%210 . TUBE, FUEL DRAIN
44 5135034 TUBEDEV. L 22.88" {CRQSSOVER) .. .... ... 1
44 51356035 TUBE ASSY (DEV. L. 16067 .. .. ... ... . ... 1
5127911 ELBOW, 174" RESTRICTED .. ... ...... ..., 1 1
5116440 ELBOW, B/16" RESTRICTED . ..., ... ... 1] 1 Th1g 2 T I
5124978 ELBOW, 5748 RESTRICTED . ...... ... ..... i
5179969 ELBOW, 3/8" TUBE SEALASTIC 80 DEG,
{12.8428) ... .. ... oo 2 ¥
5177433 SEAL RING. /16" TUBE SEALASTIC
f12.8438) .. ... oL 1
5179938 SEAL RING, 3/8° TUBE SEALASTIC
(128438 ... e 2
5177480 NUY, 5/16" TUBE SEALASTIC {12.9445} . .. .. 1
$179837 NUT, 3/87 TUBE SEALASTIC (12.9445 .. ... 2
25220 - CLIP, FUEL DRAIN TUBE
44 5134840 CLIP, 3/B" TUBE ... .. ... ......... ... ... 1
180120 BOLY, 3/8°16X3/47 {12900 ... ... ... 1
103321 LOCKWASHMER, 3/8~ {12.9200). . ........ ... AR
MARCH, 1980 FAGE 41 QF 250004

COPYRIGHT 18980 GENERAL MOTORS CORPORATION

—




$§3 MPC ENGINES DETRO:!T DIESEGL
2.5000A FUEL LINES

.................... TYPES .. v
PART 6 6 8 [ 8
FIG .. NUMBER . ... ....... NAME AND GESCRIPTION . ........ 7]6j{7i6i8/ 6|8/ 86/8]6}9
: 1|7 8 sl 8 81219
2 1 8 O
2.5050 - TUBE, STRAINER TO FUEL PUMP
1A 5133670  TUBE ASSY. {DEV. L. 7.08° ................ 1
1A 5135285 * TUBE ASSY (DEV. L. 12.84™y ... ... . ....... 1
A E121149  TUBEASSY. (DEV. L. 38767 ... ........... 1
tA 143338 ELBOW, 3/8"-45 DEG. INV. FL. TUBE
192.9480) ..o 3
193004 ELBOW, 3/87-90 DEG. INV. FI. TUBE
(28880} 0ot 1
137425 ELAOW, 1/2°.80 DEG. INV. FL, TUBE
(V29480 ... oo 1
5178522  ELBOW, 1/2” TUBE SEALASTIC 90 DEG.
(12.9825) 0o e 1
5178524  SEAL RING, 1/2° TUBE SEALASTIC
(32.9435) . o 1
442323 CONNECTOR, 3/8" INV. L. TUBE
(12.8460) ... ....... e 112 2 1
5176523 NUT, 1727 TUBE SEALASTIC {12.9445) ... .... 1
» OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12,9550
2.8060 - TUBE, FUEL PUMP INLET
5133918  HOSE ASSY. {1/2°tDX44"LY ... ... ... ... 1
434042 ELBOW. 3/8" STREET 90 DEG. {12.89580) ... .. 1
2.5070 . CLIP, STRAINER TO FUEL PUMP TUBE
A 5177623 CLIP. 3/8" TUBE{2.5120} . ................. 2
2.5100 . TUBE, FUEL PUMP TO FILTER
LA 5127817  TUBE ASSY. (DEV. L. 9247 .. ... ... ..... 1
A 5108529 * TUBE ASSY. (DEV. L 12,407 ... ... ....... 1
A 5121081 TUBE ASSY. (DEV. L. 21.287) ... ... .. ..., 11y j
A 5134897  TUBE ASSY. (DEV. L. 368.227 ... .......... 1 1
A 5125380 * TUSE ASSY. (DEV. L. 36.40% .. .. ... ....... 1
A 5133636 * TUBEMEV. L 5032 ... 1
442323 CONNECTOR, 3/8" INV. FL. TUBE
12.8460) . .0 11 1 1}
193004 ELBOW. 3/8".80 DEG. INV. FL. TUBE
(129680} . ... ..., 11918 1 2] 149
5179969 ELBOW, 3/8" TUBE SEALASTIC 80 DEG.
(VZ.9425) 0. 112
5179938 SEAL RING, 3/8" TUBE SEALASTIC :
12,8635y L. 112
5179937 NUT, 3/8” TUBE SEALASTIC (12.8445F .. ... .. 112
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK HOSE MATERIAL SHOWN
IN 12.8550,
MARCH, 1880 BAGE 42 OF 250004

COPYRIGHT 188C GENERAL MOTORS CORPORATION



DETROITYT DHESEL 53 MPC ENGINES
2.5000A FUEL LINES

..................... TYPES . oo
PART 8 & 6 6
DFG L NUMBER L. NAME AND DESCRIPTION . ........ 7 7i{6l8j6l8!6i8!6i8:86
1{7 8 g8|js5i8 8219
2 1 3 8 0 3
25110 . TUBE, FUEL PUMP TO FILTER FLEXIBLE
5131607 HOSE ASSY, (B/167LD.X15 1/47L) ... ... o 1
£133914 HOSE ASSY. (5/1671D.X48 17470} .. ... ... 1
193004 FLROW, 3/87.80 DEG. INV. Fi. TUBE
(12.8880) ... .. e 2 2
2.5120 . CLIP, FUEL PUMP TO FILTER TUBE
5160388 CLIP {3/8" TUBEI (250700 ... ............. 111 %
5177623 CLP{E/8"TUBE . ...... ... .. . . i i 1
E161873 CLIP (2/16" TUREV7.4412) .. ... .. . ..... 2
140882 CHIP, 1/2" TUBE (128630} . ... ... .. ...... 2
Ey12241 CLAMP [2.B070F ... . it v 6
5182647 ADAPTOR, CLIP(8.2380) ... ................ 2
5164789 SPACER{B.A0ZBY . ... ..o 111 1
110802 SCREW, #10-24X3/4* RD. HD. SL.
TEB0IBY e 3
186618 BOLT, 6/16™-18X8/8" (12,8009} ... ......... !
4540086 BOLT, 3/8"-16X1 1/2° (129004 .. ... ....... 141 1
120217 LOCKWASHER, #10(12.9200}. ............. 3
103320 LOCKWASHER, 5/16° {12.9209) .......... .. 2
163321 LOCKWASHER, 3/87 1129200} . ............. 114 1
110633 NUT, #10.24 (1289208 .. ... ... ... 3
120376 NUT, 8/16 18 {12.9120) .. ... ... ... ... : z
25151 . TUBE, FILTER OUTLET
‘A 5128282 * TUBE (DEV. L 12 1/47H{CROSSOVER: . . ... ... 1
A 5133612 *TUBEMEV. L. 12,387 ... .. 1
4A 5133627 * TUBE (DEV. L. 13.36") (CROSSOVER) .. ....... 1
4A 5132688 * TUBE (DEV. L. 138471 [CROSSOVERY . ... .. .. 1
4a B130927 * TUBE ASSY. (DEV. L. $.12%Y ... ....... .. ... 1
4 B13B126 = TUBE ASSY. (DEV. L. 10.74") .. ... .. ..... ... 1
4A 5129623 TUBE ASSY. (DEV. L. 12.868™ .. ..... ........ H 1 1 1
4A 5125319 TUBE ASSY. DEV. L. 1880 ... ... .... .. 1
5125447 ELBOW, 3/8" TUBE SEALASTIC 45 DEG.
L12.8425) ... 111
5179969 ELBOW, 3/8* TUBE SEALASTIC 90 DEG.
PIZ8428) ... 1
143238 ELBOW, 3/8"-45 DEG. INV. £L. TURE
PIZGAB0Y .. .. 2 ¥
193004 ELBOW, 3/8" .80 DEG. INV. FL. TUBE
(12.84B0) ... .. 1 1 1 112

MARCH, 1980 PAGE 43 OF 2.5000A
COPYRIGHT 1880 GENERAL MOTORS CORPORATION

R R R RS P e



5 3 MBC ENGINES DEYROIT DIESEL
2.5000A  FUEL LINES

..................... TYPES ..o
PART 6 ]
CFG . NUMBER ... ... ... .. NAME AND DESCRIPTION ... ..... 7i6l7i8is|l6i8l6!8 8
117 8 gisls 9 9
2 1 3 8
2.5161 - TUBE, FILTER OUTLEY
 (CONTD)
442323 CONNECTOR, 3/8” INV, FL. TUBE
(128460} .. .. 3 1 1 1
5179938  CONNECTOR, 3/8° TUBE SEALASTIC
P12.8418F e 1 2 {1
5179938 SEAL RING, 3/8" TUBE SEALASTIC
PY2.843B) o 1h1i214
5185519  TEE, 3/8 TUBE SEALASTIC (251000 .. ....... 1
6121182  PLUG, 1/4" PIPE{2.8018} .. .. ... ......... 1
5179937  NUT, 3/8° TUBE SEALASTIC {12.9445) ....... 11112714
* OBSOLETE; CUSTOMER TC FABRICATE
FROM BULK MATERIAL SHOWN iN
12.B550.
25156 . CLIP, FUEL FILTER OUTLET TUBE
51776823 CLIP, 3/B" TUBE 258120y . .. .. ... ... ... ... %
5171508  CUIP, 5/8" TUBE{8.1591) .. ... .. ......... 2
BIS7412  SPACER(T4013}. ... ... i, 3
192883 BOLT, 3/8°-16X5 1/4-{12.8G01 ... ......... 1
103341 WASHER, 3/8” (128180} .. ............... 3 1
25160 . TUBE, FILTER TO CYLINDER HEAD
FLEXIBLE
§1371376 * HOSE ASSY. (8/16°LD.X10 3/4°L) .. ..., .... 1
5135899 * HOSE ASSY, {(5/1674D.X12 3/871.)
(CROSSOVER) .. ... 1
5131507 HOSE ASSY. (B/16°LD.X15 1/4"L) ... . ... ... 3
5133916 HOSE ASSY. {S/16*1LDX18L) .............. 1 :
5131558 » HOSE ASSY. {(3/8"1D.X9 3/4°L} ... ... .... 1
444000 ADAPTOR, 1/4” PIPE (12.9450) . ............ 1
190367 ELBOW, 1/4* STREET 80 DEG. BR. :
(295808 . 1
143338 ELBOW, 3/87-45 DEG. INV. FL. TUBE
(T2.8480Y ... . 2 1
193004 ELBOW, 3/8°-90 DEG. INV. FL. TUBE
(1284808 ... .. 1
442323 CONNECTOR, 3/87 INV. FL. TUBE
OI2B480Y ... i 111
178680 TEE. 3/B* INV. FL. TUBE, 2 WAY
(12.9480) ... .. ... ... 1 1
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550,
2.5210 . TUBE, FUEL DRAIN
1A S128016 * TUBE ASSY (DEV.L 1012" .. ........ ..., 1 1
4A 5132872 * TUBE {DEV. L 13.38") (CROSSOVER) ......... I
4A 5128283 * TUBE (DEV. L, 25.82°V {CROSSOVER} . ... ... .. ;

MARCH, 1980 PAGE 44 OF 2.5000A
COPYRIGHT 1980 GENERAL MOTORS CORPORATION



DETRO!T DIESEL 5 3 MPC ENGINES
2.5000A FUEL LINES

.................... TYPES ..
PART 8 6 8 & 6
CFIG L L NUMBER L L. NAME AND DESCRIPTION .. ..... .. 7ielrleis Bi6isisio|e
1:!713I812|{B{B|Bi9!91i219
1 8 0 3
25210 . TUBE, FUEL DRAIN {CONT'D}
5116440  ELBOW, 5/16" RESTRICTED . ............... BREEREEER ERE 1]t
5125447 ELBOW, 3/8° TUBE SEALISTIC 45 DEG.
(12.9428) .. 1
5179968  FLBOW, 3/8" TUBE SEALASTIC 90 DEG.
PP2.9825) .0 1
5179936  CONNECTOR, 3/8" TUBE SEALASTIC
(12.8418) ... .. . 212
§129843  TEE 5/18° INV. FL. TUBE, RESTRICTED)
125205} .. i e _ 3
5179938  SEAL RING, 3/8" TUBE SEALASTIC _
C2.9438) ... 2 212
5178937 NUT, 3/8" TUBE SEALASTIC (12,9445} .. .. ... 2 212
* OBSOLETE; CUSTOMER TC FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8580.
2.5215% . HOSE, FUEL DRAIN
ah 5133830 * HOSE ASSY. {1/4"LD.X10 1/4"L)
(CROSSOVER) .. ..., 1
aA 5186063 HOSE ASSY {1/4*LDXTA) .o, 111
Y 5131375 HOSE ASSY. (B/16"LD.X27 V/2°L} .......... 1
4A S129867 + HOSE 1/4" 1D. X 30° L. (57100} .. ......... 1
9432245 ELBOW, 5/167.80 DEG, INV. FL. TUBE
2.9480% ... ..., 1
143338 ELBOW, 3/87-45 DEG. INV. FL. TUBE
(12.9480) .. ... ... 1
193004 ELBOW, 3/8°-90 DEG. INV. FL. TUBE
(T294B0) ..ot e 1
5189294  FITTING, 174" HOSE X 174" INV. FL
TUBE, SWIVEL (57100} ................. 1
5113322 FITTING, 174" HOSE, SWIVEL (25218} ... .. .. 1
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550,
+ $TD. LENGTH HOSE. CUT TO LENGTH
SHOWN.
25220 . CLIP, FUEL DRAIN TUBE
aA 5110070  CLIP, 3/8" TUBE{2.5120} ... ............... 1 1
an 140582 CLIP, 1/2" TUBE (1228630} . ... ... ... . ... 1
ah E17086C  CLP 1/2" TUBE(4.8040) ... ... . ... ... § 1
An 5153473 CLIP, 1/2" TUBE (46040} ... ... .. ... ... 1
4A 5168001 CLIP, 1/2" TUBE (12.8630) . ........... ... .. 1
5112241 CLAMP {Z.5070) ... .........ooro 2} 2
5116400 BRACKET, CLIP (4.8010) ... .. .......... ... 1
5157412 SPACER (74013} . ... ... ... ... 1
5114561 TAG, CABLE (74545} . ...\ 1
132908 SCREW, #10—32X1/2" RD. HD, SL.
2.8028) .. LI
JuULY, 1981 PAGE 45 OF 2.5000A

COPYRIGHT 1881 GENERAL MOTORS CORPORATION

S ]



DETRQIT DIESEL §3 MPC ENGINES
2.85000A  FUEL LINES

..................... TYPES ...iiiiiiieniiins
PART 8 s & 8
FIG .. NUMBER ...,.. ..., NAME AND DESCRIPTION ......... 7{6{7{6|8leislalajelas
t]7({3|8|2{slsjslolajais
2 1 3] |8 o
2.5220 . CLIP, FUEL DRAIN TUBE
{CONTD)
179838 BOLT, 3/8*-16X5/8* {12.9001) ............. 1
179838 BOLT, 3/87-16X7/8~ (12,9001} ............. 1
179839 BOLT, 3/87-18X17 {(12.9001) ........... ... 1 1
178850 BOLT, 3/8°.16X2 3/4* {12.9001) ... ........ 1
1068284 BOLT, 3/8*.24X5/8" {12.9001) ............. 1
103341 WASHER, 3/8° (12.8180} .................. 1 1
120217 LOCKWASHER, 210 (12.9200} ... .......... 11
103321 . LOCKWASHER, 3/8-.(12.8200) . .. ........... an|  jar AR
120814 NUT, #10-32 (128120} ........00vvrreons 11
117049 NUT, 3/8%.24 {12.8120) ... ......viroriinl 1
JAN., 1980 PAGE 48 OF 2.5000A

COPYRIGHT 1980 GENERAL MOTORS CORPGRATION

T T T S —




5 3

MeC

PART

L FIG L. NUMBER ..

4A
4A

4A

4A

44
44

4A

44
44
4A
44

ENGINES

2.5000A  FUEL LINES

2.50580 - TUBE, STRAINER TO FUEL PUMP

5135480
5121149
5121161

143338

193004

8432249
5179969
5179938

442323

5179937

2.5060
5133918
444042

2.5070
5177623

25100

5127817
5135481
5134800
5134897
5130168
51094886
5108488
442323

193004

5179969
5179938
5179937

* TUBE ASSY. {DEV.

TUBE ASSY. (DEV. L. 107
TUBE ASSY. {DEV. L. 39.76%)
TUBE ASSY. {DEV. L. 45.167
ELBOW, 3/8°-45 DEG. INV. FL, TUBE

(1298801 .. .0t
ELBOW, 3/8°.80 DEG. INV, FL. TUBE

(12.9880) .. ..
ELBOW, 3/8°-90 DEG. INV. FL. TUBE

TVZ.8480) .. e
ELBOW, 3/8° TUBE SEALASTIC 80 DEG.

129485} .. ..o e
SEAL RING, 3/8° TUBE SEALASTIC

P12.9438) . L
CONNECTOR, 3/8° INV. FL. TUBE

(1294801 ...t
NUT, 3/8* TUBE SEALASTIC {12.9445)

- TUBE., FUEL PUMP INLEY

HOSE ASSY {(1/271DX14"8L) ... .. . L.
ELBOW, 3/8" STREET 90 DEG. {12.9830}

- CLIP, STRAINER TO FUEL PUMP TUBE

CLIP (3/8” TUBE) (25120}

- TUBE. FUEL PUMP TO FILTER

TUBE ASSY. {DEV. L. 9.24%)

TUBE ASSY (DEV. L. 18.587)}

TUBE ASSY. {DEV. L. 36.22")

TUBE ASSY. {DEV. {. 38.227}
L

TUBE ASSY. {DEV. L. 41.62%)
TUBE ASSY. {DEV. L 41.62°F .. ...\ ..o oo
CONNECTOR, 3/8" INV. FL. TUBE

PV28480) ..ot
ELBOW, 3/8°-80 DEG. INV. FI, TUBE

TH2.8480) .. o
ELBOW, 3/8" TUBE SEALASTIC 90 DEG,

(12.9828) .
SEAL RING, 3/8 TUBE SEALASTIC

F12.8435) ot
NUT, 3/8° TUBE SEALASTIC (12.9445) ... ...
* OBSOLETE; CUSTOMER TO FABRICATE

FROM BULK MATERIAL SHOWN N

12.8850.

MARCH, 1880 PAGE

&7 OF  2.5000A

COPYRIGHT 18840 GENERAL MOTORS CORPORATION

BETROIT DIESEL

LG TYPES L
7 7 7
7icel 7y P17
gjis|0jo0i1{8}|2
4 9 2 5
1
1
tE
11141
1
1
3
LI
1
1
H
2 212

D ————— e T



DETRO!IT DIESEL §3 MPC ENGINES
2.5000A  FUEL LINES

,,,,,,,,,,,,,,,,,,,, TYPES .o
PART 6 7 7 ¥ ¥i 7
CFIG .. NUMBER ... ... .. NAME AND DESCRIPTION . ... .. ... aiglo;7i0 olrl1i7]1i7
4i9loloi3|loisjojoltleiz
1 4 9 2 5
25110 - TUBE, FUEL PUMP TO FILTER FLEXIBLE
5431517 HOSE ASSY. (5/16°LD.X18 9/16°L) ......... 1
5133829 HOSE ASSY. (5/18°LDXS0) ... ... ... 1
$132540  HOSE ASSY. (B/1671.D.X54 3/4°L) ... . .... .. 1
183004 ELBOW, 3/8°-90 DEG. INV. FI.. TUBE
(TZ.968DY o e 2 2 2
25120 - CLIP, FUEL PUMP TO FILTER TUBE
5177623 CLIP (378" TUBE) ..o e, 1
5151883 CLIP (3/8" TUBE) {28070} ... .............. 1
5153473 CUP (1/2" TUBE) (4.5840) ... ............ 2
5168001 CLIP (/2" TUBE) {12.4085) ... ............. 1 2
5112241 CLAMP £2.5070) ... e, 616|686
110502 SCREW, #10-24X3/4" RD. HD. SL.
(128028 . ot 31313
179835 BOLT, 3/87-16 X 5/8" (12.9001) .. ... ... ... 1
120217 LOCKWASHER, #£10{12.8200} . ............, 3133
103321 LOCKWASHER, 3/8 ($2.8200) . ... .......... 1
110633 NUT, #1024 (12,9120} .. ... oriennn .. 5j3]s3
2.5151 - TUBE, FILTER OQUTLET
4A 5128282 * TUBE DEV. L. 12 1/4%) (CROSS0OVER) ........ 1 1 1
aA $135034  TUBEMDEV. L. 23.407) .. ...vorivr o, 1
aA 5109655 TUBE ASSY. {DEV. L. 8.89") ... ...... ... .... 1
aA $130927 * TUBE ASSY {DEV. L. 8.12°) ... .. .......... 1
4 5129176 TUBE ASSY. {DEV. LL 12.18" ... ... ......... 1
A 5129623  TUBE ASSY {DEV. L. 1268*F ............. . 1l
4a 5126360 - TUBE ASSY {DEV. L. $6.40") ... ... .. .. ... 1
aA 5140624 * TUBE ASSY {DEV.L $8.107 ............... 1
5125447 ELBOW, 3/8° TUBE SEALASTIC 45 DEG.
(Y2.8428) L 1 1 2
5179969 ELBOW. 3/8" TUBE SEALASTIC 90 DEG.
PI2.8428 o 1
143338 SLBOW, 3/8°-45 DEG. INV. FL. TUBE
(1294801 ... 1
183004 ELBOW, 3/87-90 DEG. INV FL_ TUBE
(T2.9480) . ... 1 2 th2i111
442323 CONNECTOR, 3/8° INV. FL. TUBE :
(12.94B0) .. 0ot 1 111
5179936  CONNECTOR, 3/8" TUBE SEALASTIC
1298155 oo 1 1
51799238 SEAL RING, 3/8" TUBE SEALASTIC
PP28435) 0ot e 2 2 3
5121182 PLUG, 174" PIPE{2.4045) . ... .. ............ 1
5179937 NUT, 3/8" TUBE SEALAST'C (12.9445) ... . 2 2 3
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12,8580,
+ NOT SERVICED, USE 5189575 BULK
HOSE PLUS (1) 5198578 AND (1)
5199593 FITTINGS AND CUT TO SUIT.

MARCH, 1980 PAGE 48 OF 2.5000A
COPYRIGHT 1880 GENERAL MOTORS CORPORATION



DETROIY DIESEL §3 MPC ENGINES
2.5000A FUEL LINES AND FUEL COOLER

..................... TYPES .t
#ART 8 7 7 7
LFG L ONUMBER L. NAME AND DESCRIPTION ......... oislolzlotrloiziririelz
4ajisjoio clsio 1 2
1 4 9 2 5
25156 . CLIP, FILTER OQUTLEY TUBE
8177623  CLIP(3/8" TUBE){28120) ................. 1
5168001 CLIP {1727 TUBE) (12,4095} ... ...... ....... 2
B183473  CLIP{1/2° TUBEH{4.B040) ................. 1
5171808  CLIP(5/8” TUBE) (91581 ................. 2 2
6166565  BRACKET, CUFIS.I1591) . ... ovvrnerenn. .. 1
186628 BOLY, 3/8".16 X 1 1/27 {12.8001) ... ....... 1
180120 BOLT, 3/8°-16X3/4" (12.800%} ............. 2
179835 BOLY, 3/8*-1BXE/8" (12.89001) ............. 2
103321 LOCKWASHER, 3/8* {12.8200) .. ............ 2
102635 NUT, 3/B 16 {12.8128) . ... .0 ornnn... 3
2.5160 - HOSE, FILTER TO CYLINDER HEAD
5133802 * HOSE ASSY. {5/1671.D.X10 1/2°L)
{CROSSOVER) .0t ivreer i innn e, i 1
5131829 4 HOSE ASSY, (5/16°IDXI2°L) oo oennn s, 1
5131519  HOSE ASSY, {5/16°1.D.X35 5/46°L) ... ... ... 1
5133169 * MOSE ASSY. (5/16°1D.X37 3/4°L) ........ .. 1
51313756 HOSE ASSY. {#EBXI8™L) .. ovrerrenn .. 3
5121182  PLUG, 1/4" PIPE SKT. HD. (2.4015) .. ........ 111 1
444000 ADAPTOR, 1/4° PIPE {12.8460) ... .......... 1 1
190367 ELBOW, 1/4* STREET 90 DEG. BR.,
(I2.8590) ... .., 3
143338 ELBOW, 3/8-.45 DEG. INV. FL. TUBE
(1284800 ... ... 1 2 2
193004 ELBOW, 3/8%.80 DEG. INV. FL. TUBE
UIZ.94BO) ..t 1 1
442323 CONNECTOR, 3/8” INV. FL. TUBE
CI2.8480) L, 1 1
178690 TEE. 3/8" INV. FL. TUBE, 2 WAY
(1284800 oo e 1 1 1
178917 TEE, 3/87 INV. FL. TUBE (12.8490) .. ... ... .. ]
144598 NIPPLE, 1/4°X2 /2" (12.9560) ... ... ....... 1

* OB8SOLETE; CUSTOMER TO FABHICATE
FROM BULK MATERIAL SHOWN IN
12.8550.

# NOT SERVICED, USE 5199878 MOSE
AND {2) 5199579 FITTINGS.

25210 - TUBE FUEL DRAIN
4A 5128016 * TUBE ASSY. (DEV. L. 10,127

45 5108025 TUBE ASSY. {DEV,. L. B.I8™ ... ............. 1
an 5328283 * TUBE{DEV. L 25.82") (CROSSOVER) . ... ..... 1 1 H
BI27911 ELBOW, 1/4" RESTRICTED ................. 111
JULY, 1982 PAGE 49 OF 2.5000A

COPYRIGHT 1882 GENERAL MOTORS CORPORATION



DETROITYT DIESEL £§3 MPC ENGINES
2.50C0A FUEL LINES

..................... TYPES .. .
PART - 7 7 7t 7
DG O NUMBER NAME AND DESCRIPTION ... .., 96|00} 7§0]7:10;7(11]711
490013 |0|{BjCc10}1][8]|2
5 1 4 9 2 5
25210 - TUBE, FUEL DRAIN
{CONT'D) ‘
5116440 ELBOW, 5/18" RESTRICTED ... ... ..., ... Tl 1§ 151} 1 {1
5125447 ELBOW, 3/8" TUBE SEALABTIC 45 DEG.
[12.8425) ....... e 1 1 1
5179969 ELBOW, 3/8" TUBE SEALASTIC 90 DEG.
$12.9428) L $ i 1
5121182 PLUG, 1747 PIPE SKT. HD. (2.4018) ... ... ..., 11 1
5129843 TEE {&/16" INV, FL, TUBE, RESTRICTED)
{2.8206) .. ... 1 1
51799038 SEAL RING, 3/8" TUBE SEALASTIC
(1229438} ... ... ... ... 2 2 2
51794937 NUT, 3/8" TUBE SEALASTIC {12.9448) . ... ... 2 2 2
* QBSOLETE: CUSTOMER 7O FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
2.5215 . HOSE, FUEL DRAIN
44 5134687 * MOSE ASSY {1/4"1L0XB 1/2°Ly ... ..o L i 1
4A 5133830 * HOSE ASSY {1/4"1.0.X10 174710
{CROSSOVERY ..., ... ... . ... ........ 1 . 1
AA 5135025 HOSE ASSY {1/4"1B.X12°L) ... L. H
44 5186063 HOSE ASSY {1747 1L0X47Ly ... ... ... ... 1
4A 5118782 HOSE ASSY {1/7471D.X14"L) ... ... ... ... .. . 1
45 5162901 *» HOSE ASSY {1/4"IBX227L) ... o oL H
4A, 5131375 HOSE ASSY {8/16°1LDX27 1/2°Ly .. ... ... .. i
943224% ELBOW, 5/167-90 DEG. INV. FL TUBE
128480y ... ... -1 1
143338 ELBOW, 3/87-45 DEG. INV. L. TUBE
(128480} .. .. . L 1
193004 ELBOW, 3/8°.80 DEG, INV. FL. TUBE
(12.8480) ... .. . ... - i
* OBSOLETE, CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8580.
2.5220 . CLIP, FUEL DRAIN TUBE
44 140580 CLIP{3/8" YUBE} (128830 ... ... ..., ... ¥
4A 5130070 CLIP{3/8" TUBE) {2.8120) ..... ... ...... ... 1
44 5151883 CLIP (3/8" TUBEI {28070y ... ... ......... ¥
GA 140582 CLIP (4727 TUBE} (12.89830) ... ..., ........ 1
44 £1534723 CLIP {1/2" TUBE} (4.6040) . ... .. .. ........ 1
44 5168001 CLIP (1/27 TUBE){12.4095} ... . ............ i 1
5114551 TAG, CABLE(7.4845) ... . ... . ........ .. . 1
179836 BOLT, 3/8"18X8/B" {12.300% ... .. ... .. ... 111
5104588 BOLT, 378716 X 78" L 1129001 ... ...... 1 :
103321 LOCKWASHER, 3/8- (128200, .. ..., .. ..... AR Ait] AR
MARCH, 1880 PAGE 80 OF 2.5000A

COPYRIGHT 1980 GENERAL MOTORS CORPORATION



$3 MPC ENGINES DETROIT DIESEL
2.5000A  FUEL LINES

.................... TYPES ...t
o MMM EIHOHE
CFIG .. NUMBER .. .......... NAME AND DESCRIPTION ......... 4 517
FiG v 0j4iB|6 71218 0 b4
& & 3 ] 3
2.500% - TUBE. FUEL SUPPLY TO STRAINER
FOR TYPE 779 USE TYPE 1234, FOR TYPE
814 USE TYPE 1086,
190387 ELBOW, 1/4"-80 DEG. STREET {12.9580;...... 1
2.5008 - VALVE FUEL SUuPPLY CHECK
5122279 VALVE, 1/4" (SPRING TYPE} ... ... ... ... .. H
£135308 VALVE, 3/8" (SPRING TYPE} .........0vvnnn. 1
2.5010 - TUBE, FUEL SUPPLY TO STRAINER
FLEXIBLE
5121182 PLUG, 178" PIPE {24015} .. .. .. et 1
2.5060 - TUBE STRAINER TO FUEL PUMP
4A 5135480 TUBE(DEV. L. 10.00% ... o e H
4A, 6137052 * TUBEDEV. L 12.82") ... ... ... ... ...... 1
4A 5136394 » TUBE(DEV. L. 17.40"18D29) ., ... ... ..... 1
4A 5137074 TUBEIDEV. L. 40007 . . .. 1
442323 CONNECTOR, 3/8% INV. FL. TUBE
E12.94B0F . ... 1 1
193004 ELBQW, 3/8"-90 DEG. INV. Ft. TUBE
E12.8480) ... .. 1 2
6175869 ELBOW, 3/8" TUBE SEALASTIC 80 DEG.
32.8425) .. e 1
137428 ELBOW, 1/2°-80 DEG. INV. Fi, TUBE
FIZ8480)1 ... i e 1
51768522 ELBOW, 1/2° TUBE SEALASTIC
(12.8425) e 1
§179938 SEAL RING, 3/8" TUBE SEALASTIC
(1294381 .. .. .. 1
5176524 SEAL RING, 1/2° TUBE SEALASTIC
128435 . . 1
5121182 PLUG, 1/4“PIPE{2.4015) . ................. 1
5179937 NUT, 3/8” TUBE SEALASTIC (12,9445} . ... ... %
5176523 NUT, 1/27 TUBE SEALASTIC (12,9448} . ... ... 1
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8650.
2.8070 - CLIP, STRAINER TO FUEL PUMP TUBE
4A B177623 CLIP, 3/8" YUBE (25120} . ... ......... ... Z
4A £160388 CLIP, 3/B" TUBE(28070F ... ... oo ieeae .. 1

MARCH, 1880 PAGE Bt OF 2.5000A
COPYRIGHT 1980 GENERAL MOTORS CORPORATION

PIRIS_————__ I



ODETROIT DIESEL 53 MPL ENGINES
2.5000A FUEL LINES

.................... TYPES ..o
PART 7 7 8
FIG ... NUMBER .......... . NAME AND DESCRIPTION ......... al7lsl7]7 al7]e ols
ola 6f2{7|2i8 062
5 6 6 1
2.5100 . TUBE, FUEL PUMP TO FILTER
4A  B1OB529 > TUBE(DEV. L 12407 .. ... .............. 1 1
4A 5121080  TUBE(DEV. L 15.887 ... ... .. ........... : 1
4n 5136481 TUBE(DEV L. 18587 ... .. ... ..., .. 1
4A  B134900  TUBE (DEV. L 36.22°) ... o vovrerin i 1
4A 5134898  TUBE (DEV. L 36,80 ..................... 1
4A  B1D9ABE  TUBE(DEV. L 41.62°) ... .. ..0ooviiinen 1
442323 CONNECTOR, 3/8° INV. FL TUBE
(129460) .. ..o 0o 1 ' 111
5179969  ELBOW, 3/8° TUBE SEALASTIC 90 DEG.
(12.8425) ... ... i : ;
193004 ELBOW, 3/8"90 DEG NV, FL TUBE
_ (1284800 .. ... ... 2} 1 thafala]s
5179838  SEAL RING, 3/8" TUBE SEALASTIC
(12.8438) .. 1 3
5179937  NUT. 3/8° TUBE SEALASTIC (12.9445) ... . .. 1 1
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
2.5110 - TUBE, FUEL PUMP TO FILTER FLEXIBLE
B131507  HOSE (8/167LD.X15 1/4"Ly ... ........... 1
5131856  HOSE (3/8"X44 11/16°L) ... . iiirii, 1
193004 ELBOW, 3/8"-80 DEG. INV. FL. TUBE
(1284800 ... oot 2 2
25120 - CLIP, FUEL PUMP TO FILTER TUBE
5112241  CLAMP (25070) ........_ ... .......... 2 6
110502 BOLT, #10-24X3/47 (Y2.9028) ... ... . .. . 3
120217 LOCKWASHER, #10 MED. (12.8200) . ... .. 3
110633 NUT. 210-24 {12.3120) .. ... ... ... ... 3
25151 - TUBE, FILTER OUTLET
4A  §128282 * TUBE (DEV. L 12.25") (CROSSOVER) ... ... ... EERE
4A 5128623  TUBE(DEV. L 12887 . ... _........ ... 1 1]
4A 5132688 * TUBE (DEV. L. 13.54") (CROSSOVER) .. ....... 1
4A 5140624 * TUBEDEV. L 18.107) ... ................ 1
4A  B12B3TB  * TUBE (DEV. L 19.50%) ... . ..0oreoriin 1]
4A 5136163  TUBE (DEV. L 25.86% ... .. ... ... .. ... 1
5179936  CONNECTOR. 3/8" TUBE SEALASTIC
(129418) ... 2 2 1
442323 CONNECTOR, 3/8° INV. FL. TUBE
(VZB415) .o 1 1]
MARCH, 1980 . PAGE 52 OF 2.5000A

COPYRIGHT 1980 GENERAL MOTORS CORPORATION

T e .




5 3 MPL ENGINES DETROIT DIESEL
2.5000A  FUEL LINES

..................... TYPES ..
PART 7 7 7 ¥ 7 8
CFIG .. NUMBER ... ... ... .. NAME AND DESCRIFTION .... ... .. alris|{7irivisl7ie o|8
oialalel2i7izisislioiel2
5 & 3 & 1
25169 . TUBE, FILTER OUTLET
(CONT'D)
143338 ELBOW, 3/8 INV. FL. TUBE 45 DEG.
T12.8480) . . o e 2 1
5126447  ELBOW, 3/8” TUBE SEALASTIC, 43 DEG.
T12.8428) .0ttt e e e et 1 s
5179969 ELBOW, 3/8" TUBE SEALASTIC 80 DEG,
(V284281 . e 212
193004 ELBOW, 3/8" INV. FL. TUBE 80 DEG.
(42,8480} ..o\t 11112
5179938  SEAL RING, 3/8" TUBE SEALASTIC
(12.9435) oot et 2 5|54
5179937 NUT, 3/8" TUBE SEALASTIC (12.8445} .. ... .. 2 5151]4
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULX MATERIAL SHOWN IN
12,8550,
2.8156 - CLIP, FUEL FILTER OQUTLET TUBE
5177623  CLP{3/8" TUBEN{2.5120) ................. 1
5171809  CLIP{5/8" TUBE}(S. 1881} .. ... ........ .. 3 3
2488022  CLIP, #6 HOSE (NEOPRENE COATED)
D2 BBBAY oottt 1
2.5160 - TUBE, FILTER TO CYLINDER HEAD
FLEXIBLE
5131658 * HOSE(3/BIDXS 3/8°LY ... ... ....... ... 1 1
442323 CONNECTOR, 3/8° INV. FL. TUBE
(12,8860} ..\ 1
1903867 ELBOW, 1/4” STREET 90 DEG. BR.
(12,9580 .. .o 1
143338 ELBOW, 3/8.45 DEG. INV. FL, TUBE
(1284801 0ot e e 1
193004 ELBOW, 3/8° INV. FL. TUBE 90 DEG.
TT288BOF . et 1
143338 ELBOW. 3/8°-45 DEG. INV. FL. TUBE
1128480} ... i 1 1
444000 ADAPTOR, 1/4" PIPE {12.94B0} ............. 1
» NOT SERVICED; USE 1.5 139578 HOSE
AND 25190578 FITTINGS AND CUT
TO DESIRED LENGTH.
2.5210 . TUBE, FUEL DRAIN
aA 5132872 = TUBE (DEV. L 13.38") (CROSSOVER) ... ... .. 1
4A 61282872 * TUBE {DEV. L. 25.827} (CROSSOVER} ... ... ... BRERE
5179936  CONNECTOR, 3/8° TUBE SEALASTIC
(12.9418) 2
5127911 ELBOW, 1/4" RESTRICTED ................. 1
5116440 ELBOW, 5/16" RESTRICTED . ......... ... .. 111 SEBEEE 131
MARCH, 1980 PAGE 53 OF 2.5000A

COPYRIGHY 1880 GENERAL MOTORS CORPORATION

——————



..FG ... NUMBER

4A
4A
44

44

L T S ——

53

MPC ENGINES

PART

2.5210 -

5125447
5179969
5179938
5179937

25218 .

51880483
5130688
5136299
118762

111644
5114661

2.3220 -

81708680
132908

179839
120217
163321
1206814

2.500CA  FUEL LINES

TUBE, FUEL DRAIN
{CONTD}

ELBOW, 3/8" TUBE SEALASTIC 45 DEG.
(12,8425 ............ ... ... .
ELBOW, 3/8" TUBE SEALASTIC 30 DEG.
{12.9425)
SEAL BING, 3/8" TUBE SEALASTIC
{12.9438) ... e
NUT, 3/8° TUBE SEALASTIC {12.3446) ... ....
* OBSOLETE; CUSTOMER TO FABRICATE
Fgﬁ}aMs%ULK MATERIAL SHOWN IN
12.8550,

HOSE, FUEL DRAIN

HOSE (1/4"X14.00°L) . ... .. e ve s Ceen-
HOSE {S/18"X17.25"L) (CROSSOVER}) .. ......
HOSE (34 X227 L) (.. e
CONNECTOR, 378 INV. FL TUBE

(129448) . ... ... ... i
COUPLING, 3/8 X1/4 RED. (129580} . ........
TAG, CABLE(7.4848) ... ... ..............

CLIP, FUEL DRAIN TUBE

CLIP, 1/2" TUBE (46040} .............. vas
SCHEW, #10-32X1/2" AL, 8O, 8L,
(128025} ... .. i
BOLY, 3/87-16X1" (129001 ... ......... ..
LOCKWASHER, #10{12.8200}............ ‘e
LOCKWASHER, 3/8" {12.8200) . .............
NUT, #£10-32 (128120} .. .................

JAN., 1980 PAGE

YYepeL

54 OF 2.5000A

COPYRIGHT 1980 GENERAL MOTORS CORPORATION

L ~ied

DETROIT DIESEL

=N

Ak r e




PART

. FIG ... NUMBER

aA
4A
aA
4A
4A
4A

aA
4A
44

CDETROIT DIESEL

2.5000A FUEL LINES

2.5006 - VALVE, FUEL SUPPLY CHECK

6122279

VALVE, 1/4" {SPRING TYPE) . ......... ... ...

2.6010 . TUBE, FUEL SUPPLY 7O STRAINER

5121182

FLEXIBLE
PLUG, 1/4" PIPE{2.4018) ... ... ... ... ... ..

2.5050 - TUBE, STRAINER TO FUEL PUMP

5121100
5137063
5121101
5132452
5138084
5114860
442323

143338
193004
137425

TUBE (DEV. L. 840"} ... oot
TUBEDEV. L. 12167 .. o
TUBE [DEV. L. $4.80") .. ... v,
TUBEDEV. L. 28.00™ . o0t
TUBE (DEV. L 41.67") . o0,
TUBE (DEV. L. 43.06") . ... 000,
CONNECTOR, 3/8" INV, Fl. TUBE

P12.8480) ...
ELBOW, 3/8" INV. FL. TUBE 45 DEG,

U12.8480F . s e e
ELBOW, 3/8" INV. FL. TUBE 90 DEG.

(12.348B0) . o
ELBOW, 1/27-9C DEG. INV. Fi., TUBE

129880} e
* OBSOLETE; CUSTOMER TQ FABRIGATE

FROM BULK MATERIAL SHOWN IN

12,8550

»

-

2.8060 . TUBE, FUEL PUMP INLET

180367

ELBOW, 1/4" STREET 90 DEG. {12.8580) ... ..

2.8070 - CLIP. STRAINER TO FUEL PUMP TUBE

5173022
186283
103341

SUPPORT, CLIP(BB379} ...................
BOLT. 3/8"-16X3 1/2" (12.800% ............
WASHER, 3/8" {12.9180) ..................

25100 - TUBE, FUEL PUMP TG FILTER

5134898
5109487
£138097
442323

183004

TUBE{DEV. L. 38227y ... ... ...
TUBEDEV. L. 41827 .. .. ... ... ... e
TUBEDEV. L 46787 ... ... . ... ...,
CONNECTOR, 3/8" INV. FL. TUBE

{12.8480F . ... Lo
ELBOW, 3/87..80 DEG. \NV. FL TUBE
(129480 .. ... ... . .. ...
MARCH, 1980 PAGE

85 QF

2.5000A

COPYRIGHT 1980 GENERAL MOTORS COHPORATION

—




DETROIT DYESEL 5 3 MPC ENGINES
2.85000A FUEL LINES

.................... TYPES ..o
PART 8 8 8 8 B8
CFIG .. NUMBER ... ... ..., NAME AND DESCRIPTION .. ....... al81s 5 B|5 B8|8|8B!6
5]411i8]6]5]9({86 6i8l7
6 3 7 0 4 8
25110 - TUBE, FUEL PUMP TO FILTER FLEXIBLE
5136232 HOSE (#6X T4 LY oot 1
5133170  * MOSE(FEX4A0 3/4°L) .. ..o iinrrnnannnns 1
5130691 HOSE {5/16°LD.X21"L3{2.5149) .. ... ....... 1
3248643  HOSE (/B LDX18"LIATI00 ... ....... 1
442323 CONNECTOR, 3/8” INV. FL. TUBE
(12.9480) .. e 1
105423 ELBOW, 1/4" PIPE, STREET 90 DEG.
(5285800 ..ot 1
183004 ELBOW, 3/8°-90 DEG. INV. FlL. TUBE
(12.8480) ..o s 1 2 2
118755 ELBOW, 3/8" FLEX. TUBE X 1/4" P.T. 90
DEG. {(12.9380} . ... .o\t 1
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550,
2.5120 . CLIP, FUEL PUMP TO FHLTER TUBE
3224539 CLIP, 3/8" TUBE (124090} .. ... ... ... ..... 1
5169118  CUP 3/B TUBE ... ... . ..\ veero.n. 2 1 1
5153473  CLP 1/2° TUBE(4.6040) .. . .. ......o..... 2 111
5112241 CLAMP (250700 ..ot 4
110502 BOLY, #10-24X3/4" {12.80258} ... ......... 2
186612 BOLT, 3/8"-16X1 3/8" {12.8001) . . ... ....... 1 1
192883 BOLT, 3/8"-16X5 1/4° {12900 . .. .. ... .... 1
181370 BOLT, 3/8°.24X1 174" {12.8001) . .. ... ...... 3 1
5152148  WASHER, 3/B" {24050) ... .. .............. 1
120217 LOCKWASHER, 10 MED. (12.8200} . ........ 2
103321 LOCKWASHER, 3/8° {12.8200). .. ........... 1 : 1
110633 NUT, £10-24 (128120} ................... 2
117049 NUT, 3/8724 {12.9120} ... . ..., 1 1
25151 . TUBE, FILTER CUTLET
ak 5138202  TUBEMEV. L 1L78% ... ... ... ... 1
44 5128282 * TUBE {DEV. L. 12.25°} {CROSSOVER) ... ...... 1 1 1 1
44 5129623  TUBEDEV. L 12687 ... .. ... ... ..... 1
aA 5126360 5 TUBE(DEV. L 18.40°) ... ..o, 1
4A 5127639 * TUBE {DEV. L. 18.42°} {TOHEAD} ............ 1
442323 CONNECTOR, 3/87 INV. FL. TURE
(1229415 ... o 1 1
179936  CONNECTOR, 3/8” TUBE SEALASTIC
(12.94715) ... . . 3 1 1 1
JULY, 1981 PAGE %6 OF 2.5000A

COPYRIGHT 1981 GENERAL MOTORS CORPORATION

0 s




BDETROITYT DIESEL 53 MPC ENGINES
2.5000A FUEL LINES

.................... TYPES | . e
PARY 8 8 a 8
CFIG L. ONUMBER L. L. NAME AND DESCRIFYION ... ... ... 41818 5 GBI &£{8]| 688
Ejl4t1]{8]6 5] 9] 8 &{8:7
8 Q 8
25151 - TUBE, FILTER OQUTLET {CONT'D}
143338 . ELBOW, 3/8° INV. FL. TUBFE 45 DEG.
(12.9480) .. .. e . 1
8125447 ELBOW, 3/8" TUBE SEALASTIC, 45 BEG,
(Y2.8428) .. e H 1 1 1
1823004 FLBOW, 3/8" INV. FL. TUBE 80 DEG.
(12.9480) .. . ... e 1 2 L
5179538 SEAL RING. 3/8" TUBE SEALASTIC .
12294351 . ... i 2 2 2 2
5179937 NUT, 3/8° TUBE SEALASTIC (12.94458) . ... .. P4 2 2 2
* OBSOLETE: CLSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
+ NGT SERVICED, USE 5199575 BULK
HOSE PLUS (115198579 AND (1}
5188593 FITTINGS AND CUT TO SUIT.
2.5156 . CLIP, FUEL FILTER OQUTLET TUBE
5177623 CLIP, 3/8” TUBE25120) . ..., .. .. ooo.n, 1
3291281 CLIP 8/8" TUBE (V. 1080) ... ... . .. ... . ..., H
140573 CLIP, B/8° TUBE (V28630 . ... ... ... .. H
2.5160 - TUBE, FILTER TO CYLINDER MEAD
FLEXIBLE
5138050 HOSE (#6X8 /2" L) .. . . . 1 1
5136593 HOSE (#6X10 1/27 L) . t
5131517 HOSE{(8/16"1LDX1B 971870} .. ... . ... . ... 1
442323 CONNECTOR, 3/8" INV, FL, TUBE
$12.8480% . i
2011306 ELROW, 1/4°.45 DEG. STREET{12.95880) .. ... . 1 1
143338 ELBOW, 3/8".45 DEG. INV, FL. TUBE
129480 . . $
193004 ELBOW, 3/8 INV, FL, TUBE 30 DEG.
(Y2.9480) ... 2 1 2
118758 ELBOW, 3/8" FLEX. TUBE X 1/4" BT, 80 :
DEG (128380 . ... ... H
2.5210 - TUBE, FUEL DRAIN
aA 5128016 = TUBEWEV. L 10127y . .. H b
44 5128283 * TUBSFI(DEY. L 25.827(CHOSSOVER) . ... ., .. 3 t H H
425280 CONNECTOR, /16" TUBE X 174 NPT,
(12.8460Y . L. 1 1
5127911 ELBOW, 1/47 RESTRICTED . ... ... ... ... . 1 1
5116440 ELBOW, B/16" RESTRICTED .. .. .. ... ... .. 3 i 1]t i 101
5125447 ELBOW, 3/8" TUBE SEALASTIC 45 DEG.
Y2.9425) .. H H 1 1
AUG., 1880 PAGE 81 OF 2z2.5000A

COPYRIGHT 1980 GENERAL MOTORS CORPORATION




B3 MPC ENGINES PETROCIT DIESEL
2.5000A  FUEL LINES

................. G TYPES
PART 8 8 8 8 8
FIG .. NUMBER ............ NAME AND DESCRIPTION ......... 4!sis/8{B6is|5|sleig|8!s
Bjlal1isisisigiel2i618{7
8 o 4
2.5210 - TUBE FUEL DRAIN
(CONT'D)
5179969  ELBOW, 3/8” TUBE SEALASTIC 90 DEG.
F12.8825) .. 00ttt i 3 1 1 1
9432245  ELBOW, 5/18° INV. L. TUBE 90 DEG.
(129480) ... ... ... ... iin, 1 2
179938  SEAL RING, 3/8' TUBE SEALASTEC '
{12.9435} . e 2 2 2 2
B1268B30  PLUG (77010} ......... ..o, . 1
B179937  NUT, 3/8° TUBE SEALASTIC {12.9445) . .2 2 2 2
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
2.5212 - COOLER ASSY. FUEL
5136348  COOLER ..... e e .. 1 1
2.5214 - TUBE, FU£L COOLER
5110373  HOSE (27 LD.X3" L)(8.3330) . .............. 1 1
5186841  CLAMP (1 9/16°X2 1/2” DIA. HOSH
(1286600 ..o v, 2 2
25218 - HOSE, FUEL DRAIN
SI38732  MOSE{HEEXZ0°ULY ..ot 1
1A 5137863  HOSE (#5XZ471) (12.4065) .. ... .0 0ornon 1
SA B1880683  HOSE{1/4" X 14.00°L3 ............... il 1
LA 5131831 HOSE (8/16"X42.00°t) ...........o..o.... 1
A 8131845 * MOSE(B/16°X78.00°13 .. ......... ... 1
425250 CONNECTOR, 5/18* INV. FL TUBE
(128480} ... ittt 1
116332 BUSKING, 3/8°X1/4" RED. {12.9570} ........ 3
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN iN
12.8550,
2.5220 - CLIP, FUEL DRAIN TUBE
SA 5110070  CLIP. 3/8" TUBE (2.5120) .................. 1 1
IA $170860  CLIP, 1/2" TUBE (4.8040) ... ... . ........... 1 1
1A 5163473  CUP, 1/2" TUBE {4.8040) . ... ....... ... ... 4 1
5169393  BRACKET. CLIF(4.1878} ... .. ... .. .. .. ... 1
5160629  SPACER, 13/327X7/32° (4.2270} .. .......... 1
186618 BOLT, 5/16°.18X5/8* (12,8001} ............ 3
181333 8OLT, 5/16°.24X5/8" (12.800%) ............ 1
JAN., 1880 PAGE 58 OF 2.5000A

COPYRIGHT 1980 GENERAL MOTORS CORPORATION

L R —



DETROQIT DIESEL §3 MPC ENGINES
2.5000A  FUEL LINES

..................... TYPES . ... i
PART 8 8 8 8 8 8
LFIG L O NUMBER L. NAME AND DESCRIFTION ..., .... 4|8 |58 5|8|/bj8|6:68]618
54116186 :59:6;216(8;7
8 3 7 o 4 8
2.5220 - CLiP, FUEL DRAIN TUBE
(CONTD)
179838 BOLY, 378" 18X1°{129001) ............... 1 1 1
103341 WASHER, 3/8" {12.8180} ..........o0oovvns 1 3 1
103320 LOCKWASHER, 5/16° (129200 ............ 3 1
103321 LOCKWASHER, 3/8° (12.8200).............. 1 1 1
120376 NUT, B/18"18 (12281200 ... .. ... oovenne. 1
JAN, 1580 PAGE 83 OF 2.5000A

COPYRIGHT 1880 GENERAL MOTORS CORPORATION



5 3 MPC ENGINES DETROIT DIESEL
2.3000A FUEL LINES

.................... TYPES . e
PART 8 8 8 9 9
RGO UNUMBER L L NAME AND DESCRIPTION . ... ..... g8 |88 |9j0]9]j0]8]1]|9
2i8l{1{8{72]0]|3}|0 11{6; 1
7 6 4 2
2.5080 - TUBE, STRAINER TO FUEL PUMP
4A £138197 * TUBEASSY. {DEV. L. B.25"} .. ... ......... t
a4A 5114860 TWBE ASSY. (DEV. L. 43.06"} .. ... .......... ki
5135909 TUBE ASSY. (DEV. L. 4356 ............... %
5121151 TUBE ASSY.IDEV. L. 45167} . ..., ... .. ...... b
5136025 HOSE (D16 LDXIS LY. . ... 1 1
143338 ELBOW, 378" INV. FL, TUBE 45 DEG.
(12.84B0) ... ... 1 1 1
193004 ELBOW, 3/8" INV. FL. TUBE 80 DEG,
(12,8480 ... ... ... e 2 2 k ’ %
5198558 BUSHING, RED. 3/8"X1/47 {22030 ...... ... 1
442323 CONNECTOR, 3/8" INV. Fl,. TUBE
(12.8460F ... .. ... e 1 1
5121182 PLUG, 174" PIPE{24015) .. ................ 4 1 1
* OBSOLETE, CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8580.
25060 - TUBE, FUEL PUMP INLEY
5133818 HOSELBO" LD X14" LY .. ... .. .., 1 1 1 1
444042 ELBOW, 378" STREET 80 DEG. {12.8580} ... .. H t 1 H
25070 - CLIP, STRAINER TO FUEL PUMP TUBE
aA 5177623 CLIP {3/8" TUBE} {2.5120} ... .. .. .......... 1
LY. 5160388 CLIP{3/B" TUBEY ... ... ... . . . . e, 1
5153473 CLIP {172 TUBEY (46040 .. ... ... ... ... t ]
51715089 CLIP {5/8" TUBEI (91891 .. ... ........... %
51156872 BUSHING, /4" X1 /2" X3/8" (271110 ... ..... t t
1866017 BOLY, 1/47-20X1 £/4" (1290014 ... ......... 1 t
25100 - TUBEL, FUEL PUMP TO FILTER
4A 5127817 TUBEMEV. L 9247 ... .. 1
4A B136628 *» TUBEDEV.L 988"} ... ... .. . ...t 1 1
445 51374859 *« TUBEDEV. L 1018") .. ... .. ... ... . 1 H
LYY 5138183 * TUBEDEV. L 24.70MSD-28) . .............. 1
44 5135908 TUBEEV. L. 431307 ... ... .. ... ... .. .. t
44 5109486 TUBEDEV. L4562 . ... ... . . .. i
an 5109487 TUBEMEV. L 4162 ... i, E
4A 5108189 * TUBE{DEV. L. O3S .. ... ... ... ........ 1
5179869 ELBOW, 3/8" TUBE SEALASTIC 8Q DEG.
12,8425 . 1
193004 ELBOW, 3/8" iNV. FL. TUBE 90 DEG. ’
(1284800 .. ... .. . z2{1]1112 35 11112
442323 CONNECTOR, 3/8" INV. FL. TUBE
(1284600 .. e 111 2 111
5179938 SEAL RING, 378" TUBE SEALASTIC
(12,9448 ... L 2
JULY, 1981 PAGE 80 OF 2.5000A

COPYRIGHT 1981 GENERAL MOTORS CORPORATION



DETROIY DIESEL 5 3 MPC ENGINES
2.800G0A FUEL LINES

,,,,,,,,,,,,,,,,,,,,, TYPES .0
PART 8 8 8 9
CEG L NUMBER L. NAME AND DESCRIPTION ......... sigiolsjoioloinjojo|1]e
zlaltioa|lrioi3joi7itlse]1
7 6 0 3 2 7
2.5100 - TUBE, FUEL PUMP TO FILTER
{CONT'D}
444690 PLUG, 1/4° PIPE (12,9550} . ... .. .......... _ 7
5179937 NUT. 3/8* TUBE SEALASTIC {12.9445} ... .. 2
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12 8550,
254120 . CLIP, FUEL PUMP TO FILTER TUBE
4a B110070 CLIFI3/8" TUBE . ... .. ..., 2
4A 5169119  CLIPI3/8" TUBE .. ... ... viirrenn.. 1 1 1
4A 5160338 CLIP {3/8" TUBE) . .o\ oo et 1
5112241 CLAMP {25070 ..ot 4 & 4
110502 BOLYT, #10-24X3/4° (12.8025) . ... ......... 3 3 2
186676 BOLT, 1/4*-20X5/8" {12.9001} ... ...... ... 1
179839 BOLT, 3/8°18X1 1/2 {12.8001) ... ...... .. 2
120392 WASHER, 1747 (12.8980) ... .. ... .. ....... 1
103341 WASHER, 3787 {12.9110) .. ... .......... ... 2
120217 LOCKWASHER, 210 MED, {12.89200) ... ... ... 3 3 2
103321 LOCKWASHER, 3/8” (12,8200} ..., .. ....... 2
110633 NUT, #1024 (128120 ... .. ... ... ... 3 3 2
25151 - TUBE, FILTER OUTLET
4A 6135126 * TUBE(DEV. L 10747 ... ... ... ... .. 1 1
4A 5134170 * TUBEMEV. L. 120677 ... ... oo i 1
aA B129176  TUBE(DEV.L 1218 ... .. ... . ... . ..... 3
5128282 * TUBE {DEV. L. 12.25°) (CAOSSOVERY ... ... .. 1
aA B13B162 * TUBEIDEV. L. $2.62°F . ... . i, 1
4A 5129623  TUBE(DEV. L. 12.68") ... ... ... ... . ... 1 1 1
5109204 * TUBE{DEV. L. 12.94°) RIGHT BANK) ... ... .. 1
BI135115 * TUBE (DEV. L. 24.74") (LEFT BANK} .. ........ 1
143338 ELBOW, 3/8" INV. FL, TUBE 45 DEG.
(12.8880) ... 1 1 1 111
5125447 ELBOW. 3/8" TUBE SEALASTIC 45 DEG.
($2.8428) ... 1 1 1 1 1
193004 ELBOW, 3/8” INV. FL. TUBE 80 DEG.
(V28480 .. ..o 21 112 11
B179936  CONNECTOR, 3/8” TUSE SEALASTIC
P12.8415) ... e 2b1i0
442323 CONNECTOR, 3/8” INV. FL. TUBE
PT2.8415) ... 1 1 1
51799368  SEAL RING, 3/8" SEALASTIC {12.9435) .. ..... | 1 1 2z} 1
5121182 PLUG, 1/4" PIPE{2.4018) .. .. ... ... ....... 1
5138291 TEE ASSY., 3/87(2.5100) ............ SO 1
5179937 NUT, 3/8" TUBE SEALASTIC (12.9448) . .. .. .. 1 21 1
» OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
|
JULY, 1981 PAGE 61 OF 2.5000A

COPYRIGHT 1881 GENERAL MOCTORS CORPORATION

IR



. F

45
4A
aA

45
4A

e e —

5§ 3 MPC ENGINES

PART
G ... NUMBER .. ..

2.8156 .

5110070
B1653473
179838
103341
103321

25160 -

5133802 »
5135899 »
8432248

A42323
178690

28210 -

5128016
5138797
5128283
5129242
5137980
5116440
5125447

" E N SR

5179969
193004
5172838

5128522
53179937

282185 .

5134687 *
5133830 -

2.5000A  FUEL LINES

CLIP, FUEL FILTER OQUTLEY TUBE

CLIP{3/87H{2.5120) ... ... ... cueiiniann.
CLIPI1/2V48040 .. .. .. ... ...
BOLY, 3/8"18X1" (12.8001} ...............
WASHER, 3/8" (128110} .. ................
LOCKWASHER, 3/8 {12.8200) ..............

TUBE, FILTER TO CYLINDER HEAD
FLEXIBLE

HOSE {10.50"LY(CROSSOVER) .. .. ... .......
HOSE {12 3/8"LI{CROSSOVER) ... ... ... ..
ELBOW, 5716 INV. EL. TUBE 90 DEG.

(32.8490} .. ...l
CONNECTOR, 3/B” INV. FL. TUBE

{128460) ... ... i
TEE, 3/8" INV. FLL TUBE (128460} . ..., ... ...
* OBSQLETE: CUSTOMER TO FABRICATE

FAOM BULK MATERIAL SHOWN IN

12,8550,

TURE., FUEL DRAIN

TUBEDEV. L. 10127 ... ..
TUBE [DEV. {. 17387} {CROSSOVER) .........
TUBE (DEV. L. 25.82°) [CROSSOVER) ... .... ..
TUBE (DEV. L. 2B.B87} (CROSSOVER} ...... ...
TUBE (DEV. L. 28.24" ., ... ... ......... ..
ELBOW. B/16 .. ... ... .. ... ... . .. ...
ELBOW, 3/8" BEALASTIC 45 DEG.

(129428 . L
ELBOW, 3/8” SEALASTIC 8C DEG.

(12.8428) ... .. .. ...
Ei BOW, 3/8" INV. FL. TUSE 90 DEG.

(329480 .. ... ...
SEAL RING, 3/8" SEALASTIC {12.9438} .. .. ...
EXTENSION, 3/8" INV. FL TUBE 2°L. ..., ... ..
NUT, 3/8" SEALASTIC [12.9448) . ... .. ... ...
* OBSOLETE: CUSTOMER TC FABRICATE

ig@al\gsﬁoi}t,!( MATERIAL SHOWN IN

HOBE, FUEL DRAIN

MOSE (1/47DXB 17271 ... o
HOSE (1/74°LD.X10 174 L) {CROSSOVER}) .. ...

MARCH, 198C PAGE

fa N T 5

62 CF

2.5000A
COPYRIGHT 1980 GENERAL MOTORS CORPORATION

———

LSRR )

[ —y

Y

oMM




53 MPC ENGINES DETROIT DIESEL
2.5000A  FUEL LINES
............. e TYPES e
PART B8 a8 B 9
LFIG ... NUMBER .. .......... NAME AND DESCRIPTION ......... gisiojslesiv|jois|oisi1]e
2|8i1i9|{7io|3i0|ri1i6}1
8 o 4 2 7
2.5215 . HOSE, FUEL DRAIN
{CONT'D)
4A B188063  HOSE (1/4"1D.X14"1). et 1 1 1 111
4A B118782  WOSE {1/471.DX14°L} (2.5210) ....... D 1
B128927  ELBOW, §/16* {RESTRICTED) (24001} ........ 1 1
9432248  ELBOW. 5/18” INV. FL TUBE 30 DEG.
TI294B0) ...t 1 1 1 1
143338 ELBOW, 3/8" INV. FL. TUBE 45 DEG.
(129480} ................... !
9432284  CONNECTOR, 5/18° INV. FL TUBE
(128680 ... .. oot iiinnans 1 1
129843  TEE, 5/18” INV. FL. TUBE (RESTRICTED) ....... 1 1 1
» OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
2.5220 - CLIP, FUEL DRAIN TUBE
4A BIT2241 CLIP .ottt et ar s 4
sA 3290483  CLPIS/18") .. 0o 1
4A 5110070  CLIP (3/8" TUBE (253200 ......... s 1
4A 5168001 CLIP {1/2" TUBE) (12,4098) ... ... ......... 1 11 1 1
132908 SCREW, #10-32X5/8° RD. HD, SL.
128028} .. .. it 2
179836 BOLT, 3/8-18X5/8" (12,9001} ............. 1
179839 BOLY, 3/8"16X1° (12.9001) ......... AR, 1
120392 WASHKER, 1/4” {12.9190) ..., e 1
103341 WASHER, 3/8% {12.9190) 1
120217 LOCKWASHER, #£10 (12,9200} . ... .......... 2
103321 LOCKWASHER, 3/8° (129200} .............. 111
120814 NUT, #10-32 (12,8120} ... ..o, 2
JAN., 1880 PAGE 83 OF 2.5000A

COPYRIGHT 1980 GENERAL MOTORS CORPORATION



g 3 MFPC

PART

ENGINES

2.85000A  FUEL LINES

G L ONUMSBER L. L NAME AND DESCRIPTION . ........

2.5050 - TUBE STRAINER TO FUEL PUMP

4A 5136746
4A 5124847
44 51211489
5139672
5136633
143338
137425
5176522
442323
431538
5176624

5176823

2.5070

44 5177623
44 5160388

2.8300

44 5108529
44 5136781
44 5134903
AA 5134897
4A 5108445
4A 5137493
4A 5130688

5179969

1830604

5140350
442323

51799338
5179937

e e——

L

TUBE ASSY. (DEV. L. 11,847 .. ... ... .......
TUBE ASSY. (DEV. L, 34367 ... ..........
TUBE ASSY. (DEV. L. 38.78%) ...............
HOSE {#8X147L) ... . . . L
HOSE(#BX18.80 Ly ... ... . .. ... ......
ELBOW, 3/8" INV, Fi. TUBE 45 DEG.

(129480 . ........ .. .. .. P
ELBOW, 1/2" INV, ¥i. TUBE 90 DEG.

(12,9480 . ...
ELBOW, 1/2° TUBE SEALASTIC

{32.8428) ... ...
CONNECTOR, 3/8° INV. FL. TUBE

{129480) ..., .. ... ... ..ol
CONNECYOR, 1/27 INV.FL. TUBE

f12.9480) ... ... ... ... ... ...
SEAL RING, 1/2° TUBE SEALASTIC

$12.84358) L

NUT, 1/27 TUBE SEALASTIC (12,8445} . ... .,
* OBSOLETE CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
$2.8550.

CLIP, STRAINER YO FUEL PUMP TUBE

CLIP(3/8" TUBEY(26120) ... ... ......... .
CLIP {3/8” TUBE)

TUBE, FUEL PUMP TO FILTER

TUBEIDEV. L 12407y ... ... . o
TUBE {DEV. L. 20.58") .. ..
TUBEDEV. L 3034 ... . ... .. L
TUBE(DEV. L. 36,227 .. ... ... . .....
TUBE(DEV L %2687 ... ... ... .. ... .. ..
HOSE (#8X10.507L342.5148) ..., ... ....,
HOSE (5/16"X17. 250125218 ... ... ... .
ELBOW, 3/8" TUBE SEALASTIC 30 DEG.

(12.8428) ... ... ... ... ... ...
ELBOW, 3/87 INV. FL. TUBE 30 DEG,

(1294800 .. ... ... ... L
ELBOW, 3/8° BRASS 90 DEG. (2.5250;
CONNECTOR, 3/8" INV, FL. TUBE

(12.9460) . ... . ... ... .. ............
SEAL RING, 3/8" TUBE SEALASTIC

{12.8445y L
NUT. 3/8" TUBE SEALASTIC {12.94458) . ...
* OBSOLETE: CUSTOMER TO FABRICATE

FROM BULK MATERIAL SHOWN IN

12,8550,

AUG., 1580 PAGE

DETROIT DIESEL

P PAREERAPRIEER
1 3193
8223 3
4
1
1
1 1
1 1
1 1
1 1
1
1
4
1
1 t]
1 1
1
1

64 OF 2.8000A

COPYRIGHT 1880 GENERAL MOTCRS CORPORATION

TYPES
9
419
114

5
1

1
1
111
1

1
112
1

g 9

4 -]

gid4| 2
1
1
1
¥
1
1

1

i 1

1 1

%

1 t

1 $




5 3 MPC ENGINES DETROIT DIESEL
2.5000A  FUEL LINES

..................... TYPES ...
PART 9 8 ) 9 9
CFIG . NUMBER ... ... ... .. NAME AND DESCRIPTION . ........ 1i9[3j9|3|8|4]9]a 5
sl2 2i3]s|3j1i4|Blalz
5
25110 . TUBE, FUEL PUMP TO HLTER FLEXIBLE
5131830  HOSE 5/16" LD X 27507 L ............... 1
193004 £LBOW. 3/87 INV. Fi.. TUBE 90 DEG.
(12.8480) ..o 2
2.5%20 - CLIF, FUEL PUMP TO FILTER TUBE
4A 5151883  CLIP{3/8" TUBE) ... ..t 1
5112241 CLAMP (2.5070) ..\ttt 6 6
110502 BOLT, #10.-24X3/4" (12.8028) ... ......... 3 3
120217 LOCKWASHER, #:10 MED. (12.92004 ......... 3 3
110633 NUT, #10:24 £12.9120) . .. oo 3 3
25151 - TUBE, FILTER OUTLET
4A 5109855  TUBEDEV. L. 889 ... ..o vvn .. 1 :
5128282 * TUBE IDEV. L. 12.25°) [CROSSOVER} .. ....... 1 1 1 1]
4A 5129623  TUBEMDEV. L 12.6B" .. ... . ... ... 1
5132698 + TUBE DEV. L. 13.54 {CROSSOVER} .. ......... 1
6129240 * TUBE DEV. L. 13.04 {TO RIGHT BANK) ... ..... 1
5140624 * TUBE{DEV. L. 1B.10") .. ... oveeennnnnn.. 3
5129232 * TUBE {DEV. L. 25.30) (TO LEFT BANK) ........ 1
143338 ELBOW, 3/8" INV. FL. TUBE 45 DEG.
TI2B4BO) ..o 1
5125447 ELBOW, 3/8" TUBE SEALASTIC 45 DEG.
(128825 ..o e 1 1 3 111
193004 ELBOW, 3/8° INV. FL. TUBE 90 DEG.
(12.84B0F o0ttt 1 2
5179969 £1.BOW, 3/8” TUBE SEALASTIC 90 DEG.
(12.9425) ... et 1
5179936  CONNECTOR, 3/8° TUBE SEALASTIC
(12.841B) .o r e 5 1 28111141
442323 CONNECTCR, 3/8* INV. FL. TUBE
(Y2.9415) .0 i 1
5179938  SEAL RING, 3/8" SEALASTIC {12.9435} . . .. ... 2 2 212 213
5138291 TEE ASSY., 3/87 (251000 .. ... ... ... ... 1 -
E121182  PLUG, 1/4° PIPE (24015} .. ..., 1
5179937 NUT, 3/8" TUBE SEALASTIC (12.9445) ... ..., 2 2 212 213
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
2.5158 . CLIP, FUEL FILTER OQUTLET Tust
BIB4789  CLIPB/B") ..t 1
5131219  BRACKET, CUP{4.5004) ... .. ...\, 1
1234385 BOLT, 1/4".28X5/8" (12.9001) _............ ; 1
120382 WASHER, 14" {12.8110) ... ... . .. ... 1
JULY, 1981 PAGE 65 OF 250004

COPYRIGHT 1981 GENERAL MOTORS CORPORATION



HG L

14
1A
1A
1A
A

MPC ENGINES
2.5000A FUEL LINES
PART
NUMBER ......... ... NAME AND DESCRIFTION .........
2.5186 - CLIP, FUEL FILTER CUTLET TUBE
{CONT D)}
103319 LOCKWASHER, 1/4" (1282000 .. .......... .,
121902 NUT, 174728 1281200 ... ... .. o as.
2.5180 - TUBE, FILTER TO CYLINDER HEAD
FLEXIBLE
5131858 HOSEMT78 L) .. ... ... ... ... .,
5139671 HOSE{1GBQ LY . .. ... . ... ... o il
5131817 HOSE {18 8/187L.) ... ... .. . .. . iy
5125801 HOSE (37 $/4"L). . ... .. ..
190367 ELBOW, 1/47 STREET 80 DEG. {12.8590) ... ..
183004 ELBOW, 3/8° INV. EL. TUBE 80 DEG.
{12.948C) . ... ... i
143338 ELBOW, 3/87 iINV. Fl. TUBE 45 DEG.
f12.9480; ... ... o oo
A42323 CONNECTOR, 3/8" INV. Fl. TUBE
(12,8460 . ... .. ... ..l
25180 - CLIP, FILTER TO CYLINDER HEAD TUBE
5168001 CUP(1/2M{124088) ... ... . ... L Ll
5171509 CLIP{B/B7)BIB8Y) ... .. i
5184789 SPACER, 13/32°X7/87{54025) ... ..........
5114551 TAG, CABLE({7.4545) ................ .. ...
187431 BOLY, 3/87-16X5 1/2° (12900 .......... ..
25210 - TUBE, FUEL DRAIN
5128016 *TUBEDMEV.L 10127 ... .. ...
5132872 * TUBEDEV. L 13.32°1{CROSSOVER) .........
5128283 * TUBE(DEV. L. 25.82") (CROSSOVER} .........
5129242 » TUBE(DEV. . 25.88°{CROSBOVER) ....... ..
5128867 TUBE (DEV. L. 30.00°} FUEL RETURN) ... _. ...
5116440 ELBOW, 6/16" RESTRICYED . ...............
5125447 ELBOW, 3/87 SEALASTIC 45 DEG.
(12.8425) . ...
5179969 EL.BOW, 3/8" SEALASTIC 90 DEG.
{12.9425; ... ..
5179936 CON’;E;:TOSH. 3/8" TUBE SEALASTIC
£12.8445) .. ..., . L
5113322 CONNECTOR, 1/2°-20 (2.8218) ..., .........
5179938 SEAL RING. 3/8” SEALASTIC {12.9438) .. .., ..
5188294 FITTING, 1/2"-20 SPECIAL MOSE

BIYOO ..

MARCH, 1980 PAGE

9
1
82
1
66 QF

2.5000A

COPYRIGHT 1980 GENERAL MOTORS CORPORATION

9 ...................
41956
8314
8
H
1
H
1
1
2
1
1
i
1
T
1
TP
IR
1{1]¢
27212




DETROIT DI1ESEL &8 3 MPC ENGINES
2.5000A  FUEL LINES

................... TYPES .. ...
PARY 8 9 9 g g 9
EHG L ONUMBER L. L NAME AND DESCRIPTION .. ....... 1{81319(3(9|4j94195
B2 3 31114 4
8 4 ) 5 S
25230 - TUBE, FUEL DRAIN {CONT'D)
5179937 NUT, 3/8" SEALASTIC (12.9448) .. ... .. .... 2 2 23123241212
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550
2.5212 - COOLER ASSY. FUEL
5736348 COOLER ... .. .. . e 1
25214 - TUBE, FUEL COOLER
5110373 HOSE (2"1D.X3"L3{86.3330) ............. ... 2
8920537 CLAMP {1 8/16"X2 /2" DIA. HOSE}
(129680) ... ... ... 4
252156 - TUBE, FUEL DRAIN FLEXIBLE
44 5186063 HOSE(1/4"1D.X94"1) . .. ..o o H t i 1
4A 5162801 % HOSE{1/4°1LDX22°0L) ... ... e i
4A 5124392 HOSE (5716 LD.X1B L {26010} ............ 1
* OBSOLEYE; CUSTOMER TO FABRICATE
FROM BLLK MATERIAL SHOWN IN
12,8550,
25220 . CLIP. FUEL DRAIN TUBE
4A 5151883 CLIP{3/8 TUBEY ... ... ... ... ... .... H 1
4h 5170860 CUP(1/2" TUBEH{4.6040) ... .............. 1 1 1
4A 5171509 CLIP (5/8" TUBEY{8.15681) .., ... ........... 1
44 5112241 CLAMP (285070} .. ... ... ... ... vit v, 4
5185432 CLAMP _ 4
5114569 TAG CABLE(T.45845Y ... ... ..., .......... 2 2
132908 SCREW, #10-32X8/8" RD. HD. SL.
{32902B) ... .. .. . ... e 2 4
179835 BOLT, 3/8°.18X8/8" {12800 ........... .. 1 1 3
179839 BOLT, 3/8"- 16X (12900% .., ... ......... 1
1033414 WAEBHER, 3/87{12.8190) .................. i
120217 LOCKWASHER, 3101128200} .. ............ 2 4
103321 LOCKWASHER, 3/8" {12.8200}.............. H t]t31
120614 NUT, #1032 (128120} ......... .. ... ..\ 2 4
25260 . VALVE, FUEL SYSTEM SHUT-OFF
5138989 * VALVE ASSY. (6 PORT-3 WAY} (2.6080) . ...... 1
* OBSOLETE
JULY, 1881 PAGE 67 OF 2.5000A

COPYRIGHT 1881 GENERAL MOTORS CORPORATION

—



C.FH3 ... NUMBER

1A
4A
A
A
44
4A

1A
$A

1A
1A

T T SRR S e—"

5

3

M P C ENGEINES

FART

2.8050 -

5179513
5121148
5124547
5121076
5121081
5137074
5136633
442323

431538
143338
193004

25070 -

5177623
5160388

25100 -

5134800
5134887
5134901
5121081
5136608
5130688
5136025
5137387
5131840
442323

183004

*

*

25120 -

5160388
53133108
B1T7623
5153473
5127861

2B5000A  FUEL LINES AND FUEL COOLER

FUBE, STRAINER TO FUEL PUMP

TUBE ASSY. (DEV. 1L 39.32") .. ... ..........
TUBE ASSY. IDEV. L 38767 ...............
TUBE ASSY. (DEV. L. 34.36" ...............
TUBE ASSY. (DEV. L, 12.50" ...............
TUBE ASSY. DEV. L 21.28% ... ... .. .......
TUBE ASSY. (DEV. L. 40007 ...............
HOSE (#BXIB.50" L) .o,
CONNECTOR, 3/8" INV. FL. TUBE

(1284601 ... ... ..,
CONNECTOR, 1/2° INV. FL. TUBE

(128480} ... ..
ELBOW, 3/8* INV. BL. TUBE 45 DEG.

(12,8480} ... ... .
ELBOW, 3/8 INV. FL. TUBE 90 DEG.

(128680} ... ... .. ...

CLIP, STHAINER TO FUEL PUMP

CLIP (3/B" TUBE) (25170} .................
CLIP {3/87 TUBE} (2.5070} .. ... ...........

TUBE, FUEL PUMF 1O FILTER

TUBE(DEV. L 38227 ..
TUBE {DEV. L. 36.227)
TUBE {DEV. L. 30.34")
TUBE {DEV. L. 21.28")
TUBE (DEV. L. 3750 ... ... .. 0.,
HOSE {B/16".D.X17 1/4"L} (25215} . ... .. ..
HOSE (5/1671LD.X19" L} {2.5060) ............
HOSE (F6X33" L) 00\t
HOSE {(8/1671.DX25 1/4" L) ...............
CONNECTOR, 3/8" INV. FL. TUBE

(12.8460) ... 0ottt
ELBOW, 3/8" INV. FL. TUBE S0 DEG.

(Y2.8480) ., . i
* OBSOGLEYE; CUSTOMER TO FABRICATE

FROM BULK MATERIAL SHOWN IN

12.8550.

CLIP, FUEL PUMP TQ FILTER HOSE

CLIP (3/8" TUBE} {2.5070}
CLIP (3/8" TUBE)
CLUPIS/Z8"TUBEY ... ... ... ... oo
CLIP (1/2° TUBEH4.B040F ... ... ... .. ......
BRACKET, CilP {7.1887)

JULY, 1882 PAGE

8 8 8
5 69|86
TIBIOI6]7
4
1
1
1
i
1
181481 i
2
1P 1]
21212
I B
1
t
H
1
1
21141 1

68 OF 250004

COPYRIGHT 1882 GENERAL MOTORS CORPORATION

DETROLIY DIESEL




LFG L NUMBER

4A
LY.
44

4A
44

5 3

MPC ENGINES

PART

25120 .

5112241
5196119
110602

1866712
454906
186627
120217
103321
110633
117049

25157 .

5134070 =

5129623
5125319
128282
5136163
136693 »
5138218
5137482
A42323

5379936
1893004
143338
5125447
5179938
$179837

L

251868 .
5171509

25160 -

£131568 =
£132278
442323

2.5000A  FUEL LINES

CLIP, FUEL PUMP TO FILTER TUBE .
{CONTD}

CLAMP (25070} .. ... vveieeennnn,
SPACER(3.4001) .. . oo vr e,
SCREW, # 10-24X3/4" RD. HD. SLTD.
1928025} ... .. ...
BOLT, 3/8".16X1 3/8" (12.8000) ... ..... ...
BOLT, 3/87-16X1 1/2° {12.8001) . ...........
BOLY, 3/8”-24X1° (12,8001} ...............
LOCKWASHER, %10 (12.8200). .. ...........
LOCKWASHER, 3/8" {12.9200}. . ............
NUT, #10-24 {12.8120) ........ooovnunn...
NUT, 3/8"-24 (129120} .. .................

TUBE, FILTER OQUTLEY

TUBE(DEV. L 3015 .o
TUBE (DEV. L. 12.88") ... .. ... ... ..........
TUBE(DEV. L 1950 ... ... .. ..
TUBE [DEV. L 12 1/4") (CROSSGVER} .... ...,
TUBE(DEV. L 25.86") ... ...otirtrnnenn.s
TUBEDEV. L 8.52%) ..ot
HOSE (387 b vt v
HOSE19.50" L 0ottt i
CONNECTOR, 3/8° INV. £L. TUBE

28815} ..
CONNECTOR, 3/8° TUBE SEALASTIC

(128815 .\t e e
ELBOW, 3/8° INV. £, TUBE 90 DEG.

PY2.8680) . ...
ELBOW, 3/8" INV, FL, TUBE 45 DEG.

(Y2.8480) ... ..
ELBOW, 3/8" TUBE SEALASTIC 45 DEG.

(12.8425) . .. .
SEAL BING, 3/8" TUBE SEALASTIC

(12.8435) . ..
NUT, 3/8" TUBE SEALASTIC (12.9445) , ., . ...
= NOT SERVICED; USE 5129623 PLUS

{1} 137407 CONNECTOR.
* OBSOLETE; CUSTOMER TO FABRICATE

t:r;%ngsaouz.x MATERIAL SHOWN IN

CLIP, FUEL FILTER QUTLEY TUBE

CLIP {5/8" TUBEH{S68Y) ... ... ..., .....
TUBE, FILTER TO CYLINDER MEAD
FLEXIBLE

HOSE (3/8°1.DX3 3/4°L) .. ... ... ...
HOSE(BN6"LDX24 3/8"Ly ................

CONMECTOR, 3/8* INV. £L, TUBE
(12,9460

MARCH, 1980 PAGE

g
51916
rTi810
9
41814
213} 2
21312
21312
%
H
3
i
211

€2 OF 2.5000A
COPYRIGHT 1880 GENERAL MOTORS CORPORATION

DETROIYT DHESEL

9
8:9:18
4tgj6l8
5
-]
3
3
i
3
1
1
3 1
3
1
2721291
H 2

—



& 3

MFC E

PARY

CFIG (L NUMBER L

A
1A

in
1A
tA

i
iA

[ T T e e —

25160 -

196367
143338
442323

25210 -

32809895
5128283
5136132
5116440
51789869

* 4

5125447
5179938
5179937

25216 -

5136732
5186063
5124392
4252560

5114551

28220 -

5181883
140582
179835
103321

NGINES
2.5000A  FUEL LINES

TUBE, FILTER TO CYLINDER HEAD
FLEXIBLE (CONT'D)

ELBOW, 1/4" STREET 90 DEG. BRASS

(1295800 .. e e e
ELBOW, 3/8" INV. FL. TUBE 45 DEG,

F12.88B0) ..o et
ELBOW, 3/8" INV. FL. TUBE 90 DEG.

(129480} ... ... ... .. ... ...
* OBSOLETE: CUSTOMER TO EABRICATE

FROM BULK MATERIAL SHOWN IN

12.8550.

TUBE, FUEL DRAIN

TUBEDEV. L. B.OG™Y ...,
TUBE (DEV. £ 25.82") {CROSSOVER) .........
ADAPTOR, 1/4" RESTRICTED ...............
ELBOW, 5/16” RESTRICTED ... .............
ELBOW, 3/8" TUBE SEALASTIC 90 DEG.
(129425} .. e
£LBOW, 3/8° TUBE SEALASTIC 45 DEG.
(128428} ., .,
SEAL RING, 3/8” TUBE SEALASTIC
(1284835} ..., e e
NUT, 3/8° TUBE SEALASTIC (12.9445) ... ....
+ OBSOLETE.
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.

TUBE., FUEL DRAIN FLEXIBLE

HOSE ASSY. (B X20°LY . .o e
HOSE ASSY. {(174"X147L) .. ...
HOSE ASSY. {5/16"X15.00°L) (26010} . ... ...
CONNECTOR, 5/16"X1/4” NPT,

{12.8860) ... ...
TAG, CABLE (7.4545) .. ... . .. .

CLIP, FUEL DRAIN YUBE

CLIP (3/8" TUBE} (25070 .................
CLIP {1/2" TUBE}{12.8630} ... ......,.. w
BOLT, 3/8"-16X6/8" {12.9001) .............
LOCKWASHER, 3/8" (12.8200)

JULY, 1981 PAGE

70 OF 2.5000A

COPYRIGHT 1981 GENERAL MOTORS CORPORATION

BETROIT D

ESEL




DETRO'YT DIESEL 53 MPL ENGINES
2.5000A FUEL LINES AND FUEL COOLER

e TYPES .. vttt
PART ) SETFT]TEE 13111111
LFG L. NUMBER .. ... ......, NAME AND DESCRIFTION ......... giglsjoiclojoioiclojo
4l ciofof{1ft{111]1
8 slai7ioj2]|3lals
25010 - HOSE, FUEL SUPPLY TO STRAINER
5171337  HOSE(3/8" X 300" FLEX)} .\ ovinirinnnnnan. 212
2.5050 . TUBE, STRAINER TO FUEL PUMP
4A 5141351  TUBE ASSY. (DEV. L. 9.80%) ... ............ 1
aA 5136746 * TUBE ASSY.{DEV. L. 11847 .. ... .. ........ 1
5135909  TUBE ASSY. (DEV. L. 43.56" ............... 1
5121182 PLUG, 1/4° PIPE (2.4018) . ... ............. 1
431538 CONNECTOR, 1/2° INV. FL. TUBE
(1294801 ...ttt et 1
143338 ELBOW, 3/8” INV. Fl. TUBE 45 DEG.
(12.84B0) ..ot et 1
193004 ELBOW, 3/8" INV, FL. TUBE 80 DEG.
12.8480) ..o 1 2
9432249  ELBOW, 3/8” INV. FL. TUBE 90 DEG.
(12.9680F .. 0o e 1
5138299  ELBOW, 1/2" TUBE SEALASTIC 80 DEG.
284280 ... s 1
176524  SEAL RING, 1/2" TUBE SEALASTIC
(12.8435) ., ... ... 1
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12,8550,
25060 . HOSE, FUEL PUMP INLET
5199575 % HOSE. BULK #6 {CUT L. 8.57) (12.8550} ... ... 1
B139084 * HOSE (#£8X10 1/2°) .. ... o0 1
B133918  HOSE {BO'LDXYA™LY oo oo - 1 1
6199579  FITTING, #6 HOSE (STRAIGHT) (12.8852) . .. . 2
442330 CONNECTOR, 3/8" INV. FL. TUBE
(129460} ... ...\t 1
442332 CONNECTOR, 1/2" INV. FL. TUBE
(I2.8880) ..ot 1
190367 .+ ELBOW, 1/4° STREET 90 DEG. {12.6550} ... .. 1
444042 ELBOW, 3/8" STREET 90 DEG. {12.9550} ..... 1 11
9432249  ELBOW, 3/8” INV. FL. TUBE 80 DEG.
112.8480) ... . e 1
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.B550.
+ USE WiTH 5130689 HOSE,
% BULK HOSE, CUT TO LENGTH SHOWN.
2.5100 - TUBE, FUEL PUMP TO FILTER
4A 5141346  TUBE(OEV. L 13.86%) ... oieeernnrn,.. 1
4A 5136781 * TUBEDEV. L. 2088") .. ... ............... : 1
4A B136628 * TUBE(DEV.L 8.68") ... ... ......0.0.oooo .. 1
&A 5109488  * TUBE (DEV. L. 41.627) .00 ovvennn, 1
JULY, 1982 PAGE 71 OF 2.5000A

COPYRIGHT 1982 GENERAL MOTORS CORPORATION



JFIG L. NUMBER

1A

§A

1A
iA
LT

5

3

MPC

FART

2.5100

5136908
5131829
5137492
AA2323

193004
5138298
5179938

25120

5177623
5169118
5112241%
110502

120217
110633
25151
5129823
£128282
5141266
5140824
5134170
5137492
5137493
442323
531799386
1893004
143238
5138293

51382088

ENGINES
2.5000A

- TUBE, FUEL PUMP TO FILTER
{(CONT'D)

* TUBE(DEV. L. 41.30°) ... ... ... .. ... ... ..
FHOSEG/GTLEX127 LY .. 0o
HOSE (#6X8.50"L) . ... ... ... ... ol
CONNECTOR, 378" INV. L. TUBE
(12,8480 ... ... L e
ELBOW, 3/8" NV, FL. TUBE 80 DEG.
(1284807 . . .. ... ... L
ELBOW, 3/8" TUBE SEALASTIC 90 DEG.
{12.8425) ...
SEAL RING, 3/8° TUIBE SEALASTIC

(12.8435) .. ....ooiii _

* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.

# NOT SERVICED, USE 5188575 HOSE
AND {2) 5199579 FITTINGS,

- CLIP, FUEL PUMP TG FILTER HOSE

CLIP (/8" TUBEL ... e,
CLIP (3/8" TUBE) .. ..o veee oo,
CLAMP (25070} .. ...,
SCREW, # 10-24X3/4" RD. HD. 171D
(128025} ... i,
LOCKWASHER, #£10 {12.9200) . .............
NUT, #£10-24 (12.9120) ... .. ............

- TUBE, FILTER OUTLET

TUBEDEV. L 1268B") ... . . .
* TUBE {DEV. L. 12 1/47) {CROSSOVER) ........
TUBE{DEV. L 23527} ... ... il
FTUBEDEV. LIBI0"Y .. L
*TUBE DEV. L. 12.08%) ... oLl
HOSE(EBO L) . ... . . i,
HOSE{1OB0" LY .. ... ... . .. ... ... ...
CONNECTOR, 3/8° INV. Fi.. TUBE
{12.9418) ... .. ... .
CONNECTOR, 3/8" TUBE SEALASTIC
(12.9415) . .. .,
ELBOW, 3/87 INV. FL. TUBE 80 DEG, .
§12.9480y ........... ... ... IR
ELBOW, 3/B" INV, FL. TUBE 45 DEG.
{12.8480y .. ... ...l oL
ELBOW, 3/8" TUBE SEALASYIC 45 DEG.
(12.94285) .. .. L.,
ELBOW, 3/8" TUBE SEALASTIC 830 DEG.
{(12.8438) ... . ...

JULY, 1982 PAGE

FUEL LINES AND FUEL COOLER

9 St114i1
gi2i8/010
419{7{010
6 34
1
Ty
3
1
i
1
1
b
1
1
1
112
t
3
1

72 OF 2.50G00A

COPYRIGHT 1987 GENERAL MOTORS CORPORATION

DETROGIT DIESEL

Rads b

Wby s




DETROIYT DIESEL 5 3 MPL ENGINES
2.8000A  FUEL LINES AND FUEL COOLER

.................... TYPES .. s
PART Y YN EE R R E RN R R
CFIG L NUMBER ... L NAME AND DESCRIFTION ... ..... glejsiojojoeliofoloijo]o
alogl7icloiolri1[t1111
& ajal7iojz2|314]5
2.8151 . TUBE, FILTER OUTLET
(CONT'D)
5979938  SEAL RING, 3/8" TUBE SEALASTIC
(128438 L0ttt 3§
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
25156 . CLIP, FILTER OUTLET TUBE
BI31219 CLPMB00A) ... ottt aeann. 1
5131190  CLIP{3/B2B120) ... 0ot ann. 2
BIBATEE CLIPIS/E™ .. o et e e e e 1
179839 BOLT, 3/87.16X1" {12.800%) .. ... ... ... .... 2
123435 BOLT, 1/47-28X5/8" {12.8001} . ............ 1
303341 WASHER, 3/8" (12.8180) ._................ 2
103319 LOCKWASHER, 174" {12.8200}. . ............ 1
103321 LOCKWASHER, 3/8" {12.8200) .. ............ 2
121902 NUYT, 174724 T12.8120% .0 iinn e, 1
2.5160 - HOSE, FILTER TO CYLINDSR MHEAD
5135898 * HOSE {12 3/8"L){CROSSOVER} ............. 1 1
5133802 * HOSE (5/1671.D.X10 1/2" L}
CROSSOVER) .. ...ttt e, 1
178690 TEE, 3/8% NV, FL. TUBE {12.8460} .. ......... 1 1
343338 ELBOW, 3/8° INV. FL. TUBE 45 DEG,
(Y2.8480) ..t e 2
* OBSOLETE: CUSTOMER TO FABRICATE
EROM BULK MATERIAL SHOWN IN
12.8580.
2.5210 . TUBE, FUEL DRAIN
4A 5128283 * TUBE (DEV. L. 25.82°} {CROSSOVER) ...... ... 1
5116440  ELBOW, 5/16° RESTRICTED .. ... ........... B N R I i1l
5138208  ELBOW, 3/8" TUBE SEALASTIC 90 DEG.
V2.9825) . . e e 1
5138293  ELBOW, 3/8* TUBE SEALASTIC 45 DEG.
(Y29425) .. . e 3
5179838  SEAL RING, 3/8° TUBE SEALASTIC
(TZ.8435) ..o 2
*+ OBSOLETE; CUSTOMER TO FABRICATE
FROM 8ULK MATERIAL SHOWN IN
12.8550,
JULY, 1982 PAGE 73 OF 2.50004

COPYRIGHT 1882 GENERAL MQTORS CORPORATION




DETROIT DIESE L

L HG

a5
4A
4a
4A

4A

44
4A
4A

PART

... NUMBER . |

25215 -

6136732
5186063
5136299
5138287

5137863
9432264

* =

118752

111644
5129843
143337

183004

2.5220

5168001
5170869
5171509
5124849
186282

+

2.6260 -
5i3po8e »

180120
103321

25270 -

8138496 -
180120

2.5000A FUEL LINES

HOSE, FUEL DRAIN

HOSE ASSY. (5"X20°L) . ... .. o i
HOSE ASSY. {1/4"X14"L} . ... ... ... ...,
HOSE ASBSY. (B/16"X22207 L) .. ....... ...
HOSE ASSY. (#8X37 1727 L)

fCROSSOVERY .. .. ...
HOBE ASSY. (#SX24° L} . ... ... ... ... ..
CONNECTOR, 5/16" INV, FL. TUBE

(32,8480 ... L
CONNECTOR, 3787 INV, FL. TUBE

f12.9448 .. .. Lo L.
COUPLING, 3/8"X1/47 {1293580} ... .........
TEE. 5/16" INV. EL. TUBE (RESTRICTEDY . .. .. ..
ELBOW, 5/16° INV. FL, TUBE 45 DEG.

128480 .. ... .. ...l
ELBOW, 3/8* INV. Fl.. TUBE 30 DEG.

(128480 .. ... .. .. ... ... 0 000
* OBSOLETE: CUSTOMER TO FABRICATE

ig%&gsBQULK MATERIAL SHOWN N

CLIP, FUEL DRAIN TUBE

CLIP {1/2" TUBE)} (12.4095)
CLIP {1/2° TUBEI{4.6040) .. ... ........ ...
CLIP (5/8” TUBE} (9.188Y) . .............. ..
SPACER (7.4538) ... ... ..o
BOLT, 3/8°-16X3 1/4” {12.8001)

VAILVE, FUEL SYSTEM SHUT-OFF

VALVE ASSY {6 PORT - 3 WAY} {2 6080}
BOLT, 3/87-16X3/4" {12.9001)
LOCKWASHER, 3/8" {12.9200
* QBSCLETE

SUPPORT, FUEL SYSTEM SHUT.OFF
VALVE

BRACKET ... .
BOLT, 3/87-16X3/4" {12.9001)
+ OBSOLETE.

MARCH, 1980 PAGE

74 OF  2.3000A

COPYRIGHT 1380 GENERAL MOTORS CORPORATION

MPC
TYPES
11111
0:0]0
1:1]1
G 213

ENGINES

111
970
111
41 5
H
HE I
i
1
1
2

—_— s




5 3

MPC E

PART

EHG L NUMBER

44,
4A

44
44

AA
4A

44

44
44
44

25010 -

5171337
5143364 »*
137425

188947

285050 -

5133829
5137959
5136633
5136232
5143372
5142045
5121151
2310225
442323

118750
A31538

2041308
143338

183004
137425

5198658
5121182

*

25070 -

8177623
5160388
5151189
5127861
iBO120
212473

NGINEES
250004

HOSE, FUEL SUPPLY TO STARAINER

HOSE (3/8°X3007) .. 00t iaan
HOSE {(#8 X111 {25008 ... ... ....vuvrnnn,
ELBOW, 1/2* INV. FL. TUBE 80 DEG.

(128480} ..o iuiiit it
£LBOW, 1/2" INV. FL. TUBE 80 DEG.

83020} ... ..
* OBSOLETE: CUSTOMER TO FABRICATE

FROM BULK MATERIAL SHOWN IN

12.8580,

TUBE, STRAINER TO FUEL PUMP

HOSE (EEX50" L) .o vt
HOSE (EBX10” LY .o
HOSE(HB X 18 1/270L) <\ vvveeerinnnnnn s,
HOSE (#6X14" L}{2.5148) .. ... ...........
HOSE {#8X43 3/47 L) .. ... o0
TUBE DEV. L 8.70") ..o,
TUBE(DEV, L 48,967 ... .................
CONNECTOR, 1/4° PIPE (2.8890) ... ...... ...
CONNECTOR, 3/8° INV. FL. TUBE

PI28480F ... .. ou e
CONNECTOR, 3/8° INV. FL. TUBE

(1294600 ... ... ...,
CONNECTOR, 1/27 INV. FL. TUBE

P12.8460F ... 0.0
ELBOW, 1/4" PIPE 45 DEG. {12.8480) ... .....
ELBOW, 3/8* INV. FL. TUBE 45 DEG.

PI28480) .. ... e
ELBOW, 3/8" INV. FL. TUBE 90 DEG.

11294880V .. 000t et
ELBOW, 1/27 INV. FL. TUBE 90 DEG.

I29880F ...ttt
BUSING, RED, 3/8" X 1/4° (220301 .........
PLUG, 178" PIPE (24038} .. . .. .. .. .......
* OBSOLETE; CUSTOMER TO FABRICATE

FROM BULK MATERIAL SHOWN IN

12.8550.

CLiP, STRAINER TO FUEL PUMP

CLIP, 3/8" TUBE {2.5120)
CUP B/B TUBE ... ... . . i
CLIP, 3/4" TUBE{4.8040} ... ...............
BRACKET{ZAB8B7)......... ... vin .
BOLT, 3/8".16X3/4 (1229001} .............
BOLY, 3/8°-16X3 7/8" {12800 .. ..........

JULY, 1982 PAGE

FUEL LINES AND FUEL COQOLER

78 OF 2.5000A

COPYRIGHT 1982 GENERAL MOTORS CORPORATION

DETROIT DIESEL

—_— ki W




53 M¥PC ENGINES DETROIT DIESEL
2.5000A  FUEL LINES

..................... TYPES . .
PART IER N EEEREREEEEEEEEEREE
LFIG .. NUMBER ... ... ... .. NAME AND DESCRIPTION ... ...... clojofojoiolojo|ojotri
212i21314:4 171718195010
2]3ja|3jols|oisajel7it]3
25070 . CLIP, STRAINER TO FUEL PUMP TuBE
{CONT'D)
192883 BOLT, 3/8°-16X5" (128001} ............... 1
103321 LOCKWASHER, 3/8” {12.8200) ... . ... ....... 2
123221 NUT. 3/8"16{3129120) ... .. ... ........ 1
25100 - TUBE, FUEL PUMP TO FILTER
AA 5127817  TUBEIDEV. L824 ... ... ... . . ....... 1
3A S137939 * TUBEIDEV. LL1B5O .. ... ..ot 3
4p 5142644  TUBE (DEV. L. 19.26") .. ... .0 veruronnnn.t. 1
4A 5121081 TUBE DBV, L 2928 .. ... ... ... ... 1
aA 5109486  TUBEMEV. L4130} ... .. ... .. . ... .. 1 1
130688  HOSE ASSY. FLEX. (#6X17 1/47)
(2B525) ot r e 1
5137321 MOSE ASSY. FLEX. (#6X38 1/8%) ........... 1
5136632  HOSE S5/16°X25 3/4° L. ... .o .. 1
442323 CONNECTOR, 3/8° $NV. FL. TUBE
(1284601 . 1 1]t 2
118750 CONNECTOR, 3/8" iNV. Fi.. TUBE
(3129480 ..ot 1
183004 ELBOW, 3/8° INV. FL. TUBE 90 DEG.
(1284B0) ..ot 2121271111 212 z2]2
118755 ELBOW, 3/8" TUBE 90 DEG. (12.8380) ... .... 1
5121182 PLUG, 174" PIPE{2.4015) .. ... . ... ... ..., ' 2
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.B550.
2.5120 - CLIP, FUEL PUMP TO FILTER TUBE
aa BI69119 CUP /B TUBE ... ... v, 2
AA 8177623  CUP, 3/8° TUBE .......... ... 1
4A 2488022 CLIP, 3/8" HOSE VINYL (12.8584) .. . ... . ... ]
4A 5160388  CLIP, 3/8" TUBE{2.5070% .................. 1
4h 5138090  CUP, 3/8" TUBE (25220} .. ................ 2
4A 5133108  CLIP, 3/B° TUBE{25%120) . ... ... ........... 1
44 5153473  CLIP, 1/2° TUBE{4B040) ... ....... ... ... 3
5112241 CLAMP {25070} ... .. ... ..coveenn o, 8
5196119  SPACER, 13/32°X7/8"{3.400%) ... ....... ... 1
5173022 SUPPORT,DIP(B.8379) ... ..o, 1
110502 BOLT, # 10-24X3/4" (12.9028) .. ... .. ... .. 3
436574 BOLT, $#10-24X17{12.90G1) . .............. 1
179838 BOLT, 3/8".16X7/8" (12.9000) .......... ... 1
186612 BOLY, 3/87-16X1 3/8" (12.9001} .. ... ... .. .. 1 1
181370 BOLT, 3/8"24X1 174" {12.8001} . ... ... . ... 1
120391 WASHER, 7/32"X1/2" PLAIN {12.8180} ... .. .. 1
103341 WASHER, 3/8” (12.8%80) ... ... ............ 2 111
120217 LOCKWASHER, # 10 MED. (12.8200} ......... alt
103321 LOCKWASHER, 3/8” (12.9200}. .. ........... 119
JULY, 1981 PAGE 76 OF 2.5000A

COPYRIGHT 1881 GENERAL MOTORS CORPORATION




DETROIT DIESEL 5 3 MPC ENGINES
2.5000A FUEL LINES

..................... TYPES ..o
PART TP YT ET 10 P11 i1
CFHG . NUMBER ... ... ..., NAME AND DESCRIPTION ......... ojojojojojo|lojoic]lol1]n
2/2j213laja|7)7i8|9l0]0
2i3j413l0iB6|0jaj6]7]1]|3
25120 - CLIP, FUEL PUMP TO FILTER TUBE
{CONT'D)
110633 NUT, 3£10-24 (128120} .. ................. 3t
117049 NUT, 378724 (128420} ... .. ... . ... 1
25151 - TUBE. FILYER OUTLET
4A 5134070  TUBE(DEV.L 101570 ... ... v, 1
4A 129176  TUBE(DEV.L 1298") ........ 000, 1
5128282 * TUBE {DEV. L. 12.25") {CROSSOVER) ......... 1 1
4A 5129623  TUBE(DEV.L 12687 .................o.... 1
5132698 * TUBE (DEV. L. 5/167X10.12")
(CROSSOVER) . .........oooevrnan... 1
4A 5104094 * TUBE (DEV. L. 20.30") (RH} (28150} .. .. ... .. 1
5125447  ELBOW, 3/8" TUBE SEALASTIC 45 DEG.
129428} .. .. 111
193004 ELBOW, 3/8" iNV. FL. TUBE 90 DEG,
(1294BO) ... . . ... ..., 1 2 2
442323 CONNECTOR, 3/8" INV. FL. TURE
12.8418) ... .. ... 1
5179938  SEAL RING, 3/8° TUBE SEALASTIC
(12.9438) .. ... .. 2
5179937  NUT, 3/8" TUBE SEALASTIC {12.9448) ... .. 2
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
251585 - CLIP, FILTER TO MANIFOLD TUBE
2488022  CUIP, 3/8" (NECPRENE COATED)
[12.8554) ... ... ....... . i 2
179839 BOLY, 3/8"-16X1" (12.9001) .. ....... ...... 2
103341 WASHER, 3/8" (12.8190) . . ... .. ... ... .. 2
1063321 LOCKWASHER, 3/8” (12.8200}. ... .......... 2
25160 - TUBE, FILTER TO CYLINDER HEAD
FLEXIBLE
4B 5199576 % MOSE, BULK #6 (CUT L, 22°) (12.8550). ... ... 1
48 5189575 % HOSE. BULK #6 (CUT L. 287) (12.8550) .. ... .. 1
48 5131668 * MOSE(®.75" Ly .. ..... ... . ... . 1 1
4B 5133802 * HOSE{#6X1050° L) ........ ... ... 1 :
4A 5136331 HOSE (£6X13" L}{2.5050) .. .. ...... ...... 1
4B 5118782  HOSE{1/4"X14°L}.. ..., ... ... .. 1
5186063  HOSE(1/4°X14" L) ... ... .. 0t 1
S143371 * HOSE(#6X32" L) .........0ovro 1
6138050  HOSE ASSY. (#6X8.50" L} .. .. .. ... ... ... 1
5199879  FITTING, #6 HOSE (STRAIGHT) {12.8552) .. .. 2 1
E199588  FITTING, #6 HOSE, 90 DEG. {12.8652) .. ... .. 1
9432264  CONNECTOR, 5/16" INV. FL. TUBE
{12.8460) .. ......... ...\, 1
51279811 ELBOW, 1/4%, 070" RESTRICTED
282900 ... 1
5125884  ELBOW, 3/8", 90 DEG. (2.5150) . .. ... ... .. 1
JULY, 1881 PAGE 77 OF 2.5000A

COPYRIGHT 1981 GENERAL MOTORS CORPORATION



5§3 MPC ENGINES DETROIT DIESEL
2.5000A  FUEL LINES

.................... TYPES ...
PART IR R R R EE R R R R R EE R R R
FIG ... NUMBER ............ NAME AND DESCRIPTION ......... ojojloio|ojojoioloioitin
2[2i2i3{aja|7iri8loiojo
21331413 |0:68:1014]6:7]113
25160 - TUBE, FiLTER TO CYLINDER HEAD
FLEXIBLE {CONT'D}
442323 CONNECTOR, 3/8* INV. FL. TUBE 90
DEG. (12,8460} . .. ... .. ..., 2 1
118750 CONNECTOR, 3/8" INV. L. TUBE
(128480} ... 1
190367 ELBOW, 1/4” STREET 90 DEG. {12.9550) ... .. 1 1
9432245 ELBOW, 5/16" INV, FL. TUBE 90 DEG.
(12,8480} .. .0 s i 1
193004 ELBOW, 3/8” TUBE 80 DEG. {12.9480) ... ... 1
143338 ELBOW, 3/8” TUBE 45 DEG. (12.9480) .. ..... 1 1
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
% BULK HOSE, CUT TO LENGTH SHOWN.
2.5163 - TUBE, FUEL SUPPLY CROSSOVER
B128282 * TUBE (DEV. L 1225 ... ... nrin. 1
48 5125447 ELBOW, 3/8" TUBE SEALASTIC
(12,8425} ... ... 1
5138305 CONNECTOR, 3/8° TURE SEALASTIC
(P2.8825) .0 1
B179938  SEAL RING, 3/8" TUBE SEALASTIC
(1284350 ..o e 2
5179937 NUT, 3/8" TUBE SEALASTIC (12.9445) ... . ... 2
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
2.8180 - CLIP, CYLINDER HWEAD INLET TUBE
B171508  CLIP, B/87 {81581} . ... ...\ e, 1
5931190  CUP, 3/8" TUBE{ZS150) .................. 2
5177623 CLIP, 3/8" TUBE (28120} .. ... .o, 1
179830 BOLT, 3/816X1" {12.800%) ... ......... ... 2
102321 LOCKWASHER, 3/8" (12.9200). ... .......... 2
2.5205 . TUBE, FUEL DRAIN CROSSOVER
B12B283 * TUBE(EV. L. 2582 ...\ i, 111 1 1
5125447 ELBOW, 3/8" TUBE SEALASTIC 45 DEG.
128425} ... 1
£179969 ELBOW, 3/8" TUBE SEALASTIC 90 DEG. _
(F2.8425) ... e 3
5179938 SEAL RING, 3/8” TUBE SEALASTIC
(12,8438} .. .. ... .. . ... 2
5179937 NUT, 3/8” TUBE SEALASTIC {12.9445) . . . : 2
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
JULY, 1881 PAGE 78 OF 2.5000A

COPYRIGHT 1981 GENERAL MOTORS CORPORATION

L T EEEE—



DETROIYT DIESEL % 3 MPE
2.B000A FUEL LINES

ENGINES

.................... TYPES ...
PART IR ER R RN R RN E R R R E R
LFG L UNUMBER L. NAME AND DESCRIPTION ......... vojolojojoinjojoiojolii1]y
2i2]213jalai7]7i8]9lc]o
2i3i4ai3lolsiolalelrit1a
2.5210 . TUBE. FUEL DRAIN
4A B139B19  TUBEDEV.L. 436" ... .. ... ........... 1
4A 5139814  TUBE{DEV. L. B.36'Y ... ... ... ... .. 1
4A 5128016 *» TUBE(DEV. L. 10.12") ... ... oot 1 1
4A 5128283 * TUBE (DEV. L. 25.82°} {CROSSOVER) . ........ 11 1
B133B30  * HOSE (#B5X10.257 L) ... ... ..o, 1
5134531  * HOSE, 5/16"X27" L. 355000 ... ............ 1
5127911 ELBOW, 1/4" RESTRICTED ... ............. 1
5116440  ELBOW, 5/16" RESTRICTED ... ... ... .. R IR AR AR B 1 11
5128927  ELBOW, 5/16" RESTRICTED (2.400%} . ...... .. 1
8432245  ELBOW, 5/18” INV, FL. TUBE 90 DEG.
1229460} ... ... .. 1
5125447  ELBOW, 3/8" TUBE SEALASTIC 45 DEG.
1128425} ... ... 11 2
51799869  ELBOW, 3/8" TUBE SEALASTIC 80 DEG,
(128425} ... . 1§ 1
5179938  SEAL RING, 3/8” TUBE SEALASTIC
(12,9438} ... .. ... ... ., 252 4
51288522  EXTENSION, 3/8” INV. FL_TUBE 2* L. _....... 1
444000 ADAPTOR, 1/4* X 1/4" (070
RESTRICTEDY . ..o ov oo 1
5114551 TAG, CABLE (7.4548) ... ... ........ ... 2
9432264  CONNECTOR. 5/16° INV, FL. TUBE
(128480) ... .. .............. e 1
425250 CONNECTOR, 5/16" PIPE (12.9460) ... ....... 1
442323 CONNECTOR, 3/8" INV. FL. TUBE 80
DEG. (12.8460) ... ... .......... .. ... . 1
5179936  CONNECTOR, 3/8" TUBE SEALASTIC
(12.9448) ... 1
179937  NUT, 3/8" TUBE SEALASTIC (12,9448} ... ... 242 4
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
25215 - HOSE, FUEL DRAIN
4A 5171337  HOSE (387X300"{2.5040) . ............... 1
4A 5143365 * HOSE (#5X60" {25210y ... ....... . ... ... 1
5169856  ELBOW, 5/16” INV. FL. TUBE {1.1100) ... .. ... 1
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12,8550,
2.6220 - CLIP, FUEL DRAIN TUBE
4A 5110070  CLIP, /8" TUBE{28120) .. ... ......... .. .. 1 1
4A 5170860  CLIP, 1/2° TUBE {46040} ... ........... . .. . 1
SA 5183473  CUP, /2" TUBE4.6040) ... ... ... ... . .. .. 1
;
H
JULY, 1081 PAGE 7% OF 2.5000A

COPYRIGHT 1881 GENERAL MOTORS CORPORATION

—



DETROI!IT DIESEL 83 MPC ENGINES
2.85000A  FUEL LINES

............. eeeeen JTYPES Ll
PART IE R AR EREREREBEEERERERER
LHG OOUNUMBER (L NAME AND DESCRIPTION ......... VI010{06]0j0IGi0I0!IO0] T
21212{3 (4. 4;7;7Y:8j]9]0]0
213j4j3|0ojBjOojsj8; 7]t
2.5220 - CLIP, FUEL DRAIN TUBE
(CONT'D}
44 140871 CUP, 1727 CLOSED (12,9830} .............. 2
4A 5171509 CLIP, 5/8" TUBE{9.1891) ......... AR 1
1758385 BOLT, 3/8"-18X5/8" (12.800%) ............. 1
179838 BOLT, 3/8°18X7/8" (18001 . ............ t
1796838 BOLT, 3/8°-16X1" {12.8001) ... .. e 1
103341 WASHER, 3/8" {12.9190) . ...... S hr e 1
103321 LOCKWASHER, 3/8” {129200} .. ............ 1 1
1026385 NUT, /8°18 12.8120) ......... ...t 1
2.8230 - BRACKET, FUEL DRAIN TuBg
5173188 BRACKET {91831}, . ...... ... .. .covuennn, t
§51604256 SPACER, 13/32°X23/32" (23287 .......... 1
2409031 BOLY, 3/8"-16X2* (128001} ............... 1
25280 . VALVE, FUEL SYSTEM SHUT-OFF
5138989 * VALVE ASSY. {6 PORT.- 3 WAY} {2 8030} ...... 1
5121182 PLUG, 1/74" PIPE (2.4018) . 2
5146014 PLUG, 174" MIPE (T2, 9580} ................. 2
186120 BOLT, 3/8"-18X374° (128001} ............. 2
103321 LOCKWASHER, 3787 {2.8200}.......... . 2
* OBSOLETE
JAN,, 1980 PAGE 8C OF 2.5000A

COPFYHIGHT 1380 GENERAL MOTORS CORPORATION

[ T S —




DETROIT DIESEL

LHG L.

4A
4A
4A
4A
4A

PART
NUMBER

2.5000A FUEL LINES AND FUEL COOLER

26004 . FITTING, AUXILLARY PUMP AND TANK

178661
442348
190387
183004

188060
1054086
AAZ323
8432264

137329

TEE, 3/8° TUBE (12.9498) ... ....vvveenns
TEE, 3/8" TUBE (12.9490) .................
ELBOW, 1/4* PIPE 90 DEG. {12.9580) . .......
ELBOW, 3/8 INV. Fi. TUBE 90 DEG.

3294807 ..ot
BUSHING, 3/4"X1/4° (128570} ... .........
NIPPLE, 1/4"X7/8” PIPE {12.9860) . ..........
CONNECTOR, 3/8” INV. FL.. TUBE

(1296801 ...\t iaas s
CONNECTOR, 5/18” INV, FL, TUBE

(12.84B0) ..\ e it iiiieiirirasanernenes
NUT, 3/8" TUBE (12.9460) .................

2.5006 - VALVE, FUEL SUPPLY CHECK

5174824

VALVE, CHECK (174" INLET} .. ........... ...

2.5010 - HOSE, FUEL SUPPLY TQ STRAINER

190367

ELBOW, 1/47 STREET 80 DEG. {12.8580)

25080 . TUBE, STRAINER TO FUEL PUMP

5131829
5133918
5136746
5178513
5121149
442323

431638

29432249
143338

183004
5146438

444042
5146439

5138299
5176524

FHOSE{EEXIZ L ot e it
HOSE {#50X 14" L} {2.5148)

* TUBE ASSY. (DEV. L. 11.84%}
TUBE ASSY. (DEV. L. 38.327)
TUBE ASSY. (DEV. L. 38.76" ... ... _.....
CONNECTOR, 3/8” INV. FL. TUBE

(12.8460) . ...,
CONNECTOR, 1/2° INV. FL. TUBE

P1Z2.8860F ..o e e
ELBOW, 3/8" INV. FL. TUBE {12.9480)
ELBOW, 3/87 INV. FL. TUBE 45 DEG.

(12.94B0) .. ...
ELBOW, 3/87 INV. FL. TUBE 90 DEG,

(3298807 ettt
ELBOW, 3/8 INV. FL. TUBE 80 DEG.

(12.8480) ...t
ELBOW, 2/8° STREET 90 DEG. (12.9580)
ELBOW, 3/8” INV. FL. TUBE X 1/4" NPT

(12.848B0) .. ...\t
ELBOW, 1/2° TUBE SEALASTIC

(12.8425) . ... ..
SEAL RING, 1/2° TUBE SEALASTIC

(T2.8438) ..

JULY, 1882 FAGE

81 OF

2.5000A

COPYRIGHMT 1882 GENERAL MOTORS CORPORATION

[ RS A

e




B3 MPC ENUGINES PETROGIT DIESEL
2.5000A  FUEL LINES AND FUEL COOLER

..................... TYPES .o
PART I RE R R R R R E R RN
CFHG . NUMBER .. ... ... ..., NAME AND DESCRIPTION . ........ 1i1i1fsf1ivdri2]lziziz2
oj1j1i3iei9lsjoj3]|9]9
sle6lajolelel7|ejalo|s
2.5050 . TUBE, STRAINER TO FUEL PUMP
(CONT'D}
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8650.
# NOT SERVICED, USE 51998575 HOSE
AND {2} 5199579 FITTINGS.
2.5070 - CLIP, STRAINER TO FUEL PUMP
4A 177623  CLIP, 3/8" TUBE (25120) ... ... .0 eneo... 1 2
112241  CUP, 3/B*TUBE ... ... ... .. .00 veeenii.. 4
110502 SCREW, #10-24X3/4" (12,8025} .. .......... 2
120217 LOCKWASHER, #10 CAD. {12.8200} ......... 2
110633 NUT, #10-28 (12.9120) ... .o, 2
2.5100 . TUBE, FUEL PUMP TO FILTER
4A 5136642  TUBEMEV.L 2566 ... ... ... .oeornr.... 1
4A 5134887  TUBE{DEV. L. 36.22") ..o, 1 1
4A 5109488  TUBEDEV.L 4182 ... ... 0o, | 1
4A 5143608 * TUBE ASSY. (DEV. L. 17.68%) .. ............. 1
&A 5146336 * TUBE ASSY. (DEV. L 34.90% ........... ... 1
130891  HOSE, B/16°X21" L oo, i1
B137482  HOSE {#£6X8.50" ... o 1 _
442323 CONNECTOR, 3/8” INV. FL. TUBE
(12.8480) ... ... ... ., 111 2 1 11
6138305  CONNECTOR, 3/8" TUBE SEALASTIC
(12.8415) . .0ttt 1
5179938  SEAL RING, 3/8" TUBE SEALASTIC
(120488 . 1
444148 TEE, 1/4” PIPE (128480} .. ... . ........... 1 1
193004 ELBOW, 3/8" INV. FL. TUBE 80 DEG,
($2.8480) ... th1]e 1{2]1i1
5121182  PLUG, 1/4” PIPE (2.4018) .. .. ... ... .. ... 1 1
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
2.8120 - CLIP, FUEL PUMP TO FILTER HOSE
4A 8177623  CUP. 3/B" TUBE (251200 .. ... . ........... 1 1 1
4A 2488022  CLI®, 3/8" TUBE {NEOPRENE COATED) .. ... ... 1
5112241  CLAMP 25070} ......................."~
B175705  SPACER, 13/32°X7/8"X1" THICK ... ... .. 1
110502 BOLT, #10-24X3/4” (12.9025) ... .......... 3
179847 BOLT, 3/B"-16X27 {12.900%) .. ... ... .. ... 1
1813560 BOLT, 3/87-24X3/4" {12.800%) ... ...... ... 1
120217 LOCKWASHER, # 10 MED, {12.8200) ... ... ... 3
JULY, 1882 PAGE 82 OF 2.5000A

COPYRIGHT 1882 GENERAL MOTORS CORPORATION



BETRO!Y DIESEL 53 MPC ENGINES
2.8000A  FUEL LINES

..................... TYPES o
PART TIE1IY YR R PTERpIEYT Y
LFIG .. NUMBER ... ....... NAME AND DESCRIPTION ... ...... tit{tiviviriviz2iziz2i2
olt|t|3l6isigioisz]|ole
sl6|loloisisi7ioialols
2.5120 . CLIP, FUEL PUMP TO FILTER TUBE
{CONT'D}
103321 LOCKWASHER, 3/8" {12.8200).............. 1
110633 NUT, #10-24 {12.8120) ... ... ...coun... 3
117049 NUT, 3/87-24 {12.99120) ... ... RO 1
25151 . TUBE., FILTER OUTLET
4A 5120623  TUBEIDEV. L. 12.88%) ... ... .. .. iviee. ., 1 1 1
4A 8143610 % TUBE ASSY. {DEV. L. 12.03")(2.5148) .. ... ... 1
143338 ELBOW, 3/8" INV. FL. TUBE 45 DEG.
(12.8480) .. .o 3
183004 ELBOW, 3/8" INV, FL. TUBE 80 DEG.
(12.84B0F ... 1 1 1
5179969  ELBOW, 3/8° SEALASTIC {12.9428) ... .. ..... 1
442323 CONNECTOR, 3/8° INV, FL. TUBE
(32.8418) .. 1 1 1 1
% NOT SERVICED. FOR SERVICE
FABRICATE A 12.0° |, OF 5188578
BULK HOSE, INCLUDE 1-5188879
FITTING AND $D-29.
25160 - TUBE, FILTER TO CYLINDER HEAD
FLEXIBLE
5123174  TUBE(DEV. L. 95B87{25100)............... 1
5137493  MOSE (#6X10.50" L){(25148) ... ... ... .. 1
5132278  MHOSE (#6X24 3/8" L) ... ... .. ... ... 1
5199575 HOSE, BULK #86X25' (CUT L. 137}
: (12.8550) ... ... ... 1
5199579 FITTING, #6 HOSE (5/8°-18 MALE INV.
FLISTRAIGHT) ... ... e 1
5199688 FITTING, #6 HOSE {5/87.18 MALE INV.
FLIGODEG) ...ttt 1
442323 CONNECTOR, 3/8" INV, EL. TUBE 80
DEG.(12.8460) . ... ................... 1
143338 ELBOW, 3/8" TUBE 45 DEG. {12.9480) .. .. ... i
193004 ELBOW, 3/8" TUBE 90 DEG. (12.9480} ... .. .. 1 1 2
25163 - TUBE, FUEL SUPPLY CORSSOVER
5128282 *TUBE(EV. L. 1225 ... .. .. ..., . ....... 1
BYI44520 ¥ HOSE{#6XIB L. . ...o0oovnn 1
193004 ELBOW, 3/8° INV. FL. TUBE 90 DEG.
(128480} ... 1
5125447 ELBOW, 3/8° TUBE SEALASTIC
(12.8425) ... ..., 1
£179938 SEAL RING, 3/8" TUBE SEALASTIC
{12.9435) ... .. ... 2
5179837  NUT, 3/8" TUBE SEALASTIC (12.8448) .. . 2
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN N
12.8550.
JULY, 1881 PAGE 83 OF 250004

COPYRIGHT 1981 GENERAL MOTORS CORPORATION



§3 MPC ENGINES DETROIT DIESEL
2.5000A  FUEL LINES

......... N . - TS
PART ISR EREE IR ERERERERIBRER
LG ONUMBER L L. NAMEAND DESCRIFTION . ........ Y1 ¥ 1j1jslti1i2121212
011}]1{3168192]9106(3;9.:9
8i16(9]0]9]/8]719{4:0|8
2.5180 . CLIP, CYLINDER HEAD INLET TUBE
5153473 CLIF, 1/2" TUBE (4.8040) . ........ b eaaaas 1 2
516685686 BRACKET {(8.1591) . ....... Cersrraraaa e 1 '
5178596 BRACKET ... ...t it Chea 1
179836 BOLT, 3/8°.18X86/8" {12.83000) ... ......... 1
108284 BOLY, 3/8"-24X5/8" (12.8001) ............. 1
103321 LOCKWASHER, 3/8" (12.8200), .. ........... 1 3
102636 NUT, 3/8™16 (12.8120) ............ e t
117049 NUT, 3/8°-24 {12.8120) ......... 1
2.5206 - TUBE, FUEL DRAIN CROSSOVER
5144339 * HOSE {#EX8" L) ..., ... e araaaaae s 1
444134 TEE, PIPE 1/4" {12, 9490} .............. N f
51298456 CONNECTOR, 5/167 INV. FL. TUBE
BB210) ... e 1
84322484 CONNECTOR, 8/18° TUBE. 1/4°-18
{12.8480) .. ... ..., Ceas 2
* OBSOLETE: CUSTOMER TO FABRICATE |
FROM BUILK MATERIAL SHOWN IN
12.8580.
2.5210 - TUBE, FUEL DRAIN
5127911 ELBOW, 1/4°, Q70" RESTRICTED . ....... NS R 1 1
5118440 ELBOW, 5718, 070" RESTRICTED . ... ..., .. 1 1 1
23212 - COOLER ASSY. FUEL
5138348 COOLER ... ... it iiiaanan, 1
2.5215 - MOSE, FUEL DRAIN
4A 5138299 *HOSE(31'X227) ... ... i E
44 51860483 HOSE (174" tDX14° Ly .. .. .. .o vvun.., 1
5141170 * HOSEGAIG"X22T I/8" .. . .. i 1
9432248 ELBOW, 5/16" INV. Fi. TUBE 90 DEG.
(1294800 .......... ... .. 1
425280 CONNECTOR, 5/16 TUBE, 1/4~
2.948Q) ... .. ... ... ... .. . ... b
F
JAN., 1980 PAGE 84 OF 2.5000A

COPYRIGHY 1380 GENERAL MOTORS CORFORATION




DETROIT DIESEL 83 MPC ENGINES
2.6000A  FUEL LINES
..................... TYPES .
PART 1111311111 Tt 11
FIG NUMBER ............ NAME AND DESCRIPTION ......... Ttiv Y111 {1r]j21212;:2
0. 1i1j3|8/9]9|0 399
gisjplo[oj8|7|9:4 08
26215 - TUBE. FUEL DRAIN FLEXIBLE
{CONT'DY
118762 CONNECTOR, /2" TUBE, 3/8* PIPE ... ...... 1
111624 COUPLING, 3/8°X1/4° RED. {12.8580) ... ... ... t
» DBSOLETE CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8850.
25220 . CLIP, FUEL DRAIN TUBE
44 516800 CLIP 1/2" TUBE{124088)............ .. ..., 1
AA B171609 CulP, S/8" TUBE (15881} .. ... .. ... hiih vt %
2.5230 - BRACKET, FUEL DRAIN TUBE
B14BBY2 BRACKET, CLIP .. ... i 1
MAY, 1878 PAGE BE OF 2.5000A

COPYRIGHT 1978 GENERAL MOTORS CORPORATION



 F

48
48
48
48
a8
4B
4B

48

48
4B
48
48
4B

48
48
48
48

48
a8

44
44
LY

G ... NUMBER

DETROG T

PART

DIESEL
2.5000A FUEL LINES

2.5050 - TUBE, STRAINER TO FUfL PUMP

5147580
5147878
5198576
5198578
513958¢
519958%
A315348

137428

HOSE (#8X33.5" L) (44335} . ... ... .....
HOSE (#8X18" L) (28010} .. ... .. .......
% MOSE. BULK #8 {CUT L. 147 (12,8550} ... .. ..
% MOSE. BULK #8 {CUT L. 2171 (12.8550). ... ...
FITTING, #8 HOSE (STRAIGHTY12.8552) . ... .,
FITTING, #8 HOSE {30 DEG) (12.8552) .. ... ..
CONNECTOR, 3/8° INV. Fi,. TUBE
(T2.8460) .. ot
ELBOW, 1/2" INV, FL. TUBE 30 DEG,
(129480 ...
% BULK HOSE, SUT TO LENGTH SHOWN.

25070 - CLIP, STRAINER TO FUEL PUMP TUBE

2476234
$176400
5196115

179837
1892883
103321
102635

CUP, #8 TEFLON . L Lo
BRACKET{4 8010} . .. ... ... . ... ..... ...
SPACER, 13/32°1.0. X 778" Q.0.

134001
BOLT. 3-8716X3747 129000 ... ... ...,
BOLT, 3/87-16X5 1747 (129001 .. .. ... ... ..
LOCKWASHER, 378" ¢129208). . . ... .......,
NUT, 3/8°-186412.81200 ... ... . ... ..

28110 - TUBE, FUEL PUMP 10 FILTER PLEXIBLE

5147572
5147573
5137519
5199575
5189575

199574
5199575
5198678
51998579

51998583
133004
5121182
137520

190367
105417

2.8120

2476234
2488022
51475945

HOSE #6X 11" L2548 ... ... ... ...

HOSE, o+6 X 12837 L. 1250100 ... ......... ..

HOSE. 5/16"X35 §/16" L. {3.5660) ... .... ...

% MOSE, BULK 26 (CUT L 10"} 12,8880y .. ...
% HOSE BULK #8{CUT L 10 1720

{128850) ..

% MOSBE, BULK 26 {CUT L. 1271 (12.8550). . ... .

% HOSE BLAK #8{CUT L. 1671 (12.8550) ... . .

%% MOSE, BULK 26 {CUT L 457} [12.8550}

FITTING, 6 HOSE (5/8°.18 MALE iNV.

FL. STRAIGHTI (128552 ... .. ..., .. .. ..
FITTING, 6 HOSE 15/8".18 MALE iNV.

Fi.1{48 DEG}(12.8552) ...... .. .. .......
ELBOW, 3/8" INV. FL. TUBE 30 DEG.

(12284807 ... ... .
PLUG, 1/74° PIPE(2.4C18) ... ... . ...... ...
NIFPLE, 1/4°X3 1747 L (1298601 .. .. .. .....
ELBOW, 1/4° STREET 90 DEG. {12.9580
TEE, 1/4"X1/4"X1/4" PIPE (12 8616 . .. ..
% BULK HOSE, CUT TO LENGTH SHOWN.

- CLUP, FUEL PUMP TO FILTER TUBE
CLIP, #6 TEFLON {25070y . ... ... ... ...,

CLIP, 378" NEQPRENE {12 8884y . .. .. ... .
CLIP, 526 HOSE (LONG SHANK) (12.8884) ... ..

AUG, 1880 PAGE

PSSR

BE OF 250004

COPYRIGHT 1980 GENERAL MOTORS CORPORATION

ENGINES

MFC
TYPES
Y1111
31313
21313
2101
i
)
2 2
!
2 1
1] ¢
}
z2{2]2
212112




CETROIT DiE$EL § 3 MPC ENGINES
2.5000A FUEL LINES

.................... TYPES .
PART IER IR IR IR R PR RN ER
CBIG . NUMBER ... ..., ..., NAME AND DESCRIPTION ......... 3i{i3]a{ali3{sias|l3iszi3l3]|3
t1ivi2l21212121313{313;3
45165679011 2:3]4
2.5120 . CLIP, FUEL PUMP TO FILTER TUBE .
{CONTD)
8176400 BRACKET{4.BOYODY . . ... ..., i 111
1798385 BOLY, 3/8716X5/8" 1129061} ............. 131
181360 BOLT, 3/8°.24X3/4" (129001 . ... ... ..... 3]
103321 LOCKWASHER, 3/8" (12.9200} ... .......... AR] AR
117049 NUT, 3/8°-24 (12.91201 ... ... oiiien... 111
2.5156 . CLIP, FUEL FILTER OUTLET TUBE
§147589  CLIP, #6 HOSE LONG SHANK) {12.8554) ... .. 1 ' EEEEEEEERE:
2488022  CLIP, 3/8" TUBE INEOPRENE COATED)
(128888} .. .. el 1 1
5196119 SPACER, 13/32°X7/8"%1/8" (3.4001} . .. ... .. 1 1
187491 BOLT, 3/8°-18X5 1/27 (12.800%) .. ..... ... .. 5 1
2.5160 . TUBE, FILTER TO CYLINDER HEAD
FLEXIBLE
48 5147575 HOSE, #6X285° Lot oo 1
48 B14T876  HOSE #8X31° L ... ... .. 3
a5 5199575 * HOSE, BULK #86 {CUT L2171 {12.8550) . ... .. 1 1
48 5199575 * HOSE, BULK #6 {CUT L. 24%) (12.855(08 . . ... .. 1l
T 5199575 * HOSE, BULK 26 (CUT L 2671 {12.8550). . ... .. 1
48 5199575 = HOSE BULK #86 (CUT L. 34°1{12.8550) . .. ... 1 3
4B 5199579  FITTING, #6 HOSE (STRAIGHT12.8552) . ..., 111 RN
g 5199588  FITTING, #6 HOSE {80 DEG)12.8552) .. ... .. H 'R EREREEEREE
3 5199592  HITTING, #6 HOSE (45 DEG)(12.8552) . ... ... 1
5104778  TEE 1/4°X1/4"X5/8" (7.4694) ... .. .... . .. 1i SR EEEERER
442323 CONNECTOR, 3/8° TUBE (12.9460) .. ........ _ 1 1
4B 193004 ELROW, 3/8” INV. FL. TUBE $0 DEG.
(I29480F .. 1111 11
4B 143338 £LBOW, 3/8" TUBE 45 DEG. (12.9480F ... . ... 141 1
* BULK HOSE, CUT TO LENGTH SHOWN.
2.5163 - TUBE, FUEL SUPPLY CROSSOVER
48 BY4ATBI0 HOSE HEXZOT L ... ... 11
an 5199578 . HOSE, BULK %6 1CUT L. 7 1/27)

(T2BB50) ... v EREEEEEEREEEREERE]
an 5199579 FITTING, #6 HOSE (STRAIGHT(12.85582) . . ... BEEREEEEREEERERER
4B 5199588  FITTING, #6 HOSE {30 DEG) (12.8552) . ... ..., titivlttrisl 11

2011306 ELBOW, 1/4°.45 DEG. STREET {12.9580) . . .. .. s
5104778  TEE 3/87 INV. FL. TUBE17.4694) ... ........ 111
an 442323 CONNECTOR, 3/8° TUBE (12.9460) .......... 111 11181 11
143338 ELBOW, 3/8" INV. FL. TUBE 45 DEG.
(12.8480) ... ... . ... ... 111
193004 ELBOW, 3/8" INV. FL. TUBE 9¢ DEG.
(129480} . vt 1] 1 thel 1ty bs)sls] ]
MARCH, 1880 PAGE 87 OF 2.5000A

COPYRIGHT 1980 GENERAL MOTORS CORPORATION




5 3 MPCL ENGINES DETROIT DI1ESE.L
2.85000A FUEL LINES

..................... TYPES .o
PART A N PR IR R R EE AR R R NN
CFIG . NUMBER ... ... NAME AND DESCRIPTION .. ....... 3/3|3({3/3/3i3{3{3{3]3!|3
: 1i1}2]{2:212]2]3{3|3|33
4(sivislej7?7igfofj1i2/3]|4
25163 - TUBE, FUEL SUPPLY CROSSOVER
{CONT'D)
444000 ADAPTOR, 1/4" PIPE {12.8640) ... .......... SRR EERERERERERE
- BULK HOSE, CUT TO LENGTH SHOWN.
25205 . TUBE, FUEL DRAIN CROSSOVER
5139082 HOSE (#5X8 374" L){2.5218) ... ........... i
5145853 HOSE (£6X25" LIE.55000 ... oo, 111
a8 5199875 % HOSE, BULK 6 (CUT L. 268"

{CROSSOVEH) {12.85500 . ... ......oun.nn IR AR AETE BT AN LI IR O
4B 5199579 FITTING, #6 HOSE (STRAIGHTY12.8552) . .. .. EEEEEEEEEREEREERR
as 5199588 FITTING, #6 HOSE (80 DEG) (12.85852) . ... ... BN EREEEEEEERERE
48 5124232  TEE B5/16° X 1/4" TUBE{2.5208) ........... 1
48 9432264  CONNECTOR, 5/16" INV. FL, TUBE

(28460} ... 1

143338 ELBOW, 3/8" INV. FL, TUBE 45 DEG.
(12.84B0) . oot il tdlrbsbsbrbvbrbr]s
193004 ELBOW, 3/8* INV. FL. TUBE 90 DEG.
(29480} .. . 111 tSE RSN AT AT ST BXTE SETE BT IR
190367 ELBOW. 1/4" STREET, $0 DEG.
PP2.8880} ... 1
% BULK HOSE, CUT TO LENGTH SHOWN,
25215 - HOSE, FUEL DRAIN
5147577 HOSE, #6 X 33.5" L 282100 ... ...... ... 1]
: 5199391 HOSE, #68 X BA.58" L. .00, 3
a8 51995875 .+ HOSE BULK #6 {CUT L. 9 (12.8580) . . ... ... 1
48 5199575 .+ HOSE, BULK #£6CUT L. 157 {12.85501. .. .. .. 14 141 111711
ag 5188578  + HOSE, BULK #6 (CUT L. 31" {12.8850}. . ... .. 1
4B 5199579 FITTING, #6 HOSE {STRAIGHT{12.8552) . ... .. FEEEEEEREREREERERE
48 5199583 FITTING, #6 HOSE (STRAIGHTH12.8552) ... ., 1
5199592 FITTING, #6 HOSE (S0 DEG){12.8552) .., .. .. 111 EREEREERERE
5116440 ELBOW, 5/16".070" RESTRICTED
(25210 o 1] 1 IEEEEEEEEEEREERE
5128522 EXTENSION. 3/8% INV. FL. TUBE, 2° L.
(ZB210) ..o 1l SEEEERERERE'
442323 CONNEGTOR, 3/8° INV. FL. TUBE, 30
DEG, {12.8460) ... . ... ..........o.... 1] (IR RS BE T AT BTN A TR SR A
+ BULK HOSE, CUT TO LENGTH SHOWN.
2.5220 . CLIP, FUEL DRAIN TUBE
2488022  CLIR, 3/8° (COATED} {12.6554). ... ... . ... .. 3f1laiaiaiziszlziza
2476234 CLIP, #6 TEFLON (12,8070} ... ........... .. 212 2
5130913 BRACKET, CLIP (7.4597) ... ... ... .. ... " ST EETN RE TR NRTE BTN B O N0 A
5127881 BRACKET (T ASB7) .. ... o 2 2
5157412 SPACER, 1/47(2.8013) .. ... ... ... ... 21zla2lzlz2]2]2]2)2
179822 BOLT. 5/16°18X1 1/27 {18001} . . .. .. .. .. 111
MARCH, 1880 PAGE 88 OF 2.5000A

COPYRIGHT 1880 GENERAL MOTORS CORPORATION

L



$§3 MPC ENGINES DETROIYT DIESEL
2.8000A  FUFEL LINES

........ T T 5 4 o~
PARYT IER I EREREREREREREEERED
LG O NUMBER L. L. NAME AND DESCRIFTION ......... 3/1313{3{3/313i3131313{3
11 2{e|212({2}1313;1313;3
4 611({8!@l71910|112]3]|4a
2.5220 - CLIP, FUEL DRAIN TUBE
{CONT'D)
179835 BOLY, 3/8°-18X5/8* {12.8001) ............. 1
179839 BOLY, 3/87-16X1° {12,900 ............... 2{12{1312§2:313111
427588 BOLT, 3/8%16X2 1/2° {12.300%) ............ 1
179880 BOLT, 3/8"-16X2 3/4° (129001} ............ 2212121272121 ¢}2
H121486 BOLT, 3/8°-24X3 7/8” (12,9001} . ... ........ 181
103341 WASHER, 3/8" (12,8190} .. ... ............ 1 1
103321 LOCKWASHER, 3/8" (129200}, ............ AR|ARI AR{ AR} AR AR AR| AR AR AR
10268386 NUT, 3/B"1B8 (128120} .........iivvnnee. AT AREREEEEREENR.
25285 . SHIELDING, FLEXIBLE HOSE
5101020 STRAPHOSE .. .. ... .. . AR AR ARIAR| AR} AR ARI AR AR AR| AR
JAN., 1880 PAGE  BS OF 2.5000A

COPYRIGHT 1980 GENERAL MOTORS CORPORATION



DETRO1TY

PART

. FIG ... NUMBER . .|

48
48
4B
4B
4B

4B
48

DIESEL
2.5000A FUEL LINES

2.50850 - TUBE, STRAINER TO FUEL PUMP

5131311

* HOSE, FLEX {29 8/167 L) .. ... ... ... ... .

B19987€ % HOSE BULK #B8{CUT L 1174128850y, ... ...
B199576 % HOSE BULK #84{CUT L 147 {12.855Q; . ..... .

5199580
431538

1830604
137428

25110
5142003

FITTING, 28 HOSE (STRAIGHTI(12.8552) .. .. ..
CONNECTOR, 3/8" INV. Fl, TURE

(28460} .
ELBOW, 1/4" INV. FL. TUBE 30 DEG.

(1288808 . ..o
ELEBOW, 172" INV. FL. TUBE 90 DEG.

(I2.8480Y . .
* OBSOLETE, CUSTOMER TO FABRICATE

FROM BULK MATERIAL SHOWN N

12.8580.
% BULX HOSE, CUT TO LENGTH SHOWN.

- TUBE, FUEL PUMP TO FILTER FLEXIBLE
HOSE (#6X17 1/2" L) (284000 .. ... ... ... ..

BI99EYS  # HOSE, BULK 6 ({CUT L 7 1/29)

{12.8880) . ... .o

5198875 # HOSE BULK #8{CUTL. 6741288501, ..., . .
5199578  # HOSE, BULK #6 (CUT L. 10" (128850}, ... ...
S199875 gt HOSE BULK #8 (CUT L 10 1/29

(T28550) . et e

5198875  # HOSE, BULK #E{QUT L. 16" (12,8550}, ... ...

5199578 # HOSE, BULK #8 {CUT 1. 45"} 128880}

5199575 # MOSE BULK #6 {CUT L. 497} {12.8550}. ... . ..

5199579
5199588
442323

153004

FITTING, £#£6 HOSE {STRAIGHTY12.8552) .. .. .
FITTING, #6 HOSE {80 DEG) (12.8552) . ... ...
CONNECTOR, 378" INV. FI. TUSE

(12.9460) ...
ELBOW, 3/4 INV, FL. TUBE 80 DEG.

(1286800 .0
# BULK MOSE, CUT TO LENGTH SHOWN.

25120 - CLIP, FUEL PUMP 10 FILTER TUBE

2488022
5182647
186625
120393
103320
120378

25156 -

53147599
2488022

CLIP, 3/8" NEOPRENE {12.8554)
ADAPTOR, CLIP (5.2190) ... ....... ... ...
BOLT. 5/16".18X3/8" {12.900 1}
WASHER, 8/16* {12.9190) . ... ... ........
LOCKWASHMER, 5/16” {12.5200
NUT, /1618 (12.9120)

CLIP, FUEL FILTER QUTLET TUBE

CLIP, #6 HOSE (LONG SHANK] {12.8564)
CLiP, 3/8" TUBE {NEOPRENE COATED}
128884y L

MARCH, 1880 PAGE

8¢ OF

5 3
ti1: 181
3j3jai3
44144
1Ti2:13:4

1
1 1
2 252

1]l
2 111

1
1 1

i

H
2|2 2

1

¥
212y 112

2
2
2
2
2
2

H
2i14 2|1
2.5000A

COPYRIGHT 1380 GENERAL MOTORS CORPORATION

M P L
TYPES
111: 1
3/3:3
4144
5186817
H
2
1
1
t

1
1 2
1
2

2

ENGINES




DETROIY DIESE.L 5 3 MPC ENGINES
2.5000A  FUEL LINES AND FUEL COOLER

.................... 18 753 S
PART EREE R EERERREERERE R
CFIG .. NUMBER ... ... ... NAME AND DESCRIPTION ......... 3i{3i3]3isjaialajalals
3. 3/4 4lalalajaiaisle
slalt]2]slalsiel7l7]a
25166 . CLIP, FILTER OUTLET TUBE (CONTD}
B171508  CLIP, 5/8° TUBE(S. 1681} ... ... 0. overn., 1
5182647  ADAPTOR CLIP 52100} . ... ... ........ 2 211
186625 BOLY, 6/16°-18X7/8" (12.800%) ............ 2 2
186629 BOLT, 5/167-18X1" (12.9001) .............. 1
179635 BOLT, 3/8"-18XE/8" (12.9001) ... ........ 1 1{1
120393 WASMER, 5/16° {12.8190) .. ............... 2 211
103341 WASHER, 3/8" {12.8190) . .....00vurnerenns 1 111
103320 LOCKWASHER, 5/16” {12.9200) 2 291
103321 LOCKWASHER, 3/8" {12.8200) ... ........... 1 111
120376 NUT, B/16%18 (12.8920) ... .. ..oovvrnnns. 2 2191
2.5160 - HOSE, FILTER TO CYLINDER HEAD
4B B137130  HOSE #BX32° L ..., 1
a8 5131517 HOSE, 5/167X18 9/16" L. (25100) .......... i
48 5199875 .+ HOSE, BULK #6 {CUT L. 7 1/2
(TZBBBOT ..o\ttt 1
4B 5199575 4 HOSE, BULK #6 (CUT L 197) (12.8550) .. ... .. 1
4B 5199875 4 NOSE, BULK #6 {CUT L. 20" {12.8550) . . ... .. 1
4B 199575 + HOSE, BULK #6 {CUT L. 217) (12.8550) .. ... ., 1
48 199576 .+ HOSE, BULK #86 {CUT L 287 {12.8550}. .. .. .. 1
48 5199575 .+ HOSE, BULK #6 {CUT L. 30" {(12.8550). .. .. .. 1
4B 5199575 .+ HOSE.BULK #6 {CUT L 317 {12.8550).. ... .. '
4B 5199578 4+ HOSE, BULK #86 (CUT L 33"} (12.8550)....... 1
4B 5199579  FTTING, #6 HOSE (STRAIGHTY12.8552) . ... .. IR AT AT A A 1
48 5499588  FITYING, #6 HOSE (20 DEG) {12.8652) ... .. .. 1 1 1
48 5199593  FITTING, #6 HOSE (45 DEG){12.8582) ... ... KN IR
5104778  TEE 1/74"X1/47X5/8" {7.46845 ... ... ... ... 114 141 1
442323 CONNECTOR, 3/8* TUBE SEALASHC
P12.8595) . 1
aB 183004 ELBOW, 3/8” INV. FL. TUBE 80 DEG,
(12,9480} .. .. .ot LRAETE I 113
48 143338 ELBOW, 3/8" TUBE 45 DEG. (12.9480) ....... 1 1 1
178690 TEE, 3/8" INV, FL. TUBE (12.9490) ... ..... ... 1
444000 ADAPTOR, 1/47.18 PIPE (12.9640} ........... 1
+ BULK HOSE, CUT TO LENGTH SHOWN.
251642 . TUBE, FUEL SUPPLY CROSSOVER
5135034  TUBE FUEL CROSSOVER ... ............... i
48 £199575  * HOSE, BULK #6 (CUT L 7 1/27) :
(I28550) ..ttt it e 11111} 1 1
48 199575  * HOSE, BULK #6 {CUT L. 127 (12.8650}). .. .. .. 1
a8 5199875 * HOSE, BULK #6 {CUT L 16 1/27}
CT2ZBEBO) .. e e 1
4B B199679  FITTING, #6 HOSE (STRAIGRTY12.8552) .. .. .. AR RBERERE 1 2
JULY, 1982 PAGE 91 OF 2.5000A

COPYRIGHY 1982 GENERAL MOTORS CORPORATION



